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$45,10,15 H16,05,14
B |&EW 50299 [ 2204 | 2193 | 2184 | H22 | 178443 | 626 | 228742 | 39240 | 1837 [(EEEBE&R EERETR
% 10118 % 5805
REN $45,10,15 H13,04,10
(IBfRE-RE- 2 7833 | 256 259 280 | H17 | 64387 | 256 7,222.0 3480 | 162 [EBRETR wBERET
HT) % 10115 % 3875
S45,10,15 H13,04,10
SATET 249.7 6.7 6.6 86 | HI2 | 21503 6.6 2,400.0 0.0 00 [EBRETR wBERET
% 10118 % 3875
S45,10,15 H08,05,31
= R AT 143.6 46 46 6.1 | H12 | 24564 6.1 2,600.0 0.0 00 |fEBRER EERASE
% 10118 % 5128
it 6,206.5 | 257.3 | 256.4 | 261.1 28,889.7 | 100.9 | 350962 | 42720 | 199.9
S45,10,15 H15,06,06
B | BT 6,885.2 | 264.1 | 2655| 2998 | H17 | 20,1383 | 478 | 270235 | 44540 | 2309 [{EEB&R EERETR
% 10128 % 6245
S45,10,15 H13,04,10
BT 1,506.6 | 39.7| 405 486 | H17 | 62934 | 180 78000 7210 | 304 [{EBE&TR EERASE
% 10128 % 3865
S45,10,15 H13,04,10
BT 355.6 8.9 9.1 92| H12 | 19444 38| 23000 0.0 00 |[fEBB LR EEBLETR
% 10128 % 3865
it 87474 | 3127 | 3151 | 357.6 28,376.1 69.6 | 37,1235 | 51750 | 261.3
S45,10,15 H16,05,14
LWhE (LvbhEm 100479 | 2843 | 2696 | 2779 | H22 | 27569.2 | 528 | 37617.1| 45480 | 1717 [BEBRLR EEBLETR
% 10148 % 5835
S45,10,15 H16,05,14
SFE|REERH 25709 | 1081 | 1047 | 1150 [ H17 | 15105.1 216 | 17,6760 | 16640 | 892 |[EEERER BEERER
% 10138 % 58285
P S45,10,15 H13,04,10
= 106.5 44 42 44| H12 | 1,2935 2.0 1,400.0 0.0 00 |[fEBB LR £ AT R
(1B 2 ABET) 5 o
% 10138 % 38589
g 26774 | 1125 1089 | 119.4 16,3986 | 236 19,0760 | 16640 892
N EE G 5200 | 19.8
miEE™
[RET (B EET ) 5790 | 222
E2H 2% FH 4100 [ 127
HE [HEET 254.0 8.5
AR | 2T 2500 | 117
AXE |[XEWH 150.0 5.9
B 27.679.2 | 966.8 | 950.0 | 1,016.0 101,233.6 | 246.9 | 128.912.8 | 17,822.0 | 802.9
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B4k [tE&7| 3734 (1832 | 9726|1818 | 1,569.1 | 1885 | 259 | 1728 | 3228 | 3660 | 4609 | 2129 50299 |NHFHETR |[EEBRETR |[EETET
%3308 | %5088 | % 1808
FEm
(g $46,0309 [H08,0531 [H13,04,10
ER 219 00 756 | 00| 3841 77| oo 311 14.4 39.3 730 | 1310 7781 |BERETR |REBRER |IRRATER
R-2 % 2705 % 5085 % 65
JIIET)
S46,0309 |H08,0531 |H13,04,10
SIET 62| 00 88| 00 120.0 06| 00| 213 0.0 36.0 56.8 0.0 2497 |REBRETR |RBRER |RIFATETR
%2708 | #5088 | & 388
S46,0309 [H08,0531 [H11,02,12
[ & BT 149 00 208 | 00 448 202 | 00 10.7 0.0 12.3 19.9 0.0 1436 |{EBRER [EE R4 R |BRATS R
%2708 | B 5088 | & 158
it 4164 (1832 [ 10778 [ 1818 | 21180 | 2170 259 2359 | 3372 4536 6106| 3439 62013
S10,0519 |H08,0531 |H15,06.27
Breh  |ERLUT | 8126 | 00| 1,3180 |2465 | 1,5405 | 4348 | 00| 3376 2705 5825 5826 | 759.6 | 68852 |NFEER [EEEET [BUMET
%3295 | F 5095 | F 1045
p——_— $46,0330  |H08,05.31 Hé‘f,(j;‘l%gi
;ﬁﬁ 187.2 | 441 | 2329| 00| 3337 1024| 00| 499| 365| 895| 2956| 134.8| 15066 [ERELR |[EERLR _T_E =
%3578 | £5098 | = e
S48,1023 |H08,0531 |H13,04,10
SHARET 719 00 451 | 194 92.1 00| 120 8.3 0.0 75.4 14.9 16.5 3556 [RERETR |BERER |REHETR
¥ 114285 | E 5098 | & 238
i 1,071.7 | 44115960 [2659 [ 19663 | 5372 | 120 | 3958 | 307.0| 7474 | 8931 | 9109]| 87474
- s1601,11_ [Hogos3r 1159015,
LWhE 1,3032 | 00| 1,2886 |2151 | 30796 | 3886 | 29.0| 2000 | 3231 | 6464 | 739.7 | 18346 |10047.9 |NEHER [(EEBEET = =
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(IB &2 APRET)
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a4t
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&t 288.0 288.0 92.0 170 | 109.0 397.0
ELEEDH
[RET (B EETH) 56.0 56.0 56.0
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HE HET 84.4 84.4 35.6 35.6 120.0
it AT
it 84.4 84.4 35.6 35.6 120.0
R — A 59.0 59.0 59.0
Z1l FE (1B WA 130 130 11.0 11.0 24.0
NIz JIRET 19.7 19.7 45 45 242
= A= 20.0 20.0 20.0
HE FARIEA
#l (|55 )11BT) 20.0 20.0 20.0
BEER EE AT 14.0 14.0 14.0
SRIRT %;ig?m 7.8 7.8 78
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SEEH (B2 2% @A) 8.0 8.0 430 430 51.0
HE RS ET
Al A)IET 45.0 45.0 45.0
=& = AT 20.0 38.0 58.0 58.0
#a5| AAH (BfR5(E) 23.0 23.0 23.0
i & [ T 15.0 15.0 15.0
| K BEET 29.0 29.0 29.0
it 44.0 44.0 44.0
PyES Py ET ] 11.0 1.0 11.0 11.0 220
BIT SRITHT 51.2 51. 51.2
- HE
iJ\.sl (1B/MNE5ED) 8.0 8.0 8.0
B 80| 212 292] 10187 200 ] 3386 5062 | 200 ] 19035] 670 110] 10326 [ 186.1 17.6 | 13143 16.1 | 6027 490 150.1 [ 817.9 0.6 4065.5
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H20/03/31 FAE

WIS | (B S AEEEEE A P T ) E-EhEEEEEMLE E— R
BREE/BERLE® 80/50 100/50 150/50 '100/50] 150,50 | 150,/60 | 200/50 | 200/60 100/50 | 150/50 | 200/60 200/60 | 300/60
SHEE R R ERBEIR 1.0 1.0 1.0 1.0 - 1.0 1.0 - - - - - - - - - - - - - -
EEYHBHEEREREMmM2)| 2000 - 1650 [ 2000 | /MEF [ 2000 ] 2000 2000 /MNEF i — — — — - i - - - i - - "
EEYDOESDREm) 10.0 10.0 10.0 10.0 10.0 10.0 12.0 - - - - - - - - - -
[CET3 =eh 7.6 7.6 54.6 575 635| 1756 | 1832 972.6 972.6 181.8 | 181.8 | 1569.1 1569.1
REHRFE-
A= 75.6 756 384.1 384.1
| HTHT 8.8 8.8 120.0 120.0
| (] R T 2038 20.8 448 448
B 7.6 7.6 54.6 575 635| 1756 | 183.2 10778 | 1077.8 181.8 | 1818 2118.0 2118.0
[CES EdGa 13180 | 1318.0 2465 | 2465 | 15405 1540.5
EEEa 44.1 44.1 44.1 232.9 232.9 333.7 333.7
AT 45.1 45.1 19.4 19.4 92.1 92.1
E 44.1 44.1 44.1 45.1 1550.9 | 1596.0 194 | 2465| 2659 | 1966.3 1966.3
LWhE WhEH 1288.6 | 1288.6 2151 | 2151 | 3079.6 3079.6
=iF SEFENT 8.0 269.5 2775 1534 | 1534 778.1 778.1
SRXEET 5.9 5.9 74.3 74.3
(I8 £ A SRHT) : : : :
B 5.9 5.9 8.0 269.5 2715 1534 | 153.4 852.4 852.4
5] Bl 192.0 192.0 29 2.9 294.9 294.9
Fast 121.4 121.4
El 7.1 66.0 73.1 43 43 130.1 130.1
&t 7.1 66.0 192.0 265.1 7.2 7.2 546.4 546.4
ELEEDH
[RET (BEET) 190.0 190.0 7.0 7.0 203.0 203.0
E%H EX ¥ 5.0 5.0 5.0 53.0 64.0 117.0 10.0 10.0 275.0 275.0
HE HET 69.2 27.6 67.2 164.0 21.0 21.0 252.0 252.0
it AT 52.8 52.8 6.8 4.4 11.2
&t 69.2 276 120.0 216.8 21.0 21.0 258.8 44| 2632
R —KiTh 147.0 147.0 12.0 12.0 280.0 280.0
g FEH (BEILE) 2.4 2.4 63.0 63.0
N JI{R BT 31.0 31.0 78.0 78.0
EN A= 60.0 60.0 200.0 3.0 [ 203.0
HE ESada 66.0 66.0 50.0 50.0
(IEI;;?BT) : : ) )
EZA™
1wl (|55 )11 BD) 340 340 69.0 69.0
EER YEE AT 63.0 63.0 176.0 176.0
£SERT §5$i)i‘FET 43.0 15.0 58.0 85.0 85.0
RiESH fﬂiﬁ%ﬁ D) 28.0 28.0 96.0 96.0
e =10 95.0 95.0 120.0 120.0
Al A )I[ET 18.0 24.0 42.0 92.0 92.0
=& =&H0 4.0 10.0 14.0 35.0 35.0 116.0 116.0
#asl HAtTH (IB#A5 8T 29.0 29.0 107.0 107.0
=i EHEL 10.0 10.0 10.0 80.0 80.0 131.0 131.0
| KHERT 14.0 14.0 3.6 3.6 43.0 43.0
£t 10.0 10.0 10.0 94.0 94.0 3.6 3.6 174.0 174.0
mE TEERT 66.0 66.0 59.0 59.0
JBIT %E;’IBIT 65.8 65.8 191.3 191.3
HET
ES %Ei Ej;n 30.0 30.0 41.0 41.0
= :%
U= (IB/NESED) 8.0 39.0 470 8.0 8.0 107.0 107.0
g 5.9 44.1 7.6 15.0 66.7 54.6 57.5 635 1756 | 2482 1238 | 4476 35.0 280 | 5366.6 | 6001.0 544 | 865.6 | 920.0 | 11403.8 7.4 | s
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H20/03/31 FAE

EHEtE EREE 5 N HT%h| IT% |ITXFEH
R 2 WETHANBBI | “Ehig HEE B i bl S E St [SE3:uhcH 15 e i
BREE/BERLE® 200/60 | 200/60 | 300/80 200/80 | 300/80 | 400/80 300/80 | 400/80 | 500,80 | 600/80 | 700/80 | 800/80 200/60 | 200/60 | 200/60
SV EETR B IRBEIRE - - - = - - - < - - - - - - <
EEYEHEERIEREMmM?) - - - " - - - B - - - - - - "

EEYDOESDREm) - - - - - - - - - - - -

[CET3 =eh 188.5 259 259 119.2 49.9 3.7 172.8 258.1 39.7 233 1.7 322.8 366.0 460.9 212.9
EmhBGE- 77 313 313| 54| 90 144 303 730| 1310
BRIE-2)IIH8T) ) ) : : : ) ) : :
| = HTHET 0.6 213 213 36.0 56.8
| = R ET 202 10.7 10.7 12.3 19.9
B 217.0 259 259 182.5 49.9 3.7 236.1 54| 26741 39.7 233 1.7 337.2 453.6 610.6 343.9

B rh BTG 434.8 259.0 78.6 337.6 227.4 40.1 30| 2705 582.5 582.6 759.6
EEEa 102.4 49.9 49.9 36.5 36.5 89.5 295.6 134.8
AT 12.0 12.0 8.3 8.3 754 14.9 16.5
E 537.2 12.0 12.0 317.2 78.6 395.8 263.9 40.1 3.0] 3070 7474 893.1 910.9

LhE LWhEH 388.6 29.0 29.0 200.0 200.0 299.1 24.0 323.1 646.4 739.7 1834.6

=iF SEENH 312.0 23.0 23.0 65.2 16.0 81.2 243.0 243.0 129.0 287.0 77.0
SEEEH 8.8 8.8 1.0 6.5
(B ) : : : :

B 312.0 23.0 23.0 74.0 16.0 90.0 243.0 243.0 140.0 2935 77.0

5] Bl 84.1 27.4 27.4 5.5 76.0 815 116.6 340.0
Fast 28.0 7.0 7.0 147.0 204.6 21.0
KW ET 22.0 6.3 6.3 11.0 11.0 7.0 7.0 24.0 68.0
&t 134.1 6.3 6.3 384 384 55 90.0 955 287.6 612.6 21.0
ELEEDH

[ERT (BT 21.0 16.0 16.0 31.0 31.0 136.0 58.0

E%H EX ¥ 56.0 21.0 21.0 29.0 29.0 48.0 34.0 36.0

HE HEh 54.0 29.0 29.0 27.0 27.0 103.0 23.0 429.0
FrihET 6.6 6.6 63.5 218.0
&t 54.0 6.6 6.6 29.0 29.0 27.0 27.0 166.5 23.0 647.0

— A N /N 3.0 17.0 15.0 32.0 28.0 28.0 64.0 135.0

g FEH (BEILE) 15.0 5.3 5.3 16.0 16.0 11.0 7.5

NIz JI{R BT 61.0 23.0 23.0 6.5 6.5 11.0 21.0

B A= 14.0 14.0 7.0 7.0 141.0 111.0 31.0

B m%‘i‘; 17 26 26 9.0 9.0 6.0 6.0 35.0
=<-=|E|§ E;j- mm) . X . X X | I I

1| (|55 )11 BD) 10.0 10.0 70 7.0 6.1 2.0 8.0

EER EECHET 15.0 220 220 20.0 20.0 13.0 10.0

SERT |&ZIRTH 6.3 19.0 19.0 15.0 15.0 35.0 35.0

LESH SRR B 14.0 14.0 16.0 25.0

=re (B2 5 HET : : : :

e =10 88 8.8 11.0 11.0 11.0

Al A JIIET 35.0 19.0 19.0 16.0 16.0 29.0 8.0

== =& 12.0 12.0 12.0 12.0 11.0 125.0
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AE)IH 0.67 0.00 0.00 0.00 0.67 0 0 0 0
&t 8.05 0.00 0.00 0.00 8.05 0 0 0 0
LWhE  |LvbhEm 7.05 0.00 0.00 0.00 7.05 0 0 0 0
=iF REEHEWT 2.15 0.00 0.00 0.00 2.15 0 0 0 0
SIEEEAT
(BRI 0.49 0.00 0.00 0.00 0.49 0 0 0 0
BT
it 2.64 0.00 0.00 0.00 2.64 0 0 0 0
B B 2.03 0.00 0.00 0.00 2.03 0 0 0 0
Fa A 0.66 0.00 0.00 0.00 0.66 6,000 0 0 6,000
KW ET 5.54 0.00 0.00 0.00 5.54 0 0 0 0
it 8.23 0.00 0.00 0.00 8.23 6,000 0 0 6,000
%5 [EZA™ 2.1 0.00 0.00 0.00 2.1 0 0 0 0
HE HET 0.80 0.00 0.00 0.00 0.80 0 0 0 0
ZARW | =A™ 1.87 0.00 0.00 0.00 1.87 0 0 0 0
HE ??éigm) 0.78 0.00 0.00 0.00 0.78 0 950 0 950
E%A™
'l (B ED) 0.80 0.00 0.00 0.00 0.80 0 0 0 0
\ EEShH
sl (BRAZIED 1.42 0.00 0.00 0.00 1.42 0 0 0
E 40.88 0.00 0.00 0.00 40.88 6,000 950 6,950
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12. (OEER XA AETR (FREE)

H20/03/31 A&
B | wiag |ERTER | WTRER | HEXEs | EoxEs | i | DA | ZEER ) pemm | @
Kis4, (#9km) (#9km) (#9km) (#9km) (#9km) (#1m2) (#1m2) ($9m2) (#Im2)
g2 BEM 2.85 0.06 0.00 0.00 2.91 0 0 0 0
1B rh EBILITH 2.33 0.00 0.14 0.00 247 0 0 0 0
LWhE  |LvbhEm 2.32 0.00 0.08 0.00 2.40 0 0 0 0
B B 1.70 0.00 0.00 0.00 1.70 0 0 1,760 1,760
%5 |[EZAT 5.65 0.00 0.00 0.00 5.65 0 0 3,800 3,800
HE HET 0.72 0.00 0.00 0.00 0.72 0 0 0 0
IR | ZAWmW 2.83 0.00 0.00 0.00 2.83 0 0 0 0
=T
BHE (IE Eﬁ%m 0.16 0.00 0.00 0.00 0.16 0 0 0 0
B] q
fii’u‘ﬁl (BSAZIED) 0.00 0.00 0.12 0.00 0.12 0 0 0 0
E 18.56 0.06 0.34 0.00 18.96 0 0 5,560 5,560
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12. (MIBER KA AR (BRGNS + ZEHE -+ BREN)

H20/03/31 FA&E
B | wmas |PETER | WTRER | HEXEE |EoxEs | i | DAl | FEER ) g | @
Ri5%, (#9km) (#3km) (#3km) (#3km) (#3km) (H#am2) (#am2) (#Im2) (#Im2)
[=5[d BEM 189.89 0.06 2.50 0.94 193.39 2,000 10,100 16,300 28,400
FEH
(IRFE-7 32.77 0.00 0.00 0.00 32.77 4,200 0 2,000 6,200
R - 22)I|ET)
SZTET 8.95 0.00 0.00 0.00 8.95 7,400 0 0 7,400
[= R ET 8.65 0.00 0.00 0.00 8.65 0 0 0 0
&t 240.26 0.06 2.50 0.94 243.76 13,600 10,100 18,300 42,000
Bh EBILITH 203.44 0.00 0.64 0.00 204.08 34,700 0 5,020 39,720
AE)IH 70.75 0.00 0.00 0.00 70.75 4,400 0 0 4,400
SERHET 19.92 0.00 0.00 0.00 19.92 1,600 3,000 0 4,600
it 294.11 0.00 0.64 0.00 294.75 40,700 3,000 5,020 48,720
LWhE  |LvbhEm 321.60 0.84 7.37 1.71 331.52 31,300 8,200 0 39,500
=iF SEENT 95.67 0.00 0.35 0.00 96.02 7,700 0 7,500 15,200
SRR
(BRI 3.37 0.00 0.00 0.00 3.37 0 0 230 230
BT)
it 99.04 0.00 0.35 0.00 99.39 7,700 0 7,730 15,430
(28] B 42.25 0.47 0.84 0.00 4356 6,000 0 3,810 9,810
FaiERAt 5.11 0.00 0.00 0.00 5.11 16,500 0 0 16,500
KW ET 8.94 0.00 0.00 0.00 8.94 0 0 0 0
i 56.30 0.47 0.84 0.00 57.61 22,500 0 3,810 26,310
[RET ﬁ;ﬁé‘gmﬁiﬁ) 4188 0.00 0.00 0.00 4188 0 0 7,000 7,000
%5 |[EZAT 42.88 0.00 0.00 0.00 42.88 0 0 3,800 3,800
HE HET 43.49 0.00 2.53 0.38 46.40 0 4,100 3,542 7,642
it T 5.95 0.00 0.80 0.00 6.75 0 0 0 0
&t 49 .44 0.00 3.33 0.38 53.15 0 4,100 3,542 7,642
ZAH  [ZAR#mWm 39.72 0.00 1.56 0.00 4128 4,000 0 0 4,000
JIR JI{=ET 12.19 0.00 0.00 0.00 12.19 0 0 0 0
= KEF 2.87 0.00 0.00 0.00 2.87 0 0 0 0
AEH 28.49 0.00 0.00 0.00 28.49 6,400 2,000 0 8,400
it 31.36 0.00 0.00 0.00 31.36 6,400 2,000 0 8,400
g ZARWH
ARt (B (£ BD) 3.89 0.00 0.00 0.00 3.89 0 0 0 0
HE SZH 13.20 0.00 0.00 0.00 13.20 2,400 950 0 3,350
(IBE EH) : : : : : ’ ’
Fiea) Eotadal 5.95 0.00 0.00 0.00 5.95 0 0 0 0
K( BFEH)
=) ﬁi,grrm) 7.10 0.00 0.00 0.00 7.10 0 2,200 2,000 4,200
BEA  [EEAE 23.94 0.00 0.00 0.00 23.94 4,580 0 0 4,580
SERT [SFIRTHE 12.03 0.00 0.00 0.00 12.03 0 160 0 160
IR HHET
£EEHE [ (BsEEH 13.42 0.00 0.00 0.00 13.42 0 0 3,000 3,000
1)
e A E 9.50 0.00 0.00 0.00 9.50 0 0 0 0
= 1= ET 3.74 0.00 0.00 0.00 3.74 0 0 0 0
al A)IET 12.35 0.00 0.00 0.00 12.35 0 0 1,050 1,050
EFES 1.90 0.00 0.00 0.00 1.90 0 0 0 0
% )I| BT 7.07 0.00 0.00 0.00 7.07 0 0 0 0
it 21.32 0.00 0.00 0.00 21.32 0 0 1,050 1,050
=5 = &M 6.40 0.00 0.10 0.00 6.50 1,950 0 0 1,950
HATERER E(E@;EBD 1.41 0.00 0.00 0.00 1.41 0 0 0 0
INEFHT 7.67 0.00 0.00 0.00 7.67 0 0 0 0
it 9.08 0.00 0.00 0.00 9.08 0 0 0 0
B %Qﬁm) 2.69 0.00 0.00 0.00 2.69 0 0 0 0
a5l E(Elg}%,z% BD) 11.15 0.00 0.12 0.00 11.27 0 3,000 4,200 7,200
= il = [ BT 19.40 0.00 0.00 0.00 19.40 0 7,400 0 7,400
PN 5.48 0.00 0.00 0.00 5.48 0 0 1,500 1,500
&t 24.88 0.00 0.00 0.00 24.88 0 7,400 1,500 8,900
WE WEEHET 3.07 0.00 0.00 0.00 3.07 1,340 0 0 1,340
SRIT SRITHT 14.49 0.00 0.00 0.00 14.49 4,400 0 0 4,400
EE ?gﬁégﬁm) 7.46 0.00 0.00 0.00 7.46 0 0 0 0
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12. (MIBER KA AR (BRGNS + ZEHE -+ BREN)

H20/03/31 FA&E

B | wmae |HETER | WTRER | HEXEE |EoxEs | i | DAl | FEER ) pemm | @
Risi#, (#9km) (#9km) (%9km) (#3km) (#3km) (#am2) (#m2) (#Im2) (#Im2)
NG FfH %_;ﬁ 12.20 0.00 0.00 0.00 12.20 0 0 4,500 4,500

: (151 )
B 1,434.29 1.37 16.81 3.03 1,455.50 140,870 41,110 65,452 247,432
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12. @BERXA AR (ZEINAE)

H20/03/31 FA&E
i WELEE [WTRES | BEAER | @aes | mes | TALH | RBED | peme | g
SHEC| TEHE ) T | ke | Gkm) | Gk | Gk | BB BE | wm2) | Gm2)
Xigi# ! ! ! ! ! (#3m2) (#Im2) ! !
[=5[d BEM 194.03 9.86 5.71 0.94 210.54 2,000 10,100 16,300 28,400
FEH
(IRFE-7 32.77 0.00 0.00 0.00 32.77 4,200 0 2,000 6,200
R - 22)I|ET)
SZTET 8.95 0.00 0.00 0.00 8.95 7,400 0 0 7,400
[= R ET 8.65 0.00 0.00 0.00 8.65 0 0 0 0
&t 244.40 9.86 5.71 0.94 260.91 13,600 10,100 18,300 42,000
Bh EBILITH 203.44 0.00 0.64 0.00 204.08 34,700 0 5,020 39,720
AE)IH 70.75 0.00 0.00 0.00 70.75 4,400 0 0 4,400
SERHET 19.92 0.00 0.00 0.00 19.92 1,600 3,000 0 4,600
it 294.11 0.00 0.64 0.00 294.75 40,700 3,000 5,020 48,720
LWhE  |LvbhEm 321.60 0.84 7.37 1.71 331.52 31,300 8,200 0 39,500
=i SEENT 95.90 0.00 2.14 0.00 98.04 7,700 0 7,500 15,200
SRR
(IB&EA 3.37 0.00 0.00 0.00 3.37 0 0 230 230
BT)
it 99.27 0.00 2.14 0.00 101.41 7,700 0 7,730 15,430
(28] B 42.25 0.47 0.84 0.00 4356 6,000 0 3,810 9,810
FaiERAt 5.11 0.00 0.00 0.00 5.11 16,500 0 0 16,500
KW ET 8.94 0.00 0.00 0.00 8.94 0 0 0 0
i 56.30 0.47 0.84 0.00 57.61 22,500 0 3,810 26,310
[RET ﬁ;ﬁé‘gmﬁq) 4542 0.51 6.45 0.00 52.37 0 0 7,000 7,000
%5 |[EZAT 43.21 0.00 0.76 0.00 43.97 0 0 3,800 3,800
HE HET 51.62 0.00 5.90 0.76 58.28 0 4,100 3,542 7,642
it T 10.11 0.00 2.70 0.00 12.81 0 0 0 0
&t 61.73 0.00 8.60 0.76 71.09 0 4,100 3,542 7,642
ZAH  [ZAR#mWm 39.72 0.00 1.56 0.00 4128 4,000 0 0 4,000
JIR JI{=ET 12.19 0.00 0.00 0.00 12.19 0 0 0 0
= KEF 2.87 0.00 0.00 0.00 2.87 0 0 0 0
AEH 28.49 0.00 0.00 0.00 28.49 6,400 2,000 0 8,400
&t 31.36 0.00 0.00 0.00 31.36 6,400 2,000 0 8,400
g ZARWH
ARt (B (£ BD) 3.89 0.00 0.00 0.00 3.89 0 0 0 0
HE SZH 13.20 0.00 0.00 0.00 13.20 2,400 950 0 3,350
(I8 H &H1) : : : : : ’ ’
Fiea) Eotadal 5.95 0.00 0.00 0.00 5.95 0 0 0 0
K( BFEH)
=) ﬁiﬁﬂiﬁ) 7.10 0.00 4.20 0.00 11.30 0 2,200 2,000 4,200
EALES 0.00 0.00 5.59 0.00 5.59 0 0 0 0
it 7.10 0.00 9.79 0.00 16.89 0 2,200 2,000 4,200
BEA  [EEAE 23.94 0.00 0.00 0.00 23.94 4,580 0 0 4,580
SERT [SFIRTHE 12.03 0.00 0.00 0.00 12.03 0 160 0 160
SR HHAT
£EEHE [ (BsESH 13.42 0.00 0.00 0.00 13.42 0 0 3,000 3,000
1)
e A Er 9.50 0.00 0.00 0.00 9.50 0 0 0 0
= = HET 3.74 0.00 0.00 0.00 3.74 0 0 0 0
an A)IET 12.35 0.00 0.00 0.00 12.35 0 0 1,050 1,050
EFNESS 1.90 0.00 0.00 0.00 1.90 0 0 0 0
EINL 7.07 0.00 0.00 0.00 7.07 0 0 0 0
it 21.32 0.00 0.00 0.00 21.32 0 0 1,050 1,050
=5 = &My 6.40 0.00 0.10 0.00 6.50 1,950 0 0 1,950
HATERER E(EIS%;EBT) 1.41 0.00 0.00 0.00 1.41 0 0 0 0
INEFHT 7.67 0.00 0.00 0.00 7.67 0 0 0 0
it 9.08 0.00 0.00 0.00 9.08 0 0 0 0
B E(Elggﬁﬁm) 2.69 0.00 0.00 0.00 2.69 0 0 0 0
5| E(Elg}%,g% \BD) 11.15 0.00 0.12 0.00 11.27 0 3,000 4,200 7,200
= il = [ BT 19.43 0.00 0.00 0.00 19.43 0 7,400 0 7,400
KEEHT 5.92 0.00 3.67 0.00 9.59 0 0 1,500 1,500
it 25.35 0.00 3.67 0.00 29.02 0 7,400 1,500 8,900
mE WEEHET 6.92 0.00 1.00 0.49 8.41 1,340 0 0 1,340
SRIT SRITHT 17.59 0.00 2.61 1.53 21.73 4,400 0 0 4,400
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12. @BERXA AR (ZEINAE)

H20/03/31 A&

B | wmag |PERTER | WTRER | HEXEE |EoxEs | i | DAl | ZEER ) pemm | @
R4, Ghkm) | CoOkm) | CHOkm) | CRkm) ) Bkm) ey | ggmp | ®IM2 | (Im2)
ES ?gﬁéﬁm) 11.86 0.00 2.62 0.00 14.48 0 0 0 o
NS ?gﬁlﬁéﬁm) 15.15 0.00 4.76 0.00 19.91 0 0 4,500 4,500
B 1,469.59 11.68 58.74 5.43 1,545.43 140,870 41,110 65,452 247,432
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12. (OERAIER (HEIHEEMER)

H20/03/31 A&

BiEE
v EEE i i 1BE | 40msiid | 30maRiE | 22maRiE | 16K | 12mRiE | 8mKiH
HE | hERE | BS | & Gy | B || A |40mblE | 30mblE | 22mBLE | 16mbLE | 12mbLE | BmELE BRFE
X4 m Al Gam) | ) | Gam) | Gam) | ) | Gam) | () ;ﬁ:ro%;
BiE | KEERET 13.1 |EREIR 4110 A 0 0 0 0 0 0 0 0 0.0
HE | B 0 0 0 0 0 0 0 0
ZEE | C 4,110 0 0 4,110 0 0 0 0
it 4,110 0 0 4,110 0 0 0 0
A 0 0 0 0 0 0 0 0
WRF| B 0 0 0 0 0 0 0 0
ZEE [ C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
B [ B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
WE | EHET 13.1 |EREIR 5,340 A 0 0 0 0 0 0 0 0 0.0
itE [ B 0 0 0 0 0 0 0 0
ER [ C 5,340 0 0 5,340 0 0 0 0
it 5,340 0 0 5,340 0 0 0 0
A 0 0 0 0 0 0 0 0
WRFE| B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WRGE | B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
SR [SRSIET 13.1  |ERRIHK 4810 A 0 0 0 0 0 0 0 0 0.0
itE [ B 4,810 0 0 4,810 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
it 4810 0 0 4810 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF|B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
W% | B 4,810 0 0 4,810 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 4,810 0 0 4,810 0 0 0 0
SRIT [SRSTHET 13.2  |RIIRETHR 2,430 A 0 0 0 0 0 0 0 0 0.0
iE [ B 2,430 0 0 2,430 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 2,430 0 0 2,430 0 0 0 0
A 0 0 0 0 0 0 0 0
WEF|B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 2,430 0 0 2,430 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 2,430 0 0 2,430 0 0 0 0
EBS |miEEm 13.1  |RETHER 7,020 A 0 0 0 0 0 0 0 0 0.0
((==T:0) iE [ B 0 0 0 0 0 0 0 0
ER [ C 7,020 0 0 7,020 0 0 0 0
it 7,020 0 0 7,020 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF|B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BERFE [ B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
g |BHEET 13.1  |RIIRETHR 7,710 A 0 0 0 0 0 0 0 0 0.0
(IR/MEET) iE | B 0 0 0 0 0 0 0 0
ER [ C 7,710 0 0 7,710 0 0 0 0
it 7,710 0 0 7,710 0 0 0 0
A 0 0 0 0 0 0 0 0
HE¥|B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER [ C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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12. (10)18 B 7B & (SR E )

H20/03/31 (A&

BimE
#hin EEst it i 1B8 | 40msRiE | 30mRiE | 22mRME | 16mR | 12mKiE [ 8mAKiHE .
FE | WEHE | BS | AW W | BA || BE [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
Rigi4 = Al Gam) | Gam) | Gam) | Gam) | Gm) | Gam) | () iﬁiﬁ,
B [wEET 3.1.101 | REHHR 3,180 A 3,070 940 320 180 800 830 0 0| 1000
HiE | B 0 0 0 0 0 0 0 0
ZER | C 110 0 0 0 0 110 0 0
it 3,180 940 320 180 800 940 0 0
A 3,070 940 320 180 800 830 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 110 0 0 0 0 110 0 0
&t 3,180 940 320 180 800 940 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [wEETh 3.1.102 | KL K& 8,590 A 3,640 3,640 0 0 0 0 0 0| 695
B iE (B 1,230 1,230 0 0 0 0 0 0
ZER | C 3,720 3,720 0 0 0 0 0 0
it 8,590 8,590 0 0 0 0 0 0
A 3,290 3,290 0 0 0 0 0 0
EERAE 1,230 1,230 0 0 0 0 0 0
ZER | C 1,450 1,450 0 0 0 0 0 0
it 5,970 5,970 0 0 0 0 0 0
A 150 150 0 0 0 0 0 0
BRF| B 0 0 0 0 0 0 0 0
ZER | C 1,340 1,340 0 0 0 0 0 0
it 1,490 1,490 0 0 0 0 0 0
B [EET 33.1 |[RETSHER 9,270 A 2,530 0 0 2,530 0 0 0 of 920
iE (B 1,250 0 0 1,250 0 0 0 0
ZER | C 5,490 0 0 3,930 0 1,560 0 0
it 9,270 0 0 7,710 0 1,560 0 0
A 2,530 0 0 2,530 0 0 0 0
HWERF(B 1,250 0 0 1,250 0 0 0 0
ZER | C 4,750 0 0 3,190 0 1,560 0 0
it 8,530 0 0 6,970 0 1,560 0 0
A 0 0 0 0 0 0 0 0
BRF | B 60 0 0 60 0 0 0 0
ZER | C 680 0 0 680 0 0 0 0
it 740 0 0 740 0 0 0 0
B [EETW 33.2 |EEER®K 7,410 A 6,790 130 0 6,660 0 0 0 o[ 1000
itE | B 470 0 0 470 0 0 0 0
ZER | C 150 0 0 0 150 0 0 0
it 7,410 130 0 7,130 150 0 0 0
A 6,790 130 0 6,660 0 0 0 0
HEF(B 470 0 0 470 0 0 0 0
ZER | C 150 0 0 0 150 0 0 0
it 7,410 130 0 7,130 150 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [fEET 33.3 |EE4ER 14,430 A 3,400 0 0 3,400 0 0 0 0| 1000
iE (B 350 0 0 350 0 0 0 0
ZEE | c| 10,680 0 0| 10680 0 0 0 0
| 14430 0 0| 14430 0 0 0 0
A 3,400 0 0 3,400 0 0 0 0
BEEAE 350 0 0 350 0 0 0 0
#EE | c| 10680 0 0| 10680 0 0 0 0
il 14430 0 0| 14430 0 0 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 3.3. 102 | R FRETAE 2,800 A 2,800 0 0 1,530 1,270 0 0 0 0.0
FiR itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 2,800 0 0 1,530 1,270 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 33.103 | B HRH 10,260 A 1,920 0 370 1,500 50 0 0 0| 1000
R itE | B 2,160 0 0 2,160 0 0 0 0
ZER | C 6,180 0 0 6,180 0 0 0 0
B 10,260 0 370 9,840 50 0 0 0
A 1,920 0 370 1,500 50 0 0 0
HEF|(B 2,160 0 0 2,160 0 0 0 0
ZER | C 6,180 0 0 6,180 0 0 0 0
H 10,260 0 370 9,840 50 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [wEEH 33.104 [INEFKFH 3,470 A 3,090 0 400 1,720 970 0 0 of 170
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 380 0 0 0 230 150 0 0
E 3,470 0 400 1,720 1,200 150 0 0
A 440 0 0 0 440 0 0 0
HEF|B 0 0 0 0 0 0 0 0
ZER | C 150 0 0 0 0 150 0 0
B 590 0 0 0 440 150 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [EET 3.3. 105 | KR ED 7,750 A 7,750 0 510 5,440 1,800 0 0 0| 428
#® itE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 7,750 0 510 5,440 1,800 0 0 0
A 3,320 0 0 3,070 250 0 0 0
BERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 3,320 0 0 3,070 250 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 3.3.107 [JLiE B8R 2,850 A 1,210 0 0 1,210 0 0 0 o[ 1000
& (B 0 0 0 0 0 0 0 0
ZER | C 1,640 0 0 1,640 0 0 0 0
it 2,850 0 0 2,850 0 0 0 0
A 1,210 0 0 1,210 0 0 0 0
HwR&|B 0 0 0 0 0 0 0 0
ZER | C 1,640 0 0 1,640 0 0 0 0
it 2,850 0 0 2,850 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B [EET 3.3. 147 |E R 3,550 A 1,100 0 0 1,100 0 0 0 0| 1000
iE (B 520 0 0 520 0 0 0 0
ER | C 1,930 0 0 1,930 0 0 0 0
it 3,550 0 0 3,550 0 0 0 0
A 1,100 0 0 1,100 0 0 0 0
BEEAE 520 0 0 520 0 0 0 0
ER | C 1,930 0 0 1,930 0 0 0 0
it 3,550 0 0 3,550 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 33.155 | LB B ER 3,600 A 0 0 0 0 0 0 0 0| 1000
i itE (B 370 0 0 370 0 0 0 0
EE | C 3,230 0 0 3,230 0 0 0 0
it 3,600 0 0 3,600 0 0 0 0
A 0 0 0 0 0 0 0 0
HEE| B 370 0 0 370 0 0 0 0
EE | C 3,230 0 0 3,230 0 0 0 0
it 3,600 0 0 3,600 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
b EE i 1E8 | 40mski | 30msKki | 22m3Ki | 16m3Ki | 12mKiH | SBmakid .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.3. 157 | RETE GHET 220 A 220 0 0 220 0 0 0 0 0.0
R iE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 220 0 0 220 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [wEEh 33.159 | EHREL 3,220 A 0 0 0 0 0 0 0 0 0.0
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 3,220 0 0 3,220 0 0 0 0
g 3,220 0 0 3,220 0 0 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [#EET 3.4.108 |EBTH A HT 440 A 440 0 0 0 440 0 0 0| 1000
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 440 0 0 0 440 0 0 0
A 440 0 0 0 440 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 440 0 0 0 440 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 3.4.109 K RIETIEF 2,380 A 2,380 0 0 0 1,590 790 0 o 332
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,380 0 0 0 1,590 790 0 0
A 790 0 0 0 340 450 0 0
HR&|B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 790 0 0 0 340 450 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B [EET 34.110 |[EE114 2,070 A 1,510 0 0 0 1,510 0 0 0 0.0
S iE [ B 240 0 0 0 240 0 0 0
ZER | C 320 0 0 0 0 320 0 0
it 2,070 0 0 0 1,750 320 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 1,510 0 0 0 1,510 0 0 0
ALK | B 240 0 0 0 240 0 0 0
EE | C 320 0 0 0 0 320 0 0
it 2,070 0 0 0 1,750 320 0 0
Bi |®e™m 3411 [FREEE 7,140 A 6,310 0 0 700 5,570 40 0 o 254
TR itE [ B 540 0 0 0 540 0 0 0
EE | C 290 0 0 0 140 150 0 0
it 7,140 0 0 700 6,250 190 0 0
A 1,390 0 0 0 1,390 0 0 0
HEFE| B 130 0 0 0 130 0 0 0
EE | C 290 0 0 0 140 150 0 0
it 1,810 0 0 0 1,660 150 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.4. 112 |BRIRFEIT IR 2,040 A 860 0 0 0 800 60 0 0| 544
iHiE | B 0 0 0 0 0 0 0 0
EE | C 1,180 0 0 0 1,180 0 0 0
it 2,040 0 0 0 1,980 60 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 1,110 0 0 0 1,110 0 0 0
&t 1,110 0 0 0 1,110 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [wEETh 34. 119 | RETKEAE 8,600 A 5,030 0 20 700 2,400 1,910 0 0| 513
#3® itE | B 420 0 0 0 420 0 0 0
EE | C 3,150 0 0 0 2,600 550 0 0
it 8,600 0 20 700 5,420 2,460 0 0
A 1,590 0 20 700 870 0 0 0
EERAE 420 0 0 0 420 0 0 0
EE | C 2,400 0 0 0 2,400 0 0 0
it 4,410 0 20 700 3,690 0 0 0
A 3,450 0 0 0 1,540 1,910 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 700 0 0 0 200 500 0 0
it 4,150 0 0 0 1,740 2,410 0 0
B [EET 34127 |[ERB#ES 3,120 A 1,510 0 0 0 420 1,090 0 o 535
#® itE (B 0 0 0 0 0 0 0 0
EE | C 1,610 0 0 0 1,200 410 0 0
&t 3,120 0 0 0 1,620 1,500 0 0
A 420 0 0 0 420 0 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 1,250 0 0 0 1,250 0 0 0
it 1,670 0 0 0 1,670 0 0 0
A 890 0 0 0 0 890 0 0
BERE | B 0 0 0 0 0 0 0 0
EE | C 410 0 0 0 0 410 0 0
it 1,300 0 0 0 0 1,300 0 0
B [EET 3.4. 133 |E3&399 4,920 A 1,110 0 0 0 1,110 0 0 o 567
SR & (B 760 0 0 0 640 120 0 0
EE | C 3,050 0 0 0 1,530 1,180 340 0
it 4,920 0 0 0 3,280 1,300 340 0
A 740 0 0 0 740 0 0 0
HEF(B 420 0 0 0 300 120 0 0
EE | C 1,630 0 0 0 110 1,180 340 0
it 2,790 0 0 0 1,150 1,300 340 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [fEET 3.4. 145 BRI AR 4,680 A 4,680 0 570 890 3,010 210 0 0| 338
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 4,680 0 570 890 3,010 210 0 0
A 1,580 0 570 890 120 0 0 0
HR%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,580 0 570 890 120 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©E&™ 3.4. 146 |BRIRERER 1,360 A 120 0 0 0 120 0 0 0| 1000
itE | B 120 0 0 0 120 0 0 0
ZEE | C 1,120 0 0 0 1,120 0 0 0
it 1,360 0 0 0 1,360 0 0 0
A 120 0 0 0 120 0 0 0
HE%| B 120 0 0 0 120 0 0 0
ZEE | C 1,120 0 0 0 1,120 0 0 0
it 1,360 0 0 0 1,360 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.4.148 |FEB R NIER 2,150 A 0 0 0 0 0 0 0 0| 1000
tE | B 620 0 0 0 620 0 0 0
ZER | C 1,530 0 0 0 630 900 0 0
it 2,150 0 0 0 1,250 900 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 620 0 0 0 620 0 0 0
ZER | C 1,530 0 0 0 630 900 0 0
&t 2,150 0 0 0 1,250 900 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EETH 34.150 | &AL RE 1,680 A 220 0 0 0 220 0 0 0| 1000
B#R itE | B 1,460 0 0 0 1,460 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,680 0 0 0 1,680 0 0 0
A 220 0 0 0 220 0 0 0
EERAE 1,460 0 0 0 1,460 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,680 0 0 0 1,680 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 34.151 [EAEXE 1,630 A 1,030 0 0 0 1,030 0 0 0| 1000
B iE (B 600 0 0 0 600 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,630 0 0 0 1,630 0 0 0
A 1,030 0 0 0 1,030 0 0 0
BERAE 600 0 0 0 600 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,630 0 0 0 1,630 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 34.152 |©B&d15 940 A 920 0 0 0 920 0 0 o 745
#3® itE | B 20 0 0 0 20 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 940 0 0 0 940 0 0 0
A 680 0 0 0 680 0 0 0
HEF(B 20 0 0 0 20 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 700 0 0 0 700 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [fEET 34.153 |f8&it2% 950 A 190 0 0 0 190 0 0 0| 1000
® E | B 760 0 0 0 760 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 950 0 0 0 950 0 0 0
A 190 0 0 0 190 0 0 0
BEEAE 760 0 0 0 760 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 950 0 0 0 950 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 34.154 [FRXEXR 1,390 A 290 0 0 0 290 0 0 o 273
FriR itE | B 90 0 0 0 90 0 0 0
EE | C 1,010 0 0 0 1,010 0 0 0
it 1,390 0 0 0 1,390 0 0 0
A 290 0 0 0 290 0 0 0
HEE| B 90 0 0 0 90 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 380 0 0 0 380 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 34.156 |FHHOE 1,260 A 0 0 0 0 0 0 0 0| 1000
NE iE | B 0 0 0 0 0 0 0 0
ZER | C 1,260 0 0 0 1,260 0 0 0
it 1,260 0 0 0 1,260 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 1,260 0 0 0 1,260 0 0 0
&t 1,260 0 0 0 1,260 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EETH 3.4.158 |FO 1545 390 A 390 0 0 0 390 0 0 o[ 1000
iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 390 0 0 0 390 0 0 0
A 390 0 0 0 390 0 0 0
EERAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 390 0 0 0 390 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 3.4.160 [&REMR 2,030 A 0 0 0 0 0 0 0 0| 1000
tE (B 1,140 0 0 0 1,140 0 0 0
ZER | C 890 0 0 0 0 890 0 0
it 2,030 0 0 0 1,140 890 0 0
A 0 0 0 0 0 0 0 0
WERF(B 1,140 0 0 0 1,140 0 0 0
ZER | C 890 0 0 0 0 890 0 0
it 2,030 0 0 0 1,140 890 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 3.5. 113 |2 ZETH#IL 1,690 A 1,690 0 180 0 640 870 0 0| 1000
#3® iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,690 0 180 0 640 870 0 0
A 1,690 0 180 0 640 870 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 1,690 0 180 0 640 870 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B [EE™ 35. 114 [ ZET B H 540 A 540 0 0 0 0 540 0 0| 593
BTH#R #E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 540 0 0 0 0 540 0 0
A 320 0 0 0 0 320 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 320 0 0 0 0 320 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 3.5. 115 |ZEJIIETE7 980 A 980 0 0 0 0 980 0 0 0.0
BT#R itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 980 0 0 0 0 980 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.5. 116 | SR HET 1,970 A 1,970 0 0 0 440 1,530 0 0| 629
ARETHR iE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,970 0 0 0 440 1,530 0 0
A 1,240 0 0 0 0 1,240 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 1,240 0 0 0 0 1,240 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [wEETH 35. 117 | X EARBTTEE 6,950 A 2,740 0 180 50 90 2,420 0 0| 394
IR & (B 310 0 0 0 0 310 0 0
ZER | C 3,900 0 0 0 0 3,900 0 0
it 6,950 0 180 50 90 6,630 0 0
A 2,740 0 180 50 90 2,420 0 0
EERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,740 0 180 50 90 2,420 0 0
A 0 0 0 0 0 0 0 0
[ B 310 0 0 0 0 310 0 0
ZER | C 3,900 0 0 0 0 3,900 0 0
it 4,210 0 0 0 0 4,210 0 0
B [EET 3.5. 118 |iE;RETETRE 8,650 A 5,510 0 0 3,480 630 1,400 0 of 193
IR #E (B 0 0 0 0 0 0 0 0
ZER | C 3,140 0 0 0 0 3,140 0 0
it 8,650 0 0 3,480 630 4,540 0 0
A 1,670 0 0 1,040 630 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,670 0 0 1,040 630 0 0 0
A 1,400 0 0 0 0 1,400 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 3,140 0 0 0 0 3,140 0 0
it 4,540 0 0 0 0 4,540 0 0
B [EET 35.120 |FARK 630 A 630 0 0 270 0 360 0 0| 1000
#E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 630 0 0 270 0 360 0 0
A 630 0 0 270 0 360 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 630 0 0 270 0 360 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
i [fE&™ 3.5. 121 | ABT 5 HHHET 470 A 470 0 0 0 0 470 0 0| 1000
#® itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 470 0 0 0 0 470 0 0
A 470 0 0 0 0 470 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 470 0 0 0 0 470 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 35.122 |{MHEETER 1,140 A 1,140 0 0 0 0 1,140 0 0 0.0
BT#R itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,140 0 0 0 0 1,140 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 1,140 0 0 0 0 1,140 0 0
BE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,140 0 0 0 0 1,140 0 0

_78_




12. (10)18 B 7B & (SR E )
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.5. 123 |[|lL FETAERT 440 A 440 0 0 0 0 440 0 0| 227
R iE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 440 0 0 0 0 440 0 0
A 100 0 0 0 0 100 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 100 0 0 0 0 100 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [EEh 3.5. 124 | ASTHRTARAK 720 A 720 0 0 0 0 720 0 of 347
BTH#R iE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
E 720 0 0 0 0 720 0 0
A 250 0 0 0 0 250 0 0
EERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 250 0 0 0 0 250 0 0
A 470 0 0 0 0 470 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 470 0 0 0 0 470 0 0
B [EET 3.5. 125 | K #é 5 U5 AT 1,480 A 1,480 0 0 0 0 1,480 0 0 0.0
#® itE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,480 0 0 0 0 1,480 0 0
A 0 0 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 160 0 0 0 0 160 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 160 0 0 0 0 160 0 0
B [EET 35.126 [JLIRXAF 5,380 A 4,250 0 0 0 1,980 2,270 0 o 883
#3® & (B 420 0 0 0 180 240 0 0
ZER | C 710 0 0 0 710 0 0 0
it 5,380 0 0 0 2,870 2,510 0 0
A 3,620 0 0 0 1,640 1,980 0 0
HEF(B 420 0 0 0 180 240 0 0
ZER | C 710 0 0 0 710 0 0 0
it 4,750 0 0 0 2,530 2,220 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [fEET 3.5. 128 | FEHHER 7,110 A 1,510 0 0 120 460 930 0 0| 405
#E [ B 170 0 0 0 40 130 0 0
EE | C 5,430 0 0 70 1,550 3,810 0 0
it 7,110 0 0 190 2,050 4,870 0 0
A 400 0 0 120 280 0 0 0
HER%E| B 0 0 0 0 0 0 0 0
EE | C 2,480 0 0 0 0 2,480 0 0
it 2,880 0 0 120 280 2,480 0 0
A 280 0 0 0 0 280 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 190 0 0 0 0 190 0 0
it 470 0 0 0 0 470 0 0
Bit |©EE™ 3.5. 129 |BEHEZE 3,540 A 0 0 0 0 0 0 0 o 130
i itE | B 0 0 0 0 0 0 0 0
EE | C 3,540 0 0 0 1,460 2,080 0 0
Hi 3,540 0 0 0 1,460 2,080 0 0
A 0 0 0 0 0 0 0 0
HEE| B 0 0 0 0 0 0 0 0
EE | C 460 0 0 0 0 460 0 0
it 460 0 0 0 0 460 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 1,620 0 0 0 0 1,620 0 0
it 1,620 0 0 0 0 1,620 0 0
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H20/03/31 (A&

BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 3.5. 130 |BRIR{L IR AR 1,240 A 1,190 0 0 0 560 630 0 0| 452
iHiE | B 0 0 0 0 0 0 0 0
ZER | C 50 0 0 0 0 50 0 0
it 1,240 0 0 0 560 680 0 0
A 560 0 0 0 0 560 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 560 0 0 0 0 560 0 0
A 80 0 0 0 0 80 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 50 0 0 0 0 50 0 0
it 130 0 0 0 0 130 0 0
B [wEETh 3.5. 131 |ETE S R 2,270 A 600 0 0 0 0 600 0 o 841
iE (B 0 0 0 0 0 0 0 0
ZER | C 1,670 0 0 0 0 1,670 0 0
it 2,270 0 0 0 0 2,270 0 0
A 600 0 0 0 0 600 0 0
EERAE 0 0 0 0 0 0 0 0
ZEE | C 1,310 0 0 0 0 1,310 0 0
it 1,910 0 0 0 0 1,910 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 35.132 |BEEXEF 2,480 A 1,440 0 0 0 0 1,440 0 0 0.0
#® & (B 100 0 0 0 0 100 0 0
ZER | C 940 0 0 0 0 940 0 0
it 2,480 0 0 0 0 2,480 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EET 3.5. 134 | AR\ WEHR 550 A 550 0 0 0 0 550 0 0| 1000
AR iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
A 550 0 0 0 0 550 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B [EE™ 3.5. 135 |[TEKIRED 670 A 670 0 0 0 0 670 0 0 0.0
BTH#R #E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 670 0 0 0 0 670 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |©EE™ 3.5. 136 |&AHET/\ 1% 430 A 430 0 0 0 0 430 0 0 0.0
R itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 430 0 0 0 0 430 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [wEEH 36. 141 | FTOHETIRD 240 A 0 0 0 0 0 0 0 0| 750
LR iE | B 0 0 0 0 0 0 0 0
ZER | C 240 0 0 0 0 0 240 0
B 240 0 0 0 0 0 240 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 180 0 0 0 0 0 180 0
B 180 0 0 0 0 0 180 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 60 0 0 0 0 0 60 0
B 60 0 0 0 0 0 60 0
Bit  |SRivHr 33.2 |EEERRK 4,620 A 0 0 0 0 0 0 0 0| 400
iiE | B 2,400 0 0 2,400 0 0 0 0
ZER | C 2,220 0 0 2,220 0 0 0 0
g 4,620 0 0 4,620 0 0 0 0
A 0 0 0 0 0 0 0 0
EERAE 1,470 0 0 1,470 0 0 0 0
ZER | C 380 0 0 380 0 0 0 0
B 1,850 0 0 1,850 0 0 0 0
A 0 0 0 0 0 0 0 0
| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bk [ZrET 34.301 (ZFfEEG 490 A 0 0 0 0 0 0 0 o[ 1000
#® itE | B 490 0 0 0 0 490 0 0
ZER | C 0 0 0 0 0 0 0 0
B 490 0 0 0 0 490 0 0
A 0 0 0 0 0 0 0 0
BERAE 490 0 0 0 0 490 0 0
ZER | C 0 0 0 0 0 0 0 0
B 490 0 0 0 0 490 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bk [SRirET 3.4. 306 | BB 300 A 0 0 0 0 0 0 0 0| 1000
itE | B 150 0 0 0 150 0 0 0
ZER | C 150 0 0 0 150 0 0 0
it 300 0 0 0 300 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 150 0 0 0 150 0 0 0
ZER | C 150 0 0 0 150 0 0 0
Hi 300 0 0 0 300 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bk [SRrET 3.6. 302 [AHTB 5 R 1,400 A 0 0 0 0 0 0 0 0 0.0
#E [ B 1,400 0 0 0 0 0 1,400 0
EE | C 0 0 0 0 0 0 0 0
it 1,400 0 0 0 0 0 1,400 0
A 0 0 0 0 0 0 0 0
HEE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
W% | B 1,400 0 0 0 0 0 1,400 0
EE | C 0 0 0 0 0 0 0 0
it 1,400 0 0 0 0 0 1,400 0
B4t |ZET 3.6. 303 |£EE LM AR 750 A 0 0 0 0 0 0 0 0 25.3
itE [ B 750 0 0 0 0 0 750 0
EE | C 0 0 0 0 0 0 0 0
it 750 0 0 0 0 0 750 0
A 0 0 0 0 0 0 0 0
HEE| B 190 0 0 0 0 0 190 0
EE | C 0 0 0 0 0 0 0 0
it 190 0 0 0 0 0 190 0
A 0 0 0 0 0 0 0 0
BRE | B 560 0 0 0 0 0 560 0
EE | C 0 0 0 0 0 0 0 0
it 560 0 0 0 0 0 560 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Bt |SRiAr 3.6. 304 |ERATE TR 1,140 A 0 0 0 0 0 0 0 0| 412
tE | B 1,140 0 0 0 0 0 1,140 0
ZER | C 0 0 0 0 0 0 0 0
&t 1,140 0 0 0 0 0 1,140 0
A 0 0 0 0 0 0 0 0
HEF|(B 470 0 0 0 0 0 470 0
ZR | C 0 0 0 0 0 0 0 0
B 470 0 0 0 0 0 470 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bk [SRirET 3.6. 305 | BB 250 A 0 0 0 0 0 0 0 0| 1000
iiE | B 250 0 0 0 0 0 250 0
ZER | C 0 0 0 0 0 0 0 0
E 250 0 0 0 0 0 250 0
A 0 0 0 0 0 0 0 0
EERAE 250 0 0 0 0 0 250 0
ZER | C 0 0 0 0 0 0 0 0
B 250 0 0 0 0 0 250 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bt |[FEH 33.2 |EEERRK 2,980 A 0 0 0 0 0 0 0 0| 1000
(IB{#ZEHET) itE | B 2,980 0 0 2,980 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 2,980 0 0 2,980 0 0 0 0
A 0 0 0 0 0 0 0 0
BERAE 2,980 0 0 2,980 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 2,980 0 0 2,980 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |[FEH 3.6. 201 (& Fe KRR 1,440 A 0 0 0 0 0 0 0 0| 1000
(IBF:EHT) itE (B 1,440 0 0 0 0 1,000 440 0
ZER | C 0 0 0 0 0 0 0 0
it 1,440 0 0 0 0 1,000 440 0
A 0 0 0 0 0 0 0 0
HRE|B 1,440 0 0 0 0 1,000 440 0
ZER | C 0 0 0 0 0 0 0 0
it 1,440 0 0 0 0 1,000 440 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
it |ERET 33.2 |EEBER®KE 2,330 A 0 0 0 0 0 0 0 0 0.0
& (B 1,680 0 0 1,680 0 0 0 0
ZER | C 650 0 0 650 0 0 0 0
Hi 2,330 0 0 2,330 0 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
i (ERET 3.5. 401 [BRATRE+IR 1,250 A 0 0 0 0 0 0 0 o 256
#® iHE (B 900 0 0 0 0 900 0 0
ER | C 350 0 0 0 0 350 0 0
Hi 1,250 0 0 0 0 1,250 0 0
A 0 0 0 0 0 0 0 0
HEE| B 320 0 0 0 0 320 0 0
EE | C 0 0 0 0 0 0 0 0
it 320 0 0 0 0 320 0 0
A 0 0 0 0 0 0 0 0
BRE | B 180 0 0 0 0 180 0 0
EE | C 0 0 0 0 0 0 0 0
it 180 0 0 0 0 180 0 0
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H20/03/31 (A&

BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Bit |ERET 3.5. 402 |BRARIEHR 1,430 A 0 0 0 0 0 0 0 0 7.0
tE | B 1,430 0 0 0 0 1,430 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,430 0 0 0 0 1,430 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 100 0 0 0 0 100 0 0
EE | C 0 0 0 0 0 0 0 0
&t 100 0 0 0 0 100 0 0
A 0 0 0 0 0 0 0 0
BEE | B 1,210 0 0 0 0 1,210 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,210 0 0 0 0 1,210 0 0
Bit |ERET 3.5. 403 |ERAIE IR 1,200 A 0 0 0 0 0 0 0 0| 200
@ | B 1,200 0 0 0 0 1,200 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,200 0 0 0 0 1,200 0 0
A 0 0 0 0 0 0 0 0
EERAE 240 0 0 0 0 240 0 0
EE | C 0 0 0 0 0 0 0 0
it 240 0 0 0 0 240 0 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bit |ERET 3.5. 405 |BEE/NMRER 1,370 A 0 0 0 0 0 0 0 0| 1000
itE [ B 740 0 0 0 0 740 0 0
EE | C 630 0 0 0 0 630 0 0
it 1,370 0 0 0 0 1,370 0 0
A 0 0 0 0 0 0 0 0
BERAE 740 0 0 0 0 740 0 0
EE | C 630 0 0 0 0 630 0 0
it 1,370 0 0 0 0 1,370 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
i (ERET 3.6. 404 (ERAT B B 1,070 A 0 0 0 0 0 0 0 0 0.0
itE | B 950 0 0 0 0 0 950 0
EE | C 120 0 0 0 0 0 120 0
it 1,070 0 0 0 0 0 1,070 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 570 0 0 0 0 0 570 0
ZEE | C 120 0 0 0 0 0 120 0
it 690 0 0 0 0 0 690 0
Bt |[FEH 3.4. 601 |ERATHR 220 A 150 0 0 0 150 0 0 0| 1000
(IBZ)I1ET) iE (B 70 0 0 0 70 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 220 0 0 0 220 0 0 0
A 150 0 0 0 150 0 0 0
HEE| B 70 0 0 0 70 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 220 0 0 0 220 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |[BEH 3.4. 602 |#& AL AET 3,010 A 630 0 0 0 630 0 0 0 79.7
(IRZ)IIET) ® itE | B 800 0 0 0 800 0 0 0
ZEE | C 1,580 0 0 0 1,580 0 0 0
it 3,010 0 0 0 3,010 0 0 0
A 160 0 0 0 160 0 0 0
HEF| B 760 0 0 0 760 0 0 0
ZEE | C 1,480 0 0 0 1,480 0 0 0
it 2,400 0 0 0 2,400 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 40 0 0 0 40 0 0 0
ZEE | C 100 0 0 0 100 0 0 0
it 140 0 0 0 140 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Bt |[FEM 3.4. 603 | KEEFHEIR 1,660 A 730 0 0 0 670 60 0 0| 572
(IBZ2)1IET) R iE | B 200 0 0 0 100 100 0 0
EE | C 730 0 0 0 520 210 0 0
B 1,660 0 0 0 1,290 370 0 0
A 730 0 0 0 670 60 0 0
HEF|(B 200 0 0 0 100 100 0 0
EE | C 20 0 0 0 0 20 0 0
B 950 0 0 0 770 180 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bt |[FEH 3.4.604 |hR#R 2,180 A 2,080 0 0 0 2,080 0 0 0| 560
(IBZ)I18T) 5@ | B 100 0 0 0 100 0 0 0
EE | C 0 0 0 0 0 0 0 0
g 2,180 0 0 0 2,180 0 0 0
A 1,220 0 0 0 1,220 0 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,220 0 0 0 1,220 0 0 0
A 70 0 0 0 70 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 70 0 0 0 70 0 0 0
Bt |[FEH 3.4. 606 | KATILHTH 1,040 A 390 0 0 0 390 0 0 0| 577
[(zE3N:p) #® itE | B 300 0 0 0 240 60 0 0
EE | C 350 0 0 0 0 350 0 0
B 1,040 0 0 0 630 410 0 0
A 0 0 0 0 0 0 0 0
WwEF|(B 300 0 0 0 240 60 0 0
EE | C 300 0 0 0 0 300 0 0
B 600 0 0 0 240 360 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |[FEH 3.4. 608 | LUK &R ET 1,060 A 770 0 0 0 470 300 0 0| 736
[(zE3N:p) #® itE (B 0 0 0 0 0 0 0 0
EE | C 290 0 0 0 290 0 0 0
it 1,060 0 0 0 760 300 0 0
A 550 0 0 0 470 80 0 0
HRE|B 0 0 0 0 0 0 0 0
ZEE | C 230 0 0 0 230 0 0 0
it 780 0 0 0 700 80 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
ik [REN 3.4.609 |)11543 2,700 A 0 0 0 0 0 0 0 0| 541
(IBZ)I1HT) iE (B 870 0 0 0 870 0 0 0
ZEE | C 1,830 0 0 0 1,480 350 0 0
it 2,700 0 0 0 2,350 350 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 1,460 0 0 0 1,460 0 0 0
it 1,460 0 0 0 1,460 0 0 0
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |FEH 3.5. 605 | RETITIER 790 A 790 0 0 0 360 430 0 0 7.6
(IRZ)IIET) i itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 790 0 0 0 360 430 0 0
A 60 0 0 0 60 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 60 0 0 0 60 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0

_85_




12. (10)18 B 7B & (SR E )
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Bt |[FEM 3.5. 607 | KETE &R 1,330 A 1,240 0 0 0 0 1,240 0 0 18.8
(IBZ2)1IET) R iE | B 0 0 0 0 0 0 0 0
EE | C 90 0 0 0 0 90 0 0
B 1,330 0 0 0 0 1,330 0 0
A 250 0 0 0 0 250 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 250 0 0 0 0 250 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bt |[FEH 3.5. 610 | Ei#EiR/\ & 880 A 150 0 0 0 0 150 0 0 0.0
[(E30:p) #® itE | B 330 0 0 0 0 330 0 0
EE | C 400 0 0 0 0 400 0 0
g 880 0 0 0 0 880 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bt |[FEH 3.4.501 | R154R 2,030 A 1,860 0 0 0 1,570 290 0 0| 1000
(IBR[RET) itE [ B 170 0 0 0 170 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,030 0 0 0 1,740 290 0 0
A 1,810 0 0 0 1,520 290 0 0
WwEF|(B 220 0 0 0 220 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,030 0 0 0 1,740 290 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |[FEH 3.4.502 |lLORERER 2,360 A 1,310 0 0 0 620 690 0 0| 449
(IB{RRET) iE (B 760 0 0 0 760 0 0 0
EE | C 290 0 0 0 0 290 0 0
it 2,360 0 0 0 1,380 980 0 0
A 10 0 0 0 10 0 0 0
HR&|B 760 0 0 0 760 0 0 0
ZEE | C 290 0 0 0 0 290 0 0
it 1,060 0 0 0 770 290 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
Bt |[FEH 3.4.503 |[EE#R 2,370 A 1,460 0 0 350 350 760 0 0| 785
(IB{RRET) & (B 0 0 0 0 0 0 0 0
ZEE | C 910 0 0 0 910 0 0 0
Hi 2,370 0 0 350 1,260 760 0 0
A 1,460 0 0 350 350 760 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 400 0 0 0 400 0 0 0
it 1,860 0 0 350 750 760 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bt |FEH 3.5. 504 | JIHR R R 2,410 A 1,500 0 0 0 860 640 0 0| 548
(IB{R[RET) itE | B 0 0 0 0 0 0 0 0
ZEE | C 910 0 0 0 0 910 0 0
Hi 2,410 0 0 0 860 1,550 0 0
A 410 0 0 0 410 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 910 0 0 0 0 910 0 0
Hi 1,320 0 0 0 410 910 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Bt |[FEM 3.5. 505 | & HR2 5 4R 3,260 A 2,110 0 0 0 0 2,110 0 0| 699
(IB{RIRET) iE | B 370 0 0 0 0 370 0 0
EE | C 780 0 0 0 0 780 0 0
B 3,260 0 0 0 0 3,260 0 0
A 1,560 0 0 0 0 1,560 0 0
HEF|(B 370 0 0 0 0 370 0 0
EE | C 350 0 0 0 0 350 0 0
B 2,280 0 0 0 0 2,280 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Bt |[FEH 3.5. 506 | TTAER 1,050 A 650 0 0 0 0 650 0 0 0.0
(IB{RRED) 5@ | B 0 0 0 0 0 0 0 0
EE | C 400 0 0 0 0 400 0 0
g 1,050 0 0 0 0 1,050 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Brh | 3.1. 166 |ERLLET R 800 A 700 700 0 0 0 0 0 0 15.0
R i@ (B 100 100 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 800 800 0 0 0 0 0 0
A 120 120 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 120 120 0 0 0 0 0 0
A 170 170 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 170 170 0 0 0 0 0 0
B |BUTH 3.3. 101 |FaERER4R 12,720 A 4,950 0 4,950 0 0 0 0 0| 921
itE | B 5,400 0 5,400 0 0 0 0 0
EE | C 2,370 0 2,370 0 0 0 0 0
it 12,720 0| 12720 0 0 0 0 0
A 3,950 0 3,950 0 0 0 0 0
HEF(B 5,400 0 5,400 0 0 0 0 0
ZEE | C 2,370 0 2,370 0 0 0 0 0
5| 11,720 0| 11,720 0 0 0 0 0
A 1,000 0 1,000 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 1,000 0 1,000 0 0 0 0 0
B BT 3.3.102 | FAIRETER 7,420 A 4,050 0 0 2,850 1,200 0 0 0| 546
" E | B 1,570 0 0 900 670 0 0 0
ZEE | C 1,800 0 0 0 1,800 0 0 0
Hi 7,420 0 0 3,750 3,670 0 0 0
A 4,050 0 0 2,850 1,200 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 4,050 0 0 2,850 1,200 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 900 0 0 900 0 0 0 0
ZEE | C 1,800 0 0 0 1,800 0 0 0
it 2,700 0 0 900 1,800 0 0 0
B BT 3.3.103 |&BLLA >4 4,710 A 1,130 0 0 1,130 0 0 0 0 73.0
—iR itE (B 2,760 0 0 2,760 0 0 0 0
ZEE | C 820 0 0 820 0 0 0 0
it 4710 0 0 4710 0 0 0 0
A 1,130 0 0 1,130 0 0 0 0
HEE| B 2,306 0 0 2,306 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 3,436 0 0 3,436 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 750 0 0 750 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 750 0 0 750 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B &R 3.3. 104 |NIBREE 14,500 A 8,780 0 0 7,780 1,000 0 0 0| 639
tE | B 5,720 0 0 5,220 500 0 0 0
EE | C 0 0 0 0 0 0 0 0
[ 14500 0 0| 13000 1,500 0 0 0
A 7,701 0 0 6,701 1,000 0 0 0
HEF|(B 1,565 0 0 1,065 500 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 9,266 0 0 7,766 1,500 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bk | 3.3. 105 | ARHT & #14k 3,860 A 3,860 0 0 2,000 1,860 0 0 0| 527
#3® itE (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 3,860 0 0 2,000 1,860 0 0 0
A 2,034 0 0 1,315 719 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,034 0 0 1,315 719 0 0 0
A 1,541 0 0 400 1,141 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,541 0 0 400 1,141 0 0 0
Brh | 33.106 | KERASFH 2,150 A 1,150 0 0 1,150 0 0 0 0| 767
R iHE (B 1,000 0 0 1,000 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,150 0 0 2,150 0 0 0 0
A 650 0 0 650 0 0 0 0
HWERF(B 1,000 0 0 1,000 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,650 0 0 1,650 0 0 0 0
A 500 0 0 500 0 0 0 0
B | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 500 0 0 500 0 0 0 0
Brh | 3.3. 109 |ER AT K ETHR 550 A 550 0 0 250 300 0 0 0| 782
& (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 550 0 0 250 300 0 0 0
A 430 0 0 130 300 0 0 0
HRE|B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 430 0 0 130 300 0 0 0
A 120 0 0 120 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 120 0 0 120 0 0 0 0
B BT 3.3. 118 |2 HEIE R 4,200 A 0 0 0 0 0 0 0 0| 786
itE | B 0 0 0 0 0 0 0 0
ZEE | C 4,200 0 0 3,300 900 0 0 0
Hi 4,200 0 0 3,300 900 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 3,300 0 0 3,300 0 0 0 0
it 3,300 0 0 3,300 0 0 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ZEE | C 900 0 0 0 900 0 0 0
it 900 0 0 0 900 0 0 0
B BT 3.3. 131 | KETHEIR IR 920 A 920 0 0 920 0 0 0 0| 1000
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 920 0 0 920 0 0 0 0
A 920 0 0 920 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 920 0 0 920 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0

_88_




12. (10)18 B 7B & (SR E )
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B &R 3.3. 132 |RER1 B4R 630 A 630 0 0 630 0 0 0 0| 1000
iHiE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 630 0 0 630 0 0 0 0
A 630 0 0 630 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 630 0 0 630 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bk | 3.3.135 |JIIEK{ER 5,850 A 2,020 0 0 0 0 2,020 0 0| 872
#® itE | B 1,000 0 0 0 0 1,000 0 0
EE | C 2,830 0 0 2,460 0 370 0 0
it 5,850 0 0 2,460 0 3,390 0 0
A 1,270 0 0 0 0 1,270 0 0
EERAE 1,000 0 0 1,000 0 0 0 0
EE | C 2,830 0 0 2,830 0 0 0 0
&t 5,100 0 0 3,830 0 1,270 0 0
A 750 0 0 0 0 750 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 750 0 0 0 0 750 0 0
B [ERILT 3.3. 145 (IR TR B 6,120 A 350 0 0 350 0 0 0 0| 1000
itE (B 2,660 0 0 2,530 130 0 0 0
EE | C 3,110 0 0 2,440 670 0 0 0
it 6,120 0 0 5,320 800 0 0 0
A 350 0 0 350 0 0 0 0
HERX|B 2,660 0 0 2,530 130 0 0 0
EE | C 3,110 0 0 2,440 670 0 0 0
it 6,120 0 0 5,320 800 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BBUTH 33.163 [ENIXREF 2,360 A 700 0 0 700 0 0 0 of 106
#® itE | B 600 0 0 600 0 0 0 0
EE | C 1,060 0 0 1,060 0 0 0 0
it 2,360 0 0 2,360 0 0 0 0
A 250 0 0 250 0 0 0 0
HwR&|B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 250 0 0 250 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 1,060 0 0 1,060 0 0 0 0
Hi 1,060 0 0 1,060 0 0 0 0
B BT 3.3.167 |RBRLFE1 S 270 A 270 0 0 270 0 0 0 0| 1000
3R itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 270 0 0 270 0 0 0 0
A 270 0 0 270 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 270 0 0 270 0 0 0 0
A 0 0 0 0 0 0 0 0
BE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 3.3.168 |ARILFE2S 710 A 710 0 0 710 0 0 0 0| 1000
i itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 710 0 0 710 0 0 0 0
A 710 0 0 710 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 710 0 0 710 0 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B &R 3.3.169 |ERILFISE 320 A 320 0 0 320 0 0 0 0| 1000
R iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 320 0 0 320 0 0 0 0
A 320 0 0 320 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 320 0 0 320 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B | 34.2 |EE4ER 15,700 A 9,150 0 3,350 0 5,800 0 0 0| 615
iiE | B 3,550 0 0 0 3,550 0 0 0
EE | C 3,000 0 0 0 3,000 0 0 0
E 15,700 0 3,350 of 12350 0 0 0
A 5,400 0 3,000 0 2,400 0 0 0
EERAE 2,350 0 0 0 2,350 0 0 0
EE | C 1,900 0 0 0 1,900 0 0 0
B 9,650 0 3,000 0 6,650 0 0 0
A 3,750 0 350 0 3,400 0 0 0
BEE | B 1,200 0 0 0 1,200 0 0 0
EE | C 1,100 0 0 0 1,100 0 0 0
B 6,050 0 350 0 5,700 0 0 0
Brh | 3.4.107 |ERILER BB 7,870 A 5,520 0 350 0 5,170 0 0 0| 917
[RiR itE | B 0 0 0 0 0 0 0 0
EE | C 2,350 0 0 0 2,350 0 0 0
B 7,870 0 350 0 7,520 0 0 0
A 5,520 0 350 0 5,170 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 1,700 0 0 0 1,700 0 0 0
B 7,220 0 350 0 6,870 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 650 0 0 0 650 0 0 0
it 650 0 0 0 650 0 0 0
Brh BB 3.4.108 | ERT A #h 7,370 A 3,950 0 0 0 3,950 0 0 0| 672
MR #E (B 1,500 0 0 500 1,000 0 0 0
EE | C 1,920 0 0 450 1,470 0 0 0
it 7,370 0 0 950 6,420 0 0 0
A 3,950 0 0 0 3,950 0 0 0
HEF(B 1,000 0 0 0 1,000 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 4,950 0 0 0 4,950 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 500 0 0 500 0 0 0 0
EE | C 1,470 0 0 0 1,470 0 0 0
it 1,970 0 0 500 1,470 0 0 0
B [BRLT 34. 110 |BEAtED 2,620 A 2,320 0 0 1,120 1,200 0 0 of 731
RT#R #E (B 300 0 0 0 300 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 2,620 0 0 1,120 1,500 0 0 0
A 1,616 0 0 416 1,200 0 0 0
HE%E| B 300 0 0 0 300 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,916 0 0 416 1,500 0 0 0
A 704 0 0 704 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 704 0 0 704 0 0 0 0
B BRI 3.4. 111 | ERRRR 10,770 A 9,280 0 0 1,500 6,080 1,700 0 o 568
iHE (B 1,490 0 0 0 1,490 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it[ 10770 0 0 1,500 7,570 1,700 0 0
A 4,624 0 0 33 4,591 0 0 0
HE%| B 1,490 0 0 0 1,490 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 6,114 0 0 33 6,081 0 0 0
A 700 0 0 0 700 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 700 0 0 0 700 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Rep [ERILT 3.4. 112 (BRATIEER 1,220 A 1,220 0 0 0 810 410 0 o 699
iHiE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,220 0 0 0 810 410 0 0
A 853 0 0 0 810 43 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 853 0 0 0 810 43 0 0
A 367 0 0 0 0 367 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 367 0 0 0 0 367 0 0
B [ERILT 34,113 [SREZEBILER 5,130 A 2,670 0 0 0 1,920 750 0 o 704
& (B 0 0 0 0 0 0 0 0
EE | C 2,460 0 0 0 0 2,460 0 0
it 5,130 0 0 0 1,920 3,210 0 0
A 1,150 0 0 0 400 750 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 2,460 0 0 0 0 2,460 0 0
&t 3,610 0 0 0 400 3,210 0 0
A 1,520 0 0 0 1,520 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,520 0 0 0 1,520 0 0 0
B BRI 3.4. 114 | BiBERATIR 700 A 0 0 0 0 0 0 0 0] 67.1
iE (B 470 0 0 0 340 130 0 0
EE | C 230 0 0 0 0 230 0 0
it 700 0 0 0 340 360 0 0
A 0 0 0 0 0 0 0 0
WERF(B 470 0 0 0 340 130 0 0
EE | C 0 0 0 0 0 0 0 0
it 470 0 0 0 340 130 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BRI 3.4. 115 |BIHHEF 1,600 A 920 0 0 0 920 0 0 0| 1000
#3® itE | B 460 0 0 0 460 0 0 0
EE | C 220 0 0 0 220 0 0 0
it 1,600 0 0 0 1,600 0 0 0
A 920 0 0 0 920 0 0 0
HERF(B 460 0 0 0 460 0 0 0
ZEE | C 220 0 0 0 220 0 0 0
it 1,600 0 0 0 1,600 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 3.4. 116 |AiHZRIE 1,940 A 500 0 0 0 500 0 0 0 0.0
" E [ B 1,440 0 0 0 1,440 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,940 0 0 0 1,940 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 500 0 0 0 500 0 0 0
BRE | B 1,440 0 0 0 1,440 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,940 0 0 0 1,940 0 0 0
B BT 34. 117 |fEEITENE 4,180 A 3,220 0 0 0 1,070 2,150 0 0| 467
#® iE [ B 960 0 0 0 960 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 4,180 0 0 0 2,030 2,150 0 0
A 990 0 0 0 590 400 0 0
HEF| B 960 0 0 0 960 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,950 0 0 0 1,550 400 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B &R 34.128 |HfIA1S 1,700 A 0 0 0 0 0 0 0 0| 524
% itE | B 1,700 0 0 0 0 1,700 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,700 0 0 0 0 1,700 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 890 0 0 0 0 890 0 0
EE | C 0 0 0 0 0 0 0 0
H 890 0 0 0 0 890 0 0
A 0 0 0 0 0 0 0 0
WEE | B 600 0 0 0 0 600 0 0
EE | C 0 0 0 0 0 0 0 0
B 600 0 0 0 0 600 0 0
B | 3.4. 130 | R¥EK BEER 830 A 510 0 0 0 510 0 0 0 17.3
AITER itE | B 320 0 0 0 320 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 830 0 0 0 830 0 0 0
A 144 0 0 0 144 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 144 0 0 0 144 0 0 0
A 420 0 0 0 420 0 0 0
BRF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 420 0 0 0 420 0 0 0
Brh | 34.142 |)\lLA1S 1,490 A 0 0 0 0 0 0 0 0| 510
#® itE | B 760 0 0 0 760 0 0 0
EE | C 730 0 0 0 730 0 0 0
i 1,490 0 0 0 1,490 0 0 0
A 0 0 0 0 0 0 0 0
WEF|(B 760 0 0 0 760 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 760 0 0 0 760 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Brh | 3.4.143 |/\lLE2E 1,780 A 0 0 0 0 0 0 0 0| 1000
#® E (B 1,780 0 0 0 1,780 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,780 0 0 0 1,780 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 1,780 0 0 0 1,780 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,780 0 0 0 1,780 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BRI 3.4. 144 |)\ILE3E 1,040 A 0 0 0 0 0 0 0 0| 615
" E | B 1,040 0 0 0 1,040 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 1,040 0 0 0 1,040 0 0 0
A 0 0 0 0 0 0 0 0
HRE|B 640 0 0 0 640 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 640 0 0 0 640 0 0 0
A 0 0 0 0 0 0 0 0
#aE [ B 400 0 0 0 400 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 400 0 0 0 400 0 0 0
B BT 3.4. 148 |FREHHITE/ 3,080 A 310 0 0 0 310 0 0 0| 383
LR itE | B 650 0 0 0 650 0 0 0
ZEE | C 2,120 0 0 0 2,120 0 0 0
it 3,080 0 0 0 3,080 0 0 0
A 0 0 0 0 0 0 0 0
HERFE| B 650 0 0 0 650 0 0 0
ZEE | C 530 0 0 0 530 0 0 0
it 1,180 0 0 0 1,180 0 0 0
A 0 0 0 0 0 0 0 0
ALK | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B &R 34.152 |HIIEEA 1,100 A 0 0 0 0 0 0 0 o| 718
R iE | B 790 0 790 0 0 0 0 0
EE | C 310 0 310 0 0 0 0 0
B 1,100 0 1,100 0 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 790 0 790 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 790 0 790 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 310 0 310 0 0 0 0 0
B 310 0 310 0 0 0 0 0
B | 3.4.153 |HfI@A25 670 A 0 0 0 0 0 0 0 0| 328
#® itE | B 520 0 0 0 520 0 0 0
EE | C 150 0 0 0 150 0 0 0
E 670 0 0 0 670 0 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 220 0 0 0 220 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 220 0 0 0 220 0 0 0
A 0 0 0 0 0 0 0 0
BRF| B 300 0 0 0 300 0 0 0
EE | C 150 0 0 0 150 0 0 0
B 450 0 0 0 450 0 0 0
Brh | 3.4. 154 |FLHEMLR 4,390 A 450 0 0 0 450 0 0 0| 665
itE [ B 2,620 0 0 0 2,620 0 0 0
EE | C 1,320 0 0 0 1,320 0 0 0
B 4,390 0 0 0 4,390 0 0 0
A 0 0 0 0 0 0 0 0
BERAE 2,220 0 0 0 2,220 0 0 0
EE | C 700 0 0 0 700 0 0 0
B 2,920 0 0 0 2,920 0 0 0
A 0 0 0 0 0 0 0 0
B | B 400 0 0 0 400 0 0 0
EE | C 620 0 0 0 620 0 0 0
it 1,020 0 0 0 1,020 0 0 0
B BT 34.155 |EHE1S 320 A 0 0 0 0 0 0 0 0| 1000
#® itE | B 320 0 0 0 320 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 320 0 0 0 320 0 0 0
A 0 0 0 0 0 0 0 0
HWEF(B 320 0 0 0 320 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 320 0 0 0 320 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B BT 34.156 |EHE25 1,040 A 0 0 0 0 0 0 0 0| 538
#® E [ B 1,040 0 0 0 1,040 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,040 0 0 0 1,040 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 560 0 0 0 560 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 560 0 0 0 560 0 0 0
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 3.4. 164 [{REAE1 940 A 940 0 0 0 940 0 0 0| 248
SR itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 940 0 0 0 940 0 0 0
A 233 0 0 0 233 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 233 0 0 0 233 0 0 0
A 640 0 0 0 640 0 0 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 640 0 0 0 640 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH ﬁ.
HE | mETRE | &8 E2 G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< 'ﬁ%
B &R 3.4.165 |{FE A2 560 A 0 0 0 0 0 0 0 0| 518
SR iE | B 560 0 0 0 560 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 560 0 0 0 560 0 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 290 0 0 0 290 0 0 0
EE | C 0 0 0 0 0 0 0 0
H 290 0 0 0 290 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 270 0 0 0 270 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 270 0 0 0 270 0 0 0
B | 35.3 |FBTER 15,900 A 8,000 0 0 3,800 700 3,500 0 0| 387
iiE | B 4,800 0 0 4,800 0 0 0 0
EE | C 3,100 0 0 500 0 2,600 0 0
| 15900 0 0 9,100 700 6,100 0 0
A 3,000 0 0 3,000 0 0 0 0
HwEF|(B 2,650 0 0 2,650 0 0 0 0
EE | C 500 0 0 500 0 0 0 0
B 6,150 0 0 6,150 0 0 0 0
A 5,000 0 0 800 700 3,500 0 0
[ B 2,150 0 0 2,150 0 0 0 0
EE | C 2,600 0 0 0 0 2,600 0 0
B 9,750 0 0 2,950 700 6,100 0 0
B [ERILT 35. 119 [BBJIZK 8,610 A 6,210 0 0 0 0 6,210 0 o 285
HAER itE | B 1,400 0 0 0 0 1,400 0 0
EE | C 1,000 0 0 0 0 1,000 0 0
B 8,610 0 0 0 0 8,610 0 0
A 2,450 0 0 0 0 2,450 0 0
WEF|(B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,450 0 0 0 0 2,450 0 0
A 3,760 0 0 0 0 3,760 0 0
#aE [ B 1,400 0 0 0 0 1,400 0 0
EE | C 1,000 0 0 0 0 1,000 0 0
it 6,160 0 0 0 0 6,160 0 0
Brh | 3.5. 120 | UL FH R 870 A 0 0 0 0 0 0 0 0| 552
@ | B 870 0 0 0 480 390 0 0
EE | C 0 0 0 0 0 0 0 0
it 870 0 0 0 480 390 0 0
A 0 0 0 0 0 0 0 0
HR&|B 480 0 0 0 480 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 480 0 0 0 480 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 390 0 0 0 0 390 0 0
EE | C 0 0 0 0 0 0 0 0
it 390 0 0 0 0 390 0 0
Brh | 3.5.121 |HFIA/MD 3,430 A 0 0 0 0 0 0 0 0 44
ER & (B 650 0 0 0 200 450 0 0
EE | C 2,780 0 0 0 0 2,780 0 0
Hi 3,430 0 0 0 200 3,230 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 150 0 0 0 0 150 0 0
it 150 0 0 0 0 150 0 0
A 0 0 0 0 0 0 0 0
#kE [ B 0 0 0 0 0 0 0 0
ZEE | C 2,350 0 0 0 0 2,350 0 0
it 2,350 0 0 0 0 2,350 0 0
B BT 3.5. 122 | R A A #04R 1,300 A 0 0 0 0 0 0 0 0 0.0
& (B 1,220 0 0 0 0 1,220 0 0
ZEE | C 80 0 0 0 0 80 0 0
Hi 1,300 0 0 0 0 1,300 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 620 0 0 0 0 620 0 0
EE | C 80 0 0 0 0 80 0 0
&t 700 0 0 0 0 700 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH ﬁ.
HE | mETRE | &8 E2 G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BERF
K4 * Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () ﬁ%
B &R 35.123 | REBTIEER 3,540 A 3,490 0 0 0 0 3,490 0 0| 903
AR iE | B 50 0 0 0 0 50 0 0
EE | C 0 0 0 0 0 0 0 0
it 3,540 0 0 0 0 3,540 0 0
A 3,147 0 0 0 0 3,147 0 0
HEF| B 50 0 0 0 0 50 0 0
EE | C 0 0 0 0 0 0 0 0
&t 3,197 0 0 0 0 3,197 0 0
A 343 0 0 0 0 343 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 343 0 0 0 0 343 0 0
B | 35. 124 |+ ERR& 2,240 A 1,230 0 0 0 0 1,230 0 0| 259
=R & (B 1,010 0 0 0 0 1,010 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,240 0 0 0 0 2,240 0 0
A 0 0 0 0 0 0 0 0
EERAE 580 0 0 0 0 580 0 0
EE | C 0 0 0 0 0 0 0 0
it 580 0 0 0 0 580 0 0
A 1,230 0 0 0 0 1,230 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,230 0 0 0 0 1,230 0 0
Bk | 35.125 |RILFTitT 2,000 A 1,580 0 0 0 0 1,580 0 o| 710
R itE | B 220 0 0 0 0 220 0 0
EE | C 200 0 0 0 0 200 0 0
it 2,000 0 0 0 0 2,000 0 0
A 1,420 0 0 0 0 1,420 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,420 0 0 0 0 1,420 0 0
A 0 0 0 0 0 0 0 0
BERE | B 0 0 0 0 0 0 0 0
EE | C 170 0 0 0 0 170 0 0
it 170 0 0 0 0 170 0 0
B BRI 35.126 |BEAMTR 2,640 A 2,410 0 0 0 0 2,410 0 0 0.0
AT itE | B 0 0 0 0 0 0 0 0
ZEE | C 230 0 0 0 0 230 0 0
it 2,640 0 0 0 0 2,640 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 3.5. 127 |Ta[R B RER 3,300 A 0 0 0 0 0 0 0 0| 1000
itE | B 1,350 0 0 0 0 1,350 0 0
ZEE | C 1,950 0 0 0 0 1,950 0 0
it 3,300 0 0 0 0 3,300 0 0
A 0 0 0 0 0 0 0 0
HRE|B 1,350 0 0 0 0 1,350 0 0
ZEE | C 1,950 0 0 0 0 1,950 0 0
it 3,300 0 0 0 0 3,300 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 35.129 | R#R 130 A 0 0 0 0 0 0 0 0| 1000
tE | B 130 0 0 0 0 130 0 0
EE | C 0 0 0 0 0 0 0 0
&t 130 0 0 0 0 130 0 0
A 0 0 0 0 0 0 0 0
E=RAE 130 0 0 0 0 130 0 0
EE | C 0 0 0 0 0 0 0 0
&t 130 0 0 0 0 130 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH ﬁ.
HE | mETRE | &8 E2 G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< 'ﬁ%
B &R 35.146 |FiB1E5HR 1,780 A 0 0 0 0 0 0 0 0| 1000
tE | B 1,780 0 0 0 0 1,780 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,780 0 0 0 0 1,780 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 1,780 0 0 0 0 1,780 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,780 0 0 0 0 1,780 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
B | 35.157 |EA®RS3S 940 A 0 0 0 0 0 0 0 0| 894
#® itE | B 940 0 0 0 0 940 0 0
EE | C 0 0 0 0 0 0 0 0
&t 940 0 0 0 0 940 0 0
A 0 0 0 0 0 0 0 0
EERAE 840 0 0 0 0 840 0 0
EE | C 0 0 0 0 0 0 0 0
&t 840 0 0 0 0 840 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Brh | 35.158 |EAHEH 1,420 A 0 0 0 0 0 0 0 0| 965
# itE | B 1,420 0 0 0 0 1,420 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,420 0 0 0 0 1,420 0 0
A 0 0 0 0 0 0 0 0
HR%E| B 1,370 0 0 0 0 1,370 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,370 0 0 0 0 1,370 0 0
A 0 0 0 0 0 0 0 0
| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [BEENTH 33.1 |EE4ER 7,580 A 3,240 0 0 3,240 0 0 0 0| 1000
itE | B 2,130 220 110 1,800 0 0 0 0
EE | C 2,210 110 0 2,100 0 0 0 0
it 7,580 330 110 7,140 0 0 0 0
A 3,240 0 0 3,240 0 0 0 0
HEF(B 2,130 220 110 1,800 0 0 0 0
EE | C 2,210 110 0 2,100 0 0 0 0
it 7,580 330 110 7,140 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B |ZBE)ITH 33.4 |EiE118 2,480 A 0 0 0 0 0 0 0 0| 1000
SR & (B 60 60 0 0 0 0 0 0
EE | C 2,420 150 0 2,270 0 0 0 0
it 2,480 210 0 2270 0 0 0 0
A 0 0 0 0 0 0 0 0
HRE|B 60 60 0 0 0 0 0 0
ZEE | C 2,420 150 0 2,270 0 0 0 0
it 2,480 210 0 2270 0 0 0 0
A 0 0 0 0 0 0 0 0
HE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 3.3.101 |FaERER AR 40 A 0 0 0 0 0 0 0 o[ 1000
itE | B 0 0 0 0 0 0 0 0
ZEE | C 40 40 0 0 0 0 0 0
it 40 40 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
ZER | C 40 40 0 0 0 0 0 0
it 40 40 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B (BB 3.3. 201 | SRETEE)IIHR 2,200 A 1,740 0 0 1,330 410 0 0 0| 905
tE | B 460 0 0 460 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,200 0 0 1,790 410 0 0 0
A 1,530 0 0 1,330 200 0 0 0
HEF|(B 460 0 0 460 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 1,990 0 0 1,790 200 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [BEENTH 3.3. 202 | ERIRIR IR 5,110 A 2,000 0 80 1,920 0 0 0 0| 1000
itE [ B 1,480 0 140 1,340 0 0 0 0
ZER | C 1,630 0 0 1,630 0 0 0 0
it 5,110 0 220 4,890 0 0 0 0
A 2,000 0 80 1,920 0 0 0 0
EERAE 1,480 0 140 1,340 0 0 0 0
ZER | C 1,630 0 0 1,630 0 0 0 0
it 5,110 0 220 4,890 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B BT 33.214 |—EIBREE 1,690 A 580 0 0 580 0 0 0 0| 1000
#® itE | B 40 0 0 40 0 0 0 0
ZER | C 1,070 0 0 1,070 0 0 0 0
it 1,690 0 0 1,690 0 0 0 0
A 580 0 0 580 0 0 0 0
BERAE 40 0 0 40 0 0 0 0
ZER | C 1,070 0 0 1,070 0 0 0 0
it 1,690 0 0 1,690 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EENW 3.3.230 | BB EHER 7,180 A 0 0 0 0 0 0 0 o 567
itE | B 260 0 0 260 0 0 0 0
ZER | C 6,920 920 340 5,660 0 0 0 0
it 7,180 920 340 5,920 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 260 0 0 260 0 0 0 0
ZER | C 3,810 920 340 2,550 0 0 0 0
Hi 4,070 920 340 2,810 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 3,110 0 0 0 0 3,110 0 0
it 3,110 0 0 0 0 3,110 0 0
B |ZBEIITH 34.203 |BE T —E1i8 4,100 A 1,220 0 0 0 1,220 0 0 0| 485
#® E | B 2,410 0 0 0 2,410 0 0 0
ER | C 470 0 0 0 470 0 0 0
it 4,100 0 0 0 4,100 0 0 0
A 1,220 0 0 0 1,220 0 0 0
BEEAE 768 0 0 0 768 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 1,988 0 0 0 1,988 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BBH 34.204 [BEIERT 1,200 A 700 0 0 90 610 0 0 o 383
STHER itE | B 300 0 0 0 300 0 0 0
EE | C 200 0 0 0 200 0 0 0
Hi 1,200 0 0 90 1,110 0 0 0
A 460 0 0 90 370 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 460 0 0 90 370 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
b EE i 1E8 | 40mski | 30msKki | 22m3Ki | 16m3Ki | 12mKiH | SBmakid .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B (BB 3.4.205 [[R/O®IH 6,160 A 3,650 0 0 1,260 2,390 0 0 o 894
JI#R iE | B 660 0 0 190 470 0 0 0
EE | C 1,850 0 0 0 1,850 0 0 0
B 6,160 0 0 1,450 4,710 0 0 0
A 3,650 0 0 1,260 2,390 0 0 0
HEF|(B 660 0 0 190 470 0 0 0
EE | C 1,200 0 0 0 1,200 0 0 0
B 5,510 0 0 1,450 4,060 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [BEENTH 3.4.206 |ZEE JIIER 2,440 A 2,440 0 0 0 2,440 0 0 0| 680
RETHR iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 2,440 0 0 0 2,440 0 0 0
A 1,660 0 0 0 1,660 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,660 0 0 0 1,660 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B |EBIH 3.4.207 |iEZHEZBEIL 980 A 700 0 0 0 700 0 0 0| 1000
#® itE | B 280 0 0 0 280 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 980 0 0 0 980 0 0 0
A 700 0 0 0 700 0 0 0
BERAE 280 0 0 0 280 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 980 0 0 0 980 0 0 0
A 0 0 0 0 0 0 0 0
BERE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EENW 3.4.208 | RARETIHF 2,610 A 1,580 0 0 0 1,580 0 0 0| 602
3R itE | B 430 0 0 0 430 0 0 0
EE | C 600 0 0 0 600 0 0 0
it 2,610 0 0 0 2,610 0 0 0
A 1,510 0 0 0 1,510 0 0 0
BEEAE 60 0 0 0 60 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Bt 1,570 0 0 0 1,570 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |ZBEITH 3.4.209 | L HFFNEER 1,490 A 1,110 0 0 0 1,110 0 0 0 0.0
#E [ B 180 0 0 0 180 0 0 0
EE | C 200 0 0 0 200 0 0 0
it 1,490 0 0 0 1,490 0 0 0
A 0 0 0 0 0 0 0 0
HR%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BEBH 3.4.210 |FEERFHR 560 A 130 0 0 0 130 0 0 0 0.0
itE | B 200 0 0 0 200 0 0 0
ZEE | C 230 0 0 0 230 0 0 0
it 560 0 0 0 560 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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B (BB 34.211 [RET—E1H 2,930 A 2,870 0 0 0 2,220 650 0 of 947
R iE | B 0 0 0 0 0 0 0 0
ZER | C 60 0 0 0 60 0 0 0
B 2,930 0 0 0 2,280 650 0 0
A 2,714 0 0 0 2,064 650 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 60 0 0 0 60 0 0 0
B 2,774 0 0 0 2,124 650 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [BEENTH 34.212 L EAFEBEER 1,950 A 1,580 0 0 0 1,580 0 0 0| 1000
iiE | B 370 0 0 0 370 0 0 0
ZER | C 0 0 0 0 0 0 0 0
E 1,950 0 0 0 1,950 0 0 0
A 1,580 0 0 0 1,580 0 0 0
EERAE 370 0 0 0 370 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,950 0 0 0 1,950 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B |EBIH 3.4. 213 [{REMRL 1,500 A 650 0 0 0 650 0 0 0| 1000
itE [ B 850 0 0 0 850 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,500 0 0 0 1,500 0 0 0
A 650 0 0 0 650 0 0 0
BEEAE 850 0 0 0 850 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,500 0 0 0 1,500 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EENIH 3.4.215 | RETTiIHF 1,430 A 850 0 0 0 850 0 0 o 490
1B #E (B 580 0 0 0 580 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,430 0 0 0 1,430 0 0 0
A 470 0 0 0 470 0 0 0
HERF(B 230 0 0 0 230 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 700 0 0 0 700 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |ZBEIITH 3.4.216 | FEHEFT/ 870 A 420 0 0 0 420 0 0 0| 1000
=R #E (B 450 0 0 0 450 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 870 0 0 0 870 0 0 0
A 420 0 0 0 420 0 0 0
HER%E| B 450 0 0 0 450 0 0 0
EE | C 0 0 0 0 0 0 0 0
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A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BEBH 3.4.219 [lLF L1ER 1,560 A 0 0 0 0 0 0 0 0| 1000
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it 1,560 0 0 0 1,560 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 870 0 0 0 870 0 0 0
EE | C 690 0 0 0 690 0 0 0
it 1,560 0 0 0 1,560 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B (BB 3.4.227 |EERHIIIER 800 A 0 0 0 0 0 0 0 0 0.0
R iE | B 800 0 0 0 800 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 800 0 0 0 800 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [BEENT 35.217 |AHEYT R 1,560 A 1,560 0 0 0 340 1,220 0 0| 429
#® itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
g 1,560 0 0 0 340 1,220 0 0
A 670 0 0 0 160 510 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 670 0 0 0 160 510 0 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B [BEENTH 35.218 | KET;EER 2,070 A 1,990 0 0 0 400 1,590 0 0| 464
& (B 80 0 0 0 0 80 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,070 0 0 0 400 1,670 0 0
A 960 0 0 0 400 560 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 960 0 0 0 400 560 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B [EENW 35.220 | R AWK 2,120 A 0 0 0 0 0 0 0 0| 811
TR & (B 1,280 0 0 0 0 1,280 0 0
EE | C 840 0 0 0 680 160 0 0
Hi 2,120 0 0 0 680 1,440 0 0
A 0 0 0 0 0 0 0 0
HEF(B 1,280 0 0 0 0 1,280 0 0
EE | C 440 0 0 0 280 160 0 0
Hi 1,720 0 0 0 280 1,440 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B |ZBE)ITH 3.5.229 |/\tELLE 1,330 A 770 0 0 0 0 770 0 0| 1000
3R itE | B 30 0 0 0 0 30 0 0
ZEE | C 530 0 0 0 530 0 0 0
it 1,330 0 0 0 530 800 0 0
A 770 0 0 0 0 770 0 0
HRE|B 30 0 0 0 0 30 0 0
ZEE | C 530 0 0 0 530 0 0 0
it 1,330 0 0 0 530 800 0 0
A 0 0 0 0 0 0 0 0
HE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |SBRET 33.1 |EE4ER 5,260 A 0 0 0 0 0 0 0 0 9.5
iHE [ B 3,760 1,160 2,600 0 0 0 0 0
ZEE | C 1,500 0 1,000 500 0 0 0 0
Hi 5,260 1,160 3,600 500 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 500 0 500 0 0 0 0 0
it 500 0 500 0 0 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 32.187|=a2—4" 1,040 A 180 0 180 0 0 0 0 0| 1000
URMR itE | B 860 0 860 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,040 0 1,040 0 0 0 0 0
A 180 0 180 0 0 0 0 0
HEF|(B 860 0 860 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,040 0 1,040 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhE |LvbhEH 33.1 #2848 28,070 A 2,110 0 0 2,110 0 0 0 o 823
z itE [ B 9,440 0 0 9,440 0 0 0 0
ZEE | c| 16520 0 o] 16520 0 0 0 0
it| 28,070 0 0| 28070 0 0 0 0
A 1,910 0 0 1,910 0 0 0 0
EERAE 9,320 0 0 9,320 0 0 0 0
ZEE | c| 11,880 0 o] 11,880 0 0 0 0
5] 23110 0 0| 23110 0 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWHE L hET 33.6 |L&XAIKF 7,700 A 1,290 0 0 1,290 0 0 0 o| 717
FEl#R itE | B 1,880 0 0 1,880 0 0 0 0
EE | C 4,530 0 0 4,530 0 0 0 0
it 7,700 0 0 7,700 0 0 0 0
A 1,290 0 0 1,290 0 0 0 0
HERF(B 1,880 0 0 1,880 0 0 0 0
EE | C 2,350 0 0 2,350 0 0 0 0
it 5,520 0 0 5,520 0 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3. 101 | &R 12,380 A 4,200 0 590 2,820 790 0 0 o 929
itE | B 3,690 0 0 3,690 0 0 0 0
EE | C 4,490 0 0 4,490 0 0 0 0
5| 12380 0 590 | 11,000 790 0 0 0
A 3,320 0 590 1,940 790 0 0 0
BEEAE 3,690 0 0 3,690 0 0 0 0
EE | C 4,490 0 0 4,490 0 0 0 0
5[ 11,5500 0 590 | 10,120 790 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3. 102 | N4RER F 45 7,120 A 4,030 0 0 3,180 850 0 0 0| 816
tE [ B 1,110 0 0 1,000 110 0 0 0
ZEE | C 1,980 0 0 1,590 390 0 0 0
it 7,120 0 0 5,770 1,350 0 0 0
A 3,640 0 0 2,790 850 0 0 0
HRE|B 430 0 0 320 110 0 0 0
ZEE | C 1,740 0 0 1,590 150 0 0 0
it 5,810 0 0 4,700 1,110 0 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3. 103 [RERZ AR 950 A 500 0 0 500 0 0 0 o 568
itE | B 110 0 0 110 0 0 0 0
ZEE | C 340 0 0 340 0 0 0 0
it 950 0 0 950 0 0 0 0
A 500 0 0 500 0 0 0 0
HEF%E| B 40 0 0 40 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 540 0 0 540 0 0 0 0
A 0 0 0 0 0 0 0 0
ALK | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 33.104 | EBERR 4,880 A 3,650 0 570 2,540 540 0 0 0| 1000
tE | B 830 0 0 0 830 0 0 0
EE | C 400 0 0 0 400 0 0 0
it 4,880 0 570 2,540 1,770 0 0 0
A 3,650 0 570 2,540 540 0 0 0
HEF|(B 830 0 0 0 830 0 0 0
EE | C 400 0 0 0 400 0 0 0
&t 4,880 0 570 2,540 1,770 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
WhHE |LbhET 3.3. 105 | RERT/\A 1,150 A 600 0 0 600 0 0 0 0| 1000
AR iE (B 550 0 0 550 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,150 0 0 1,150 0 0 0 0
A 600 0 0 600 0 0 0 0
EEEAE 550 0 0 550 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,150 0 0 1,150 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhHE |LhET 33. 117 | THREER 6,700 A 0 0 0 0 0 0 0 0| 1000
#3® iE (B 1,360 0 0 1,360 0 0 0 0
EE | C 5,340 0 0 5,340 0 0 0 0
it 6,700 0 0 6,700 0 0 0 0
A 0 0 0 0 0 0 0 0
HWERF(B 1,360 0 0 1,360 0 0 0 0
EE | C 5,340 0 0 5,340 0 0 0 0
it 6,700 0 0 6,700 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3.121 | BiH L IR 4,070 A 1,730 0 0 1,730 0 0 0 0| 828
itE | B 610 0 0 610 0 0 0 0
ZEE | C 1,730 0 0 1,030 700 0 0 0
it 4,070 0 0 3,370 700 0 0 0
A 1,730 0 0 1,730 0 0 0 0
HEF(B 610 0 0 610 0 0 0 0
ZEE | C 1,030 0 0 1,030 0 0 0 0
Hi 3,370 0 0 3,370 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3. 191 |/ R 3,530 A 0 0 0 0 0 0 0 0| 1000
KRR #E (B 400 0 0 400 0 0 0 0
ZEE | C 3,130 0 0 3,130 0 0 0 0
it 3,530 0 0 3,530 0 0 0 0
A 0 0 0 0 0 0 0 0
HRE|B 400 0 0 400 0 0 0 0
ZEE | C 3,130 0 0 3,130 0 0 0 0
it 3,530 0 0 3,530 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.3. 194 | T Mn 4,010 A 0 0 0 0 0 0 0 0| 474
=4 itE (B 2,360 0 0 2,360 0 0 0 0
ZEE | C 1,650 0 0 1,650 0 0 0 0
Hi 4,010 0 0 4,010 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 740 0 0 740 0 0 0 0
ZEE | C 1,160 0 0 1,160 0 0 0 0
Hi 1,900 0 0 1,900 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.3.201 | EFJIIKER 3,590 A 0 0 0 0 0 0 0 0| 883
BHETHR iE | B 0 0 0 0 0 0 0 0
EE | C 3,590 0 0 3,590 0 0 0 0
B 3,590 0 0 3,590 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 3,170 0 0 3,170 0 0 0 0
B 3,170 0 0 3,170 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE L bhET 3.3.208 |/\REM@A 310 A 310 0 0 310 0 0 0 0| 1000
KE#HR itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 310 0 0 310 0 0 0 0
A 310 0 0 310 0 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 310 0 0 310 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE L hET 34.2 |EE6ER 24,820 A| 13480 0 0 1,960 9,890 0 1,630 0| 908
E (B 7,830 0 0 0 1,960 1,100 4,770 0
EE | C 3,510 0 0 0 3,310 200 0 0
B 24,820 0 0 1,960 | 15160 1,300 6,400 0
Al 12450 0 0 1,960 8,860 0 1,630 0
HERX|B 6,590 0 0 0 1,590 230 4,770 0
EE | C 3,490 0 0 0 3,310 180 0 0
B 22,530 0 0 1,960 | 13,760 410 6,400 0
A 1,030 0 0 0 1,030 0 0 0
BRE | B 1,240 0 0 0 370 870 0 0
EE | C 20 0 0 0 0 20 0 0
it 2,290 0 0 0 1,400 890 0 0
LhE [LWhET 3.4.106 | EHD LR 830 A 830 0 0 0 830 0 0 0| 1000
#E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 830 0 0 0 830 0 0 0
A 830 0 0 0 830 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 830 0 0 0 830 0 0 0
A 0 0 0 0 0 0 0 0
W% | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhET 3.4.107 |ERATIRIIEE 460 A 460 0 0 0 460 0 0 0| 1000
1548 #E [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 460 0 0 0 460 0 0 0
A 460 0 0 0 460 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 460 0 0 0 460 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.4.108 |ERATR E W5 50 A 50 0 0 0 50 0 0 0| 1000
® itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 50 0 0 0 50 0 0 0
A 50 0 0 0 50 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 50 0 0 0 50 0 0 0
A 0 0 0 0 0 0 0 0
BE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 34.109 [{EH =R 2,440 A 0 0 0 0 0 0 0 0| 463
tE | B 1,130 0 0 0 1,130 0 0 0
EE | C 1,310 0 0 0 0 0 1,310 0
B 2,440 0 0 0 1,130 0 1,310 0
A 0 0 0 0 0 0 0 0
HEF(B 1,130 0 0 0 1,130 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,130 0 0 0 1,130 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhE [LhEM 34.110 [JIRBFR 1,270 A 1,270 0 0 0 1,270 0 0 o[ 1000
iiE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 1,270 0 0 0 1,270 0 0 0
A 1,270 0 0 0 1,270 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,270 0 0 0 1,270 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWHE L HET 34. 111 | 7R ERR 8,690 A 4,310 0 0 200 4,060 50 0 0| 854
iE (B 2,980 0 0 140 2,840 0 0 0
EE | C 1,400 0 0 0 570 830 0 0
B 8,690 0 0 340 7,470 880 0 0
A 4,220 0 0 200 3,970 50 0 0
HERX|B 2,730 0 0 140 2,590 0 0 0
EE | C 470 0 0 0 470 0 0 0
B 7,420 0 0 340 7,030 50 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhEH 34.112 [IERETILE 3,010 A 3,010 0 0 130 2,850 0 30 0| 1000
#3® iE (B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 3,010 0 0 130 2,850 0 30 0
A 3,010 0 0 130 2,850 0 30 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 3,010 0 0 130 2,850 0 30 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.4. 113 | HETIE AHET 820 A 820 0 0 0 550 270 0 0| 1000
#3® itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 820 0 0 0 550 270 0 0
A 820 0 0 0 550 270 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 820 0 0 0 550 270 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.4. 114 [/NKERET 2 850 A 850 0 0 0 470 380 0 0| 1000
FiR itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 850 0 0 0 470 380 0 0
A 850 0 0 0 470 380 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 850 0 0 0 470 380 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.4.115 | RIGET/NG 590 A 590 0 0 0 360 230 0 0| 1000
R iE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 590 0 0 0 360 230 0 0
A 590 0 0 0 360 230 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 590 0 0 0 360 230 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWHE L bhET 34.116 [{RHEIHR 1,320 A 1,110 0 0 0 1,110 0 0 0| 932
iiE | B 0 0 0 0 0 0 0 0
ZER | C 210 0 0 0 210 0 0 0
E 1,320 0 0 0 1,320 0 0 0
A 1,110 0 0 0 1,110 0 0 0
EERAE 0 0 0 0 0 0 0 0
ZER | C 120 0 0 0 120 0 0 0
B 1,230 0 0 0 1,230 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LhE [LWhET 34. 118 |;EH&H 500 A 500 0 0 0 500 0 0 o[ 1000
iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 500 0 0 0 500 0 0 0
A 500 0 0 0 500 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 500 0 0 0 500 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhEH 3.4.119 (WD L &R 1,080 A 1,080 0 0 0 1,080 0 0 0| 1000
#E (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,080 0 0 0 1,080 0 0 0
A 1,080 0 0 0 1,080 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 1,080 0 0 0 1,080 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhET 3.4.120 [{=HHE{Ek 4,000 A 2,480 0 0 0 1,850 200 430 0 39.0
" E | B 470 0 0 0 0 0 470 0
EE | C 1,050 0 0 0 1,050 0 0 0
it 4,000 0 0 0 2,900 200 900 0
A 1,090 0 0 0 460 200 430 0
HE%| B 470 0 0 0 0 0 470 0
EE | C 0 0 0 0 0 0 0 0
Hi 1,560 0 0 0 460 200 900 0
A 1,250 0 0 0 1,250 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,250 0 0 0 1,250 0 0 0
LhE [LWhET 3.4.123 |BIRITER 5,000 A 810 0 0 0 410 0 400 0| 430
itE (B 1,390 0 0 0 270 0 1,120 0
EE | C 2,800 0 0 0 2,800 0 0 0
Hi 5,000 0 0 0 3,480 0 1,520 0
A 810 0 0 0 410 0 400 0
HRE| B 1,340 0 0 0 220 0 1,120 0
EE | C 0 0 0 0 0 0 0 0
it 2,150 0 0 0 630 0 1,520 0
A 0 0 0 0 0 0 0 0
BE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0

- 108 -




12. (10)18 B 7B & (SR E )

H20/03/31 (A&

BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 34.124 |ZEB =M 3,100 A 2,400 0 0 0 2,400 0 0 0| 400
R iE | B 660 0 0 0 660 0 0 0
EE | C 40 0 0 0 40 0 0 0
B 3,100 0 0 0 3,100 0 0 0
A 1,100 0 0 0 1,100 0 0 0
HEF|(B 140 0 0 0 140 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,240 0 0 0 1,240 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWHE L bhET 34.125 | k(B H5 3,820 A 2,000 0 0 0 2,000 0 0 0| 487
JIER#R itE | B 1,820 0 0 0 1,820 0 0 0
EE | C 0 0 0 0 0 0 0 0
g 3,820 0 0 0 3,820 0 0 0
A 1,420 0 0 0 1,420 0 0 0
EERAE 440 0 0 0 440 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,860 0 0 0 1,860 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWHE |LhET 3.4.127 | = A LR 520 A 520 0 0 0 0 520 0 0| 442
& (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 520 0 0 0 0 520 0 0
A 230 0 0 0 0 230 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 230 0 0 0 0 230 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhEH 34.151 |#/ LTI 3,860 A 2,310 0 0 150 2,010 150 0 0 788
# itE | B 1,550 0 0 0 1,550 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 3,860 0 0 150 3,560 150 0 0
A 2,310 0 0 150 2,010 150 0 0
HEF(B 730 0 0 0 730 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 3,040 0 0 150 2,740 150 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 34.156 |*ETZR 120 A 120 0 0 0 120 0 0 0 75.0
3R itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 120 0 0 0 120 0 0 0
A 90 0 0 0 90 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 90 0 0 0 90 0 0 0
A 100 0 0 0 0 0 100 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 100 0 0 0 0 0 100 0
LhE [LWhET 3.4.167 |FIETA ) 650 A 650 0 0 0 650 0 0 0 64.6
AR itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 650 0 0 0 650 0 0 0
A 420 0 0 0 420 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 420 0 0 0 420 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.4.181 | BILKEA 1,530 A 170 0 0 0 170 0 0 0| 663
BTH#R iE | B 670 0 0 0 670 0 0 0
ZER | C 690 0 0 690 0 0 0 0
B 1,530 0 0 690 840 0 0 0
A 134 0 0 0 134 0 0 0
HEF|(B 530 0 0 0 530 0 0 0
ZR | C 350 0 0 350 0 0 0 0
B 1,014 0 0 350 664 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 132 0 0 132 0 0 0 0
B 132 0 0 132 0 0 0 0
LWHE L hEH 3.4.185 | RE#H T 3,990 A 0 0 0 0 0 0 0 0| 1000
iiE | B 2,280 0 1,730 0 550 0 0 0
ZER | C 1,710 0 150 0 1,560 0 0 0
E 3,990 0 1,880 0 2,110 0 0 0
A 0 0 0 0 0 0 0 0
EERAE 2,280 0 1,730 0 550 0 0 0
ZER | C 1,710 0 150 0 1,560 0 0 0
B 3,990 0 1,880 0 2,110 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE |LHET 3.4.188 |dLiFHIER 4,490 A 0 0 0 0 0 0 0 0| 1000
#® itE | B 2,860 0 0 0 2,860 0 0 0
ZER | C 1,630 0 0 0 1,630 0 0 0
B 4,490 0 0 0 4,490 0 0 0
A 0 0 0 0 0 0 0 0
BERAE 2,860 0 0 0 2,860 0 0 0
ZER | C 1,630 0 0 0 1,630 0 0 0
B 4,490 0 0 0 4,490 0 0 0
A 0 0 0 0 0 0 0 0
BERE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhEH 3.4.190 | EZ IR 330 A 240 0 0 0 240 0 0 o[ 1000
& (B 90 0 0 0 90 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 330 0 0 0 330 0 0 0
A 240 0 0 0 240 0 0 0
BEEAE 90 0 0 0 90 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 330 0 0 0 330 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.4.195 [BAMESR 5,520 A 0 0 0 0 0 0 0 o 647
#E [ B 3,540 0 0 0 3,540 0 0 0
ER | C 1,980 0 0 0 1,980 0 0 0
it 5,520 0 0 0 5,520 0 0 0
A 0 0 0 0 0 0 0 0
HRE|B 3,320 0 0 0 3,320 0 0 0
EE | C 250 0 0 0 250 0 0 0
it 3,570 0 0 0 3,570 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 220 0 0 0 220 0 0 0
EE | C 1,730 0 0 0 1,730 0 0 0
it 1,950 0 0 0 1,950 0 0 0
LhE [LWhET 34.203 [Za—%" 2,320 A 0 0 0 0 0 0 0 0| 1000
VEA2E itE [ B 2,320 0 0 0 1,620 700 0 0
#3® EE | C 0 0 0 0 0 0 0 0
Hi 2,320 0 0 0 1,620 700 0 0
A 0 0 0 0 0 0 0 0
HEF| B 2,320 0 0 0 1,620 700 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 2,320 0 0 0 1,620 700 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.4.204 |SREREMR 660 A 510 0 0 0 510 0 0 0| 350
tE | B 150 0 0 0 150 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 660 0 0 0 660 0 0 0
A 231 0 0 0 231 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 231 0 0 0 231 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
WhHE |LbhET 3.4. 205 |$RTEERR 660 A 660 0 0 0 660 0 0 0] 61.1
& (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 660 0 0 0 660 0 0 0
A 403 0 0 0 403 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 403 0 0 0 403 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhHE |LHET 3.4.209 |EARME/WL 3,630 A 0 0 0 0 0 0 0 0] 281
H R iE (B 2,130 0 0 0 1,630 260 240 0
EE | C 1,500 0 0 0 1,000 260 240 0
it 3,630 0 0 0 2,630 520 480 0
A 0 0 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 1,020 0 0 0 1,020 0 0 0
it 1,020 0 0 0 1,020 0 0 0
A 0 0 0 0 0 0 0 0
BERE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 35.3 [ENILsFrE 5,400 A 3,120 0 0 0 0 3,120 0 of 759
3R iE (B 2,180 0 0 0 0 2,180 0 0
EE | C 100 0 0 0 0 100 0 0
it 5,400 0 0 0 0 5,400 0 0
A 1,820 0 0 0 0 1,820 0 0
HEF(B 2,180 0 0 0 0 2,180 0 0
EE | C 100 0 0 0 0 100 0 0
Hi 4,100 0 0 0 0 4,100 0 0
A 410 0 0 0 0 410 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 410 0 0 0 0 410 0 0
LhE [LWhET 35.4 |7ER#IR 13,080 A 4,300 0 0 900 2,090 1,310 0 0| 632
itE | B 4,930 0 0 0 360 4,570 0 0
ZEE | C 3,850 0 0 0 0 3,850 0 0
[ 13080 0 0 900 2,450 9,730 0 0
A 2,840 0 0 0 1,740 1,100 0 0
HRE|B 2,510 0 0 0 360 2,150 0 0
ZEE | C 2,920 0 0 0 0 2,920 0 0
it 8,270 0 0 0 2,100 6,170 0 0
A 800 0 0 0 590 210 0 0
BRE | B 2,420 0 0 0 0 2,420 0 0
ZEE | C 930 0 0 0 0 930 0 0
it 4,150 0 0 0 590 3,560 0 0
LhE [LWhET 3.5. 122 |fEHER ATk 1,880 A 260 0 0 50 210 0 0 0| 1000
TRIR itE | B 1,620 0 0 0 120 1,500 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,880 0 0 50 330 1,500 0 0
A 260 0 0 50 210 0 0 0
HEE| B 1,620 0 0 0 120 1,500 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,880 0 0 50 330 1,500 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.5. 126 |{EHE/NERA 1,360 A 1,360 0 0 0 0 1,360 0 0] 831
JIEERR iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,360 0 0 0 0 1,360 0 0
A 1,130 0 0 0 0 1,130 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,130 0 0 0 0 1,130 0 0
A 230 0 0 0 0 230 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 230 0 0 0 0 230 0 0
WhHE L bhET 35.128 |A ZiRBIR 900 A 0 0 0 0 0 0 0 0| 444
iiE | B 800 0 0 0 0 800 0 0
EE | C 100 0 0 0 0 100 0 0
it 900 0 0 0 0 900 0 0
A 0 0 0 0 0 0 0 0
EERAE 400 0 0 0 0 400 0 0
EE | C 0 0 0 0 0 0 0 0
it 400 0 0 0 0 400 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhHE |LHET 35.129 | L{ZHEAF 1,260 A 520 0 0 0 0 520 0 0 0.0
H R iE (B 300 0 0 0 0 300 0 0
EE | C 440 0 0 0 0 440 0 0
it 1,260 0 0 0 0 1,260 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 340 0 0 0 0 340 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 330 0 0 0 0 330 0 0
it 670 0 0 0 0 670 0 0
LhE [LWhET 3.5. 130 |HEO¥RE N 1,870 A 0 0 0 0 0 0 0 0 0.0
3R #E (B 1,870 0 0 0 0 1,870 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,870 0 0 0 0 1,870 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 1,270 0 0 0 0 1,270 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,270 0 0 0 0 1,270 0 0
LhE [LWhEH 3.5. 131 |{&HE/N R fR 2,110 A 1,020 0 0 0 560 460 0 0 175
FE % #E [ B 0 0 0 0 0 0 0 0
ZEE | C 1,090 0 0 0 0 1,090 0 0
it 2,110 0 0 0 560 1,550 0 0
A 70 0 0 0 0 70 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 300 0 0 0 0 300 0 0
it 370 0 0 0 0 370 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhEH 35.132 |=RTEH &M 1,500 A 1,320 0 0 0 0 1,320 0 0| 1000
i itE | B 0 0 0 0 0 0 0 0
ZEE | C 180 0 0 0 0 180 0 0
it 1,500 0 0 0 0 1,500 0 0
A 1,320 0 0 0 0 1,320 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 180 0 0 0 0 180 0 0
it 1,500 0 0 0 0 1,500 0 0
A 430 0 0 0 0 430 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 430 0 0 0 0 430 0 0
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BiEER
i TR # . 188 | 40maKiE | 30mKiE | 22mKiF | 16mKiE | 12mKiE | 8mKiE .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
LWhE [LvbhEH 3.5.133 |AET L= 3,790 A 3,140 0 940 120 160 1,920 0 0| 1000
R iE | B 360 0 0 0 0 360 0 0
EE | C 290 0 0 0 0 290 0 0
B 3,790 0 940 120 160 2,570 0 0
A 3,140 0 940 120 160 1,920 0 0
HEF|(B 360 0 0 0 0 360 0 0
EE | C 290 0 0 0 0 290 0 0
B 3,790 0 940 120 160 2,570 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWHE L hEH 35. 134 | FIIRmA 850 A 850 0 0 0 0 850 0 0| 1000
TH#H iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 850 0 0 0 0 850 0 0
A 850 0 0 0 0 850 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 850 0 0 0 0 850 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE L HET 35.135 |=RTE#E 640 A 640 0 0 0 0 640 0 0| 1000
BTH#R iE (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 640 0 0 0 0 640 0 0
A 640 0 0 0 0 640 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 640 0 0 0 0 640 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.5. 136 [/NAERET= 670 A 670 0 0 0 0 670 0 0| 1000
iR itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 670 0 0 0 0 670 0 0
A 670 0 0 0 0 670 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 670 0 0 0 0 670 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhET 3.5. 137 | B IR R ATHR 550 A 550 0 0 0 300 250 0 0| 1000
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 550 0 0 0 300 250 0 0
A 550 0 0 0 300 250 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 300 250 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhE |LvbhEh 35.138 [—Z EiEH 620 A 620 0 0 0 0 620 0 0| 1000
i itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 620 0 0 0 0 620 0 0
A 620 0 0 0 0 620 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 620 0 0 0 0 620 0 0
A 0 0 0 0 0 0 0 0
BE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH ﬁ.
sE | wETiE | &S E2 Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE BERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< 'ﬁ%
WhHE |LbhET 3.5. 139 |NETH& 5 3,070 A 3,070 0 0 0 0 3,070 0 0] 371
R iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 3,070 0 0 0 0 3,070 0 0
A 1,140 0 0 0 0 1,140 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,140 0 0 0 0 1,140 0 0
A 1,430 0 0 0 0 1,430 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,430 0 0 0 0 1,430 0 0
WhHE |LhET 3.5. 140 | R A 1,000 A 1,000 0 0 0 0 1,000 0 0 0.0
iiE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
E 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
HwEF|(B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 530 0 0 0 0 530 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 530 0 0 0 0 530 0 0
LWHE L HET 35 141 |B BRERR 7,320 A 3,710 0 0 0 0 3,710 0 0 15.3
itE | B 1,670 0 0 0 0 1,670 0 0
EE | C 1,940 0 0 0 0 1,940 0 0
B 7,320 0 0 0 0 7,320 0 0
A 900 0 0 0 0 900 0 0
BEEAE 220 0 0 0 0 220 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,120 0 0 0 0 1,120 0 0
A 1,130 0 0 0 0 1,130 0 0
BRE | B 450 0 0 0 0 450 0 0
EE | C 340 0 0 0 0 340 0 0
it 1,920 0 0 0 0 1,920 0 0
LhE [LWhET 3.5. 142 |MRBIIGREAK 2,100 A 2,100 0 0 0 0 2,100 0 0| 1000
B itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,100 0 0 0 0 2,100 0 0
A 2,100 0 0 0 0 2,100 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 2,100 0 0 0 0 2,100 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhEH 3.5. 143 |hETHE LM 1,850 A 1,850 0 0 0 0 1,850 0 0| 492
A #E [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 1,850 0 0 0 0 1,850 0 0
A 910 0 0 0 0 910 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 910 0 0 0 0 910 0 0
A 550 0 0 0 0 550 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
LhE [LWhEH 3.5. 144 |5 13588/ 2,830 A 1,420 0 0 0 0 1,420 0 0| 816
RE#R itE | B 1,060 0 0 0 0 1,060 0 0
EE | C 350 0 0 0 0 350 0 0
B 2,830 0 0 0 0 2,830 0 0
A 920 0 0 0 0 920 0 0
HEF|(B 1,060 0 0 0 0 1,060 0 0
EE | C 330 0 0 0 0 330 0 0
H 2,310 0 0 0 0 2,310 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
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BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
LWhE [LvhEm 3.5. 145 [BRATH B 630 A 630 0 0 0 20 610 0 o[ 1000
iHiE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 630 0 0 0 20 610 0 0
A 630 0 0 0 20 610 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 630 0 0 0 20 610 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
WhHE |LbhET 3.5. 149 |MABII5HEF 3,260 A 2,550 0 0 0 0 2,550 0 0| 798
5% itE | B 710 0 0 0 0 710 0 0
ZER | C 0 0 0 0 0 0 0 0
it 3,260 0 0 0 0 3,260 0 0
A 1,890 0 0 0 0 1,890 0 0
EERAE 710 0 0 0 0 710 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,600 0 0 0 0 2,600 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhHE |LHET 35.189 | FHFREIER 1,420 A 420 0 0 0 0 420 0 0| 556
#3® itE | B 420 0 0 0 0 420 0 0
ZER | C 580 0 0 0 0 580 0 0
it 1,420 0 0 0 0 1,420 0 0
A 0 0 0 0 0 0 0 0
BEEAE 240 0 0 0 0 240 0 0
ZER | C 550 0 0 0 0 550 0 0
it 790 0 0 0 0 790 0 0
A 420 0 0 0 0 420 0 0
BRE | B 180 0 0 0 0 180 0 0
ZER | C 0 0 0 0 0 0 0 0
it 600 0 0 0 0 600 0 0
LhE [LWhET 3.5.192 [ HETSEE 540 A 540 0 0 0 0 540 0 o[ 1000
3R iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 540 0 0 0 0 540 0 0
A 540 0 0 0 0 540 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 540 0 0 0 0 540 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 35.193 | LiBEAR 1,920 A 1,190 0 0 0 0 1,190 0 0| 406
B #E (B 420 0 0 0 0 420 0 0
EE | C 310 0 0 0 0 310 0 0
it 1,920 0 0 0 0 1,920 0 0
A 780 0 0 0 0 780 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 780 0 0 0 0 780 0 0
A 290 0 0 0 0 290 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 290 0 0 0 0 290 0 0
LhE [LWhEH 35.196 |=21—4&y 650 A 0 0 0 0 0 0 0 0| 1000
VEHREF1E itE [ B 650 0 0 0 0 650 0 0
#3® EE | C 0 0 0 0 0 0 0 0
it 650 0 0 0 0 650 0 0
A 0 0 0 0 0 0 0 0
HE%| B 650 0 0 0 0 650 0 0
EE | C 0 0 0 0 0 0 0 0
it 650 0 0 0 0 650 0 0
A 0 0 0 0 0 0 0 0
BE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE L bhEH 35.197 |[=a—4&Y 300 A 0 0 0 0 0 0 0 0| 1000
VERE2 & iE | B 300 0 0 0 0 300 0 0
R ZEE | C 0 0 0 0 0 0 0 0
&t 300 0 0 0 0 300 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 300 0 0 0 0 300 0 0
EE | C 0 0 0 0 0 0 0 0
&t 300 0 0 0 0 300 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
WhHE |LbhET 35.198 [Za2—4&y 2,730 A 0 0 0 0 0 0 0 0| 1000
VESR & (B 2,730 0 0 0 0 2,730 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,730 0 0 0 0 2,730 0 0
A 0 0 0 0 0 0 0 0
EERAE 2,730 0 0 0 0 2,730 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,730 0 0 0 0 2,730 0 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWhHE |LHET 35.199 |RET T & th 480 A 480 0 0 0 0 480 0 0| 1000
#® iE (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 480 0 0 0 0 480 0 0
A 480 0 0 0 0 480 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 480 0 0 0 0 480 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LhET 3.5. 200 (55 /ETAEIL 1,060 A 0 0 0 0 0 0 0 0| 1000
#® itE | B 760 0 0 0 0 760 0 0
EE | C 300 0 0 0 0 300 0 0
it 1,060 0 0 0 0 1,060 0 0
A 0 0 0 0 0 0 0 0
HEF(B 760 0 0 0 0 760 0 0
EE | C 300 0 0 0 0 300 0 0
it 1,060 0 0 0 0 1,060 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhET 35.202 [=2—4™ 430 A 0 0 0 0 0 0 0 0| 1000
VEA1E #E [ B 430 0 0 0 0 430 0 0
#3® ER | C 0 0 0 0 0 0 0 0
it 430 0 0 0 0 430 0 0
A 0 0 0 0 0 0 0 0
HRE|B 430 0 0 0 0 430 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 430 0 0 0 0 430 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 35.206 [Za1—%™ 630 A 130 0 0 0 0 130 0 0| 1000
ERE3E itE | B 500 0 0 0 0 500 0 0
#3® EE | C 0 0 0 0 0 0 0 0
it 630 0 0 0 0 630 0 0
A 130 0 0 0 0 130 0 0
HEE| B 500 0 0 0 0 500 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 630 0 0 0 0 630 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
LWhE [LvhEm 36.5 |EE6ER 1,950 A 0 0 0 0 0 0 0 0| 1000
tE | B 980 0 0 0 0 0 980 0
EE | C 970 0 0 0 0 0 970 0
it 1,950 0 0 0 0 0 1,950 0
A 0 0 0 0 0 0 0 0
HEF|(B 980 0 0 0 0 0 980 0
EE | C 970 0 0 0 0 0 970 0
&t 1,950 0 0 0 0 0 1,950 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LWHE |LbhET 3.6.146 |/\llEZR 550 A 80 0 0 0 0 0 80 0 0.0
#® itE | B 470 0 0 0 0 0 470 0
EE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 0 550 0
A 0 0 0 0 0 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WBEE | B 380 0 0 0 0 0 380 0
EE | C 0 0 0 0 0 0 0 0
it 380 0 0 0 0 0 380 0
LWhHE |LhET 36. 147 |FEREAR 3,720 A 3,290 0 0 0 0 3,290 0 0| 960
#3® itE | B 430 0 0 0 350 80 0 0
EE | C 0 0 0 0 0 0 0 0
it 3,720 0 0 0 350 3,370 0 0
A 3,140 0 0 0 0 3,140 0 0
BERAE 430 0 0 0 350 80 0 0
EE | C 0 0 0 0 0 0 0 0
it 3,570 0 0 0 350 3,220 0 0
A 150 0 0 0 0 150 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 150 0 0 0 0 150 0 0
LhE [LWhET 3.6. 148 [k I SR ER AT 7,340 A 5,770 0 0 0 1,290 0 4,480 o| 405
#3® & (B 1,440 0 0 0 0 0 1,440 0
EE | C 130 0 0 0 0 0 130 0
it 7,340 0 0 0 1,290 0 6,050 0
A 1,810 0 0 0 1,240 0 570 0
HEF(B 1,030 0 0 0 0 0 1,030 0
ZEE | C 130 0 0 0 0 0 130 0
it 2,970 0 0 0 1,240 0 1,730 0
A 3,070 0 0 0 0 0 3,070 0
BRE | B 1,140 0 0 0 0 0 1,140 0
ZEE | C 0 0 0 0 0 0 0 0
it 4,210 0 0 0 0 0 4,210 0
LhE [LWhET 3.6. 150 |#E A KR#R 1,950 A 1,950 0 0 0 0 850 1,100 0| 928
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,950 0 0 0 0 850 1,100 0
A 1,810 0 0 0 0 850 960 0
HEE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,810 0 0 0 0 850 960 0
A 140 0 0 0 0 0 140 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 140 0 0 0 0 0 140 0
LhE [LWhET 36. 152 |ZIETFE 4,480 A 3,820 0 0 0 1,120 110 2,590 0 67.9
i itE | B 0 0 0 0 0 0 0 0
ZEE | C 660 0 0 0 510 150 0 0
Hi 4,480 0 0 0 1,630 260 2,590 0
A 2,590 0 0 0 1,120 0 1,470 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 450 0 0 0 450 0 0 0
it 3,040 0 0 0 1,570 0 1,470 0
A 1,120 0 0 0 0 0 1,120 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,120 0 0 0 0 0 1,120 0
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H20/03/31 (A&

BiEER
i TR # . 188 | 40maKiE | 30mKiE | 22mKiF | 16mKiE | 12mKiE | 8mKiE .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE L bhET 3.6. 160 |t R ETHR 90 A 0 0 0 0 0 0 0 0 0.0
iHiE | B 90 0 0 0 0 0 90 0
EE | C 0 0 0 0 0 0 0 0
&t 90 0 0 0 0 0 90 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
WhHE |LbhET 3.6. 161 |BXdL R 2,100 A 0 0 0 0 0 0 0 0 0.0
itE | B 2,100 0 0 0 0 0 2,100 0
EE | C 0 0 0 0 0 0 0 0
it 2,100 0 0 0 0 0 2,100 0
A 0 0 0 0 0 0 0 0
EEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
[ B 2,100 0 0 0 0 0 2,100 0
EE | C 0 0 0 0 0 0 0 0
it 2,100 0 0 0 0 0 2,100 0
LWhHE |LhET 3.6. 162 |Ei2H 910 A 860 0 0 0 0 0 860 0 0.0
& (B 0 0 0 0 0 0 0 0
EE | C 50 0 0 0 0 0 50 0
it 910 0 0 0 0 0 910 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 860 0 0 0 0 0 860 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 50 0 0 0 0 0 50 0
it 910 0 0 0 0 0 910 0
LhE [LWhEH 3.6. 163 [FTETF B R 1,170 A 1,170 0 0 0 540 0 630 o 462
#E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,170 0 0 0 540 0 630 0
A 540 0 0 0 540 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 540 0 0 0 540 0 0 0
A 580 0 0 0 0 0 580 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 580 0 0 0 0 0 580 0
LhE [LWhEH 3.6. 164 |ERATIR)IIEE 880 A 880 0 0 0 0 0 880 0 0.0
254 #E (B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 880 0 0 0 0 0 880 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
i 0 0 0 0 0 0 0 0
A 630 0 0 0 0 0 630 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 630 0 0 0 0 0 630 0
LhE [LWhEH 3.6. 165 |[RE 5 #R 1,400 A 1,400 0 0 0 0 0 1,400 0 10.7
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,400 0 0 0 0 0 1,400 0
A 150 0 0 0 0 0 150 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 150 0 0 0 0 0 150 0
A 1,030 0 0 0 0 0 1,030 0
BE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,030 0 0 0 0 0 1,030 0
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H20/03/31 (A&

BiEER
i TR # . 188 | 40maKiE | 30mKiE | 22mKiF | 16mKiE | 12mKiE | 8mKiE .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
WhHE |LbhET 3.6. 166 | RIGHETILE 2,050 A 2,050 0 0 0 0 310 1,740 0 1.7
R iE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,050 0 0 0 0 310 1,740 0
A 240 0 0 0 0 240 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 240 0 0 0 0 240 0 0
A 1,000 0 0 0 0 70 930 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,000 0 0 0 0 70 930 0
LWHE |LbhET 3.6. 168 |{HIEE T 57 1,460 A 950 0 0 0 0 0 950 0| 1000
#® itE | B 340 0 0 0 0 0 340 0
EE | C 170 0 0 0 0 0 170 0
g 1,460 0 0 0 0 0 1,460 0
A 950 0 0 0 0 0 950 0
HwEF|(B 340 0 0 0 0 0 340 0
EE | C 170 0 0 0 0 0 170 0
B 1,460 0 0 0 0 0 1,460 0
A 0 0 0 0 0 0 0 0
BRF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE |LhET 3.6. 169 | /= Ik KR 2,240 A 2,240 0 0 0 0 610 1,630 0| 665
i@ (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,240 0 0 0 0 610 1,630 0
A 1,490 0 0 0 0 570 920 0
BERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,490 0 0 0 0 570 920 0
A 710 0 0 0 0 0 710 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 710 0 0 0 0 0 710 0
LhE [LWhEH 3.6.170 [T DRHER 900 A 900 0 0 0 0 0 900 o 533
& (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 900 0 0 0 0 0 900 0
A 480 0 0 0 0 0 480 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 480 0 0 0 0 0 480 0
A 420 0 0 0 0 0 420 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 420 0 0 0 0 0 420 0
LhE [LWhET 36.171 |FEATER 100 A 100 0 0 0 0 0 100 0 0.0
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 100 0 0 0 0 0 100 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
A 100 0 0 0 0 0 100 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 100 0 0 0 0 0 100 0
LhE [LWhEH 36.172 | FEKER 2,100 A 1,950 0 0 0 0 0 1,950 0| 457
#® iE (B 150 0 0 0 0 0 150 0
ZEE | C 0 0 0 0 0 0 0 0
it 2,100 0 0 0 0 0 2,100 0
A 960 0 0 0 0 0 960 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 960 0 0 0 0 0 960 0
A 810 0 0 0 0 0 810 0
BRE | B 150 0 0 0 0 0 150 0
ZEE | C 0 0 0 0 0 0 0 0
it 960 0 0 0 0 0 960 0
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BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH ﬁ.
sE | wETiE | &S E2 Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE BERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< 'ﬁ%
WhHE |LbhET 36. 173 |[— 21T &iR 2,600 A 1,940 0 0 0 0 0 1,940 0 19.2
R iE | B 60 0 0 0 0 0 60 0
EE | C 600 0 0 0 0 0 600 0
B 2,600 0 0 0 0 0 2,600 0
A 500 0 0 0 0 0 500 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 500 0 0 0 0 0 500 0
A 1,440 0 0 0 0 0 1,440 0
WEE | B 60 0 0 0 0 0 60 0
EE | C 260 0 0 0 0 0 260 0
B 1,760 0 0 0 0 0 1,760 0
LWHE L hEH 36.174 /NG EMEE 18,240 A 700 0 0 0 0 700 0 0| 412
#® itE | B 6,300 0 0 0 0 1,580 4,720 0
EE [c| 11240 0 0 0 0 5,320 5,920 0
g 18,240 0 0 0 0 7,600 | 10,640 0
A 370 0 0 0 0 370 0 0
EERAE 1,800 0 0 0 0 1,580 220 0
EE | C 5,350 0 0 0 0 290 5,060 0
B 7,520 0 0 0 0 2,240 5,280 0
A 330 0 0 0 0 330 0 0
WEE | B 3,780 0 0 0 0 0 3,780 0
EE | C 5,440 0 0 0 0 5,040 400 0
B 9,550 0 0 0 0 5,370 4,180 0
WhHE |LhET 3.6. 175 |54 THT#R 230 A 230 0 0 0 0 0 230 0 0.0
i@ (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 230 0 0 0 0 0 230 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 230 0 0 0 0 0 230 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 230 0 0 0 0 0 230 0
LhE [LWhEH 37.176 |[FTEEER 920 A 0 0 0 0 0 0 0 o 804
#® itE (B 0 0 0 0 0 0 0 0
EE | C 920 0 0 0 0 0 0 920
Hi 920 0 0 0 0 0 0 920
A 0 0 0 0 0 0 0 0
HR&|B 0 0 0 0 0 0 0 0
EE | C 740 0 0 0 0 0 0 740
Hi 740 0 0 0 0 0 0 740
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
LhE [LWhET 3.7.177 |ARETT8F 860 A 340 0 0 0 0 0 0 340 | 100.0
FEl#R & (B 520 0 0 0 0 0 0 520
ZEE | C 0 0 0 0 0 0 0 0
Hi 860 0 0 0 0 0 0 860
A 340 0 0 0 0 0 0 340
HwRE|B 520 0 0 0 0 0 0 520
ZEE | C 0 0 0 0 0 0 0 0
it 860 0 0 0 0 0 0 860
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
LhE [LWhET 3.7.178 | E/BINEF 3,800 A 1,180 0 0 0 0 0 0 1,180 67.6
B itE [ B 820 0 0 0 0 0 0 820
ZEE | C 1,800 0 0 0 0 0 0 1,800
it 3,800 0 0 0 0 0 0 3,800
A 930 0 0 0 0 0 0 930
HE%E| B 140 0 0 0 0 0 0 140
ZEE | C 1,500 0 0 0 0 0 0 1,500
it 2,570 0 0 0 0 0 0 2,570
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH ﬁ.
HE | mETRE | &8 E2 G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< 'ﬁ%
£iE |REEWWH (32127 |/124—F 2,050 A 820 0 420 0 400 0 0 0 49
BRERIR itE | B 0 0 0 0 0 0 0 0
ZER | C 1,230 0 1,020 0 210 0 0 0
it 2,050 0 1,440 0 610 0 0 0
A 100 0 0 0 100 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 100 0 0 0 100 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
S |fEERT (331 |BESEE 4,800 A 0 0 0 0 0 0 0 0| 1000
itE [ B 1,550 0 140 1,410 0 0 0 0
ZER | C 3,250 0 180 3,070 0 0 0 0
it 4,800 0 320 4,480 0 0 0 0
A 0 0 0 0 0 0 0 0
EERAE 1,550 0 140 1,410 0 0 0 0
ZER | C 3,250 0 180 3,070 0 0 0 0
it 4,800 0 320 4,480 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |(KEFERW (33101 |2EELER 8,000 A 4,500 0 140 4,360 0 0 0 0| 850
itE | B 900 0 0 900 0 0 0 0
ZER | C 2,600 0 0 2,600 0 0 0 0
it 8,000 0 140 7,860 0 0 0 0
A 4,500 0 140 4,360 0 0 0 0
BERAE 900 0 0 900 0 0 0 0
ZER | C 1,400 0 0 1,400 0 0 0 0
it 6,800 0 140 6,660 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
i |fEERT (33102 |[RFENER 1,900 A 1,900 0 0 1,900 0 0 0 0| 1000
FXTH itE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,900 0 0 1,900 0 0 0 0
A 1,900 0 0 1,900 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 1,900 0 0 1,900 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i (&EERW O[33.115 |12 4—1t 2,300 A 0 0 0 0 0 0 0 0| 1000
ERERIR #E (B 0 0 0 0 0 0 0 0
ER | C 2,300 0 0 2,300 0 0 0 0
it 2,300 0 0 2,300 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 2,300 0 0 2,300 0 0 0 0
it 2,300 0 0 2,300 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
SiE | RFEEWRT (3.3 119 |BEERR 6,800 A 120 0 120 0 0 0 0 o 585
iHE (B 2,760 0 1,220 1,540 0 0 0 0
EE | C 3,920 0 0 3,920 0 0 0 0
Hi 6,800 0 1,340 5,460 0 0 0 0
A 120 0 120 0 0 0 0 0
HE%| B 2,760 0 1,220 1,540 0 0 0 0
EE | C 1,100 0 0 1,100 0 0 0 0
Hi 3,980 0 1,340 2,640 0 0 0 0
A 0 0 0 0 0 0 0 0
BRLE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
=iE  |SEBWW  |34.103 |[R2EMEARK 7,840 A 5,800 0 0 2,200 3,600 0 0 0| 564
tE | B 240 0 0 0 240 0 0 0
ZER | C 1,800 0 0 0 1,800 0 0 0
it 7,840 0 0 2,200 5,640 0 0 0
A 4,420 0 0 2,200 2,220 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 4,420 0 0 2,200 2,220 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=iE |(SEEWW (34104 |TEFAILER 2,550 A 2,550 0 0 0 2,550 0 0 0| 749
BT#% & (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,550 0 0 0 2,550 0 0 0
A 1,910 0 0 0 1,910 0 0 0
EERAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,910 0 0 0 1,910 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i (KFENRW (34105 |SHEERLER 6,450 A 4,400 0 0 1,600 2,390 410 0 0 19.8
itE [ B 720 0 0 720 0 0 0 0
ZER | C 1,330 0 0 0 0 1,330 0 0
it 6,450 0 0 2,320 2,390 1,740 0 0
A 560 0 0 380 80 100 0 0
BEEAE 720 0 0 720 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,280 0 0 1,100 80 100 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 1,200 0 0 0 0 1,200 0 0
it 1,200 0 0 0 0 1,200 0 0
=i |fEENRT (34106 |ZEHRFR 2,880 A 1,700 0 190 0 1,510 0 0 0| 1000
iE (B 1,180 0 250 0 930 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,880 0 440 0 2,440 0 0 0
A 1,700 0 190 0 1,510 0 0 0
HERF(B 1,180 0 250 0 930 0 0 0
EER | C 0 0 0 0 0 0 0 0
it 2,880 0 440 0 2,440 0 0 0
A 0 0 0 0 0 0 0 0
W% | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
i |fEENT (34107 |FERFRE 4,330 A 2,500 0 0 0 2,500 0 0 of 134
#E (B 280 0 0 0 280 0 0 0
EE | C 1,550 0 0 0 1,550 0 0 0
it 4,330 0 0 0 4,330 0 0 0
A 360 0 0 0 360 0 0 0
HE%|B 0 0 0 0 0 0 0 0
EE | C 220 0 0 0 220 0 0 0
i 580 0 0 0 580 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
&iF |fEENnT  [34.108 | ERAHE 2,200 A 1,000 0 0 0 1,000 0 0 0 0.0
JI#R iE | B 0 0 0 0 0 0 0 0
EE | C 1,200 0 0 0 1,200 0 0 0
it 2,200 0 0 0 2,200 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
=iE |SEBWW 34111 |BREBRAR 11,230 A 7,220 0 0 1,050 3,500 2,670 0 0| 479
B @ | B 1,810 0 0 0 200 1,610 0 0
ZER | C 2,200 0 0 0 1,050 1,150 0 0
B 11,230 0 0 1,050 4,750 5,430 0 0
A 3,250 0 0 0 890 2,360 0 0
HEF|(B 1,610 0 0 0 0 1,610 0 0
ZER | C 520 0 0 0 0 520 0 0
H 5,380 0 0 0 890 4,490 0 0
A 1,480 0 0 240 1,240 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,480 0 0 240 1,240 0 0 0
S |fEENRT (34 116 |PFIBERENR 2,000 A 0 0 0 0 0 0 0 of 725
iiE | B 570 0 270 300 0 0 0 0
ZER | C 1,430 0 280 900 0 250 0 0
E 2,000 0 550 1,200 0 250 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 300 0 0 300 0 0 0 0
ZER | C 1,150 0 0 900 0 250 0 0
B 1,450 0 0 1,200 0 250 0 0
A 0 0 0 0 0 0 0 0
BEE | B 270 0 270 0 0 0 0 0
ZER | C 280 0 280 0 0 0 0 0
B 550 0 550 0 0 0 0 0
S (KFEWRW (34121 |BERERE 120 A 120 0 0 0 120 0 0 0| 1000
O# i@ (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 120 0 0 0 120 0 0 0
A 120 0 0 0 120 0 0 0
BERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 120 0 0 0 120 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
o2 |SEEWT (34122 [ 1,870 A 0 0 0 0 0 0 0 0| 1000
R & (B 0 0 0 0 0 0 0 0
ZER | C 1,870 0 0 0 1,870 0 0 0
it 1,870 0 0 0 1,870 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 1,870 0 0 0 1,870 0 0 0
Hi 1,870 0 0 0 1,870 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |fEENRT (34123 |ZESHR 1,740 A 0 0 0 0 0 0 0 0| 1000
#E (B 0 0 0 0 0 0 0 0
ER | C 1,740 0 0 0 1,740 0 0 0
it 1,740 0 0 0 1,740 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 1,740 0 0 0 1,740 0 0 0
it 1,740 0 0 0 1,740 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
SiE | REEWRT (34124 |R1E 600 A 0 0 0 0 0 0 0 of 717
#® iHE (B 430 0 0 0 430 0 0 0
EE | C 170 0 0 0 170 0 0 0
it 600 0 0 0 600 0 0 0
A 0 0 0 0 0 0 0 0
HEE| B 430 0 0 0 430 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 430 0 0 0 430 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
fF (&EERTH |34.125 RS ® 1,210 A 0 0 0 0 0 0 0 0| 1000
R itE | B 1,210 0 0 0 1,210 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,210 0 0 0 1,210 0 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 1,210 0 0 0 1,210 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,210 0 0 0 1,210 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
&2 |fEEWRT (34126 |BHETEA 3,400 A 2,400 0 0 0 2,400 0 0 o 521
#® itE | B 130 0 0 0 130 0 0 0
ZER | C 870 0 0 0 0 870 0 0
g 3,400 0 0 0 2,530 870 0 0
A 770 0 0 0 770 0 0 0
EERAE 130 0 0 0 130 0 0 0
ZER | C 870 0 0 0 0 870 0 0
B 1,770 0 0 0 900 870 0 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
S |REEWT (35100 |BBES 3,130 A 3,130 0 0 0 1,300 1,830 0 o 415
#® iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 3,130 0 0 0 1,300 1,830 0 0
A 1,300 0 0 0 1,300 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,300 0 0 0 1,300 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |&EEWRW [35 110 | FRE/NE 1,000 A 1,000 0 0 0 0 1,000 0 0| 1000
1B & (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,000 0 0 0 0 1,000 0 0
A 1,000 0 0 0 0 1,000 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |&EERW [35 112 |BORN/NME 3,530 A 3,350 0 0 420 900 2,030 0 0| 887
1BiR #E [ B 0 0 0 0 0 0 0 0
EE | C 180 0 0 0 0 180 0 0
it 3,530 0 0 420 900 2,210 0 0
A 2,950 0 0 420 500 2,030 0 0
HR%E| B 0 0 0 0 0 0 0 0
EE | C 180 0 0 0 0 180 0 0
it 3,130 0 0 420 500 2,210 0 0
A 400 0 0 0 400 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 400 0 0 0 400 0 0 0
iz |fEEnd |35 113 |HILEES 1,300 A 950 0 0 0 0 950 0 0 0.0
RITHR itE | B 50 0 0 0 0 50 0 0
EE | C 300 0 0 0 0 300 0 0
it 1,300 0 0 0 0 1,300 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
SF  (&iEERTH |35 114 [#ILEAR 1,400 A 310 0 0 0 0 310 0 of 571
tE | B 220 0 0 0 0 220 0 0
ZER | C 870 0 0 0 0 870 0 0
it 1,400 0 0 0 0 1,400 0 0
A 110 0 0 0 0 110 0 0
HEF|(B 200 0 0 0 0 200 0 0
ZR | C 490 0 0 0 0 490 0 0
&t 800 0 0 0 0 800 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
S |fEERT (35 117 |B8BILEK 1,360 A 1,210 0 0 0 0 1,210 0 o[ 1000
itE [ B 150 0 0 0 0 150 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,360 0 0 0 0 1,360 0 0
A 1,210 0 0 0 0 1,210 0 0
EERAE 150 0 0 0 0 150 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,360 0 0 0 0 1,360 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |fEENT (35 118 |BFEILER 750 A 750 0 0 0 0 750 0 0| 1000
FE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 750 0 0 0 0 750 0 0
A 750 0 0 0 0 750 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 750 0 0 0 0 750 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
=i |fEEWT (35120 [BRFMERR 1,350 A 490 0 0 0 0 490 0 0| 1000
iE (B 330 0 0 0 0 330 0 0
EE | C 530 0 0 0 0 530 0 0
it 1,350 0 0 0 0 1,350 0 0
A 490 0 0 0 0 490 0 0
HEF|B 330 0 0 0 0 330 0 0
EE | C 530 0 0 0 0 530 0 0
it 1,350 0 0 0 0 1,350 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
SiE | RBEEWT (35401 |EERR 2,480 A 0 0 0 0 0 0 0 0| 1000
#E (B 2,480 0 0 0 0 2,480 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,480 0 0 0 0 2,480 0 0
A 0 0 0 0 0 0 0 0
BEEAE 2,480 0 0 0 0 2,480 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,480 0 0 0 0 2,480 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
SiE | REEWT (34,501 |FHBEI/D 2,090 A 0 0 0 0 0 0 0 0 0.0
[(=EaE:p) i itE [ B 550 0 0 0 550 0 0 0
EE | C 1,540 0 0 0 1,540 0 0 0
it 2,090 0 0 0 2,090 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
fF  (&EERTH O |34.502 [\A&®R=% 980 A 0 0 0 0 0 0 0 0 0.0
(I8 ;AT 3R ET) IR iE | B 650 0 0 0 650 0 0 0
ZER | C 330 0 0 0 330 0 0 0
B 980 0 0 0 980 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
SiE |fKEERTH (34503 |FILETY 230 A 0 0 0 0 0 0 0 0 0.0
[(=aE:p) R itE | B 150 0 0 0 150 0 0 0
ZER | C 80 0 0 0 80 0 0 0
g 230 0 0 0 230 0 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
S |REEBRE (34 116 |PIBAEE 2,190 A 0 0 0 0 0 0 0 0| 1000
(IB&ERE itE [ B 1,260 0 0 200 1,060 0 0 0
) TEE [ 930 0 0 0 680 250 0 0
B 2,190 0 0 200 1,740 250 0 0
A 0 0 0 0 0 0 0 0
HWERF(B 1,260 0 0 200 1,060 0 0 0
ER | C 930 0 0 0 680 250 0 0
B 2,190 0 0 200 1,740 250 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
2 |REEEBRT (34201 | AEERE 690 A 0 0 0 0 0 0 0 0| 1000
(EF3=% 5" sE (B 460 0 0 0 460 0 0 0
) iEE [C 230 0 0 0 230 0 0 0
it 690 0 0 0 690 0 0 0
A 0 0 0 0 0 0 0 0
HRE|B 460 0 0 0 460 0 0 0
ER | C 230 0 0 0 230 0 0 0
it 690 0 0 0 690 0 0 0
A 0 0 0 0 0 0 0 0
¥R | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B |BAm 3.3.102 |3 h 4% 5,960 A 1,640 0 1,180 460 0 0 0 of 121
E (B 690 0 0 690 0 0 0 0
ZER | C 3,630 0 0 3,630 0 0 0 0
Hi 5,960 0 1,180 4,780 0 0 0 0
A 720 0 720 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 720 0 720 0 0 0 0 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Br |B@m 3.3. 112 |ERATERER 460 A 460 0 0 460 0 0 0 0| 1000
itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 460 0 0 460 0 0 0 0
A 460 0 0 460 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 460 0 0 460 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
2/ |8fAm 3.3. 115 | A A R4 5,050 A 1,770 0 1,770 0 0 0 0 0] 261
tE | B 460 0 460 0 0 0 0 0
EE | C 2,820 0 2,820 0 0 0 0 0
it 5,050 0 5,050 0 0 0 0 0
A 860 0 860 0 0 0 0 0
HEF|(B 460 0 460 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 1,320 0 1,320 0 0 0 0 0
A 400 0 400 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 400 0 400 0 0 0 0 0
2@ |8fEm 34.101 [ AR 980 A 790 0 0 0 790 0 0 0| 1000
#3® itE (B 0 0 0 0 0 0 0 0
EE | C 190 0 0 0 190 0 0 0
it 980 0 0 0 980 0 0 0
A 790 0 0 0 790 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 190 0 0 0 190 0 0 0
it 980 0 0 0 980 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BAm 3.4.103 | Fa 4853 B 1% 4,360 A 3,560 0 0 0 3,560 0 0 0| 298
itE | B 800 0 0 0 800 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 4,360 0 0 0 4,360 0 0 0
A 800 0 0 0 800 0 0 0
BEEAE 500 0 0 0 500 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,300 0 0 0 1,300 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
I =Fok) 3.4.104 (BABR/\ &= 3,430 A 2,010 0 0 0 2,010 0 0 o[ 1000
1R itE | B 1,100 0 0 0 1,100 0 0 0
EE | C 320 0 0 0 320 0 0 0
it 3,430 0 0 0 3,430 0 0 0
A 2,010 0 0 0 2,010 0 0 0
HERF(B 1,100 0 0 0 1,100 0 0 0
ZEE | C 320 0 0 0 320 0 0 0
it 3,430 0 0 0 3,430 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Br |B@m 3.4. 105 |3AERHRE 8,610 A 2,130 0 0 0 2,130 0 0 0| 1000
#® E | B 1,250 0 0 0 1,250 0 0 0
EE | C 5,230 0 0 0 5,230 0 0 0
it 8,610 0 0 0 8,610 0 0 0
A 2,130 0 0 0 2,130 0 0 0
HER%E| B 1,250 0 0 0 1,250 0 0 0
ZEE | C 5,230 0 0 0 5,230 0 0 0
it 8,610 0 0 0 8,610 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Br |Bfam 34. 110 | EH/NEE 1,330 A 850 0 0 0 500 350 0 0 56.4
R R itE | B 0 0 0 0 0 0 0 0
ZEE | C 480 0 0 0 480 0 0 0
it 1,330 0 0 0 980 350 0 0
A 750 0 0 0 400 350 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 750 0 0 0 400 350 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
b EE i 1E8 | 40mski | 30msKki | 22m3Ki | 16m3Ki | 12mKiH | SBmakid .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
2/ |8fAm 3.4. 114 |FEESIE L 1,330 A 100 0 0 0 50 50 0 0| 1000
it itE | B 1,230 0 0 0 870 360 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,330 0 0 0 920 410 0 0
A 100 0 0 0 50 50 0 0
HEF|(B 1,230 0 0 0 870 360 0 0
ZR | C 0 0 0 0 0 0 0 0
B 1,330 0 0 0 920 410 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
2@ |8fEm 3.5.106 |BAIER Bk 2,040 A 1,540 0 0 0 560 980 0 0 9.8
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 500 0 0 0 0 500 0 0
g 2,040 0 0 0 560 1,480 0 0
A 200 0 0 0 200 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 200 0 0 0 200 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B |BAm 3.5. 107 [{EISETRI# 1,320 A 1,320 0 0 0 0 1,320 0 0 0.0
R iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,320 0 0 0 0 1,320 0 0
A 0 0 0 0 0 0 0 0
WwEF|(B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B |BAH 3.5. 108 |ABFOETHxET 2,370 A 2,370 0 0 0 0 2,370 0 0 0.0
#3® iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,370 0 0 0 0 2,370 0 0
A 0 0 0 0 0 0 0 0
HRE|B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 1,620 0 0 0 0 1,620 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 1,620 0 0 0 0 1,620 0 0
Y =P 35.109 BB 860 A 350 0 0 350 0 0 0 o 256
& (B 510 0 0 0 0 510 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 860 0 0 350 0 510 0 0
A 220 0 0 220 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 220 0 0 220 0 0 0 0
A 0 0 0 0 0 0 0 0
BakE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Br |A@m 3.5. 111 |&EBTHHET 1,730 A 1,730 0 0 0 0 1,730 0 0 0.0
® itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
Hi 1,730 0 0 0 0 1,730 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
BE  [KWRAET 3.6. 302 |EE4 5% 2,000 A 0 0 0 0 0 0 0 0| 1000
tE | B 2,000 0 0 0 0 0 2,000 0
ZER | C 0 0 0 0 0 0 0 0
it 2,000 0 0 0 0 0 2,000 0
A 0 0 0 0 0 0 0 0
HEF|(B 2,000 0 0 0 0 0 2,000 0
ZR | C 0 0 0 0 0 0 0 0
&t 2,000 0 0 0 0 0 2,000 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
BRE | RURET 3.6. 303 | RWRA A R 1,040 A 0 0 0 0 0 0 0 0 0.0
itE [ B 1,040 0 0 0 0 0 1,040 0
ZER | C 0 0 0 0 0 0 0 0
it 1,040 0 0 0 0 0 1,040 0
A 0 0 0 0 0 0 0 0
EEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 630 0 0 0 0 0 0 630
ZER | C 0 0 0 0 0 0 0 0
it 630 0 0 0 0 0 0 630
[RET |RAEET 3.4.101 |EREAFHR 350 A 350 0 0 0 350 0 0 0| 1000
(IB/RETT) iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 350 0 0 0 350 0 0 0
A 350 0 0 0 350 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 350 0 0 0 350 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
[RET |RIAEET 3.4.102 (ERATILIRER 920 A 800 0 0 0 800 0 0 0 0.0
(IB/RET) E (B 120 0 0 0 120 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 920 0 0 0 920 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
[RET |RIAEET 3.4.103 |fBET{EHIR 6,290 A 2,570 0 0 0 2,570 0 0 0| 213
(IB/RET) #® #E [ B 130 0 0 0 130 0 0 0
ZEE | C 3,590 0 0 2,080 420 1,090 0 0
it 6,290 0 0 2,080 3,120 1,090 0 0
A 920 0 0 0 920 0 0 0
HEE| B 0 0 0 0 0 0 0 0
EE | C 420 0 0 0 420 0 0 0
it 1,340 0 0 0 1,340 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 1,090 0 0 0 0 1,090 0 0
Hi 1,090 0 0 0 0 1,090 0 0
[RET |EAEET 3.4.104 |BRIK154R 6,670 A 5,700 0 0 0 5,700 0 0 0 5.2
(IR ETT) itE | B 970 0 0 0 970 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 6,670 0 0 0 6,670 0 0 0
A 350 0 0 0 350 0 0 0
HE%| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 350 0 0 0 350 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | mEAE | &S B Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WERF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
[RET (FtEET™ 3.4. 105 | RIR 4 #4R 2,280 A 1,380 0 0 0 1,230 150 0 0| 447
(IBRETT) @ | B 0 0 0 0 0 0 0 0
ZER | C 900 0 0 0 0 900 0 0
B 2,280 0 0 0 1,230 1,050 0 0
A 1,020 0 0 0 1,020 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 1,020 0 0 0 1,020 0 0 0
A 350 0 0 0 210 140 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 310 0 0 0 0 310 0 0
B 660 0 0 0 210 450 0 0
[RET |(FE4EET 3.4. 106 | B [FRIER 2,000 A 1,860 0 0 0 1,740 0 120 0| 1000
(18R ET™) iE | B 140 0 0 0 140 0 0 0
ZER | C 0 0 0 0 0 0 0 0
g 2,000 0 0 0 1,880 0 120 0
A 1,860 0 0 0 1,740 0 120 0
EERAE 140 0 0 0 140 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 2,000 0 0 0 1,880 0 120 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
[RET |REET 34.116 | FTEFdE 4,000 A 0 0 0 0 0 0 0 0 0.0
(IBJRETT) iR i@ (B 0 0 0 0 0 0 0 0
ZER | C 4,000 0 0 0 4,000 0 0 0
B 4,000 0 0 0 4,000 0 0 0
A 0 0 0 0 0 0 0 0
WwEF|(B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
[RET |RIAEET 3.5. 107 [BREILIRER 1,150 A 1,150 0 0 0 0 1,150 0 of 417
(IBJRET) iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 1,150 0 0 0 0 1,150 0 0
A 480 0 0 0 0 480 0 0
HRE|B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 480 0 0 0 0 480 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
[RET |RIAEET 3.5. 108 | SR BT 4 FH R 550 A 550 0 0 0 0 550 0 0| 1000
(IB/RET) & (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
A 550 0 0 0 0 550 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
[RET |mIAEET 35.109 [#H B DH 660 A 660 0 0 0 0 660 0 0 0.0
(18R ETT) BT #R itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 660 0 0 0 0 660 0 0
A 0 0 0 0 0 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BiEER
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
[RET (FtEET™ 3.5. 110 |RDFAIK 1,590 A 890 0 0 0 0 890 0 0 0.0
(IB[RET ) P NZE iE | B 420 0 0 0 0 420 0 0
EE | C 280 0 0 0 0 280 0 0
B 1,590 0 0 0 0 1,590 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 100 0 0 0 0 100 0 0
WEE | B 30 0 0 0 0 30 0 0
EE | C 60 0 0 0 0 60 0 0
B 190 0 0 0 0 190 0 0
[RET |(FE4EET 35. 111 |IRiK2E#K% 6,250 A 4,780 0 0 0 2,170 2,610 0 0| 365
(18R ET™) iE | B 530 0 0 0 130 400 0 0
EE | C 940 0 0 0 0 940 0 0
g 6,250 0 0 0 2,300 3,950 0 0
A 1,820 0 0 0 780 1,040 0 0
EERAE 280 0 0 0 130 150 0 0
EE | C 180 0 0 0 0 180 0 0
B 2,280 0 0 0 910 1,370 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
[RET |REET 3.5. 112 |ERATRER 3,220 A 1,630 0 0 0 1,040 590 0 0| 348
(IBJRETT) i@ (B 540 0 0 0 0 540 0 0
EE | C 1,050 0 0 0 0 1,050 0 0
B 3,220 0 0 0 1,040 2,180 0 0
A 680 0 0 0 190 490 0 0
WwEF|(B 440 0 0 0 0 440 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,120 0 0 0 190 930 0 0
A 100 0 0 0 0 100 0 0
#aE [ B 100 0 0 0 0 100 0 0
EE | C 830 0 0 0 0 830 0 0
it 1,030 0 0 0 0 1,030 0 0
[RET |RIAEET 35. 113 | L AHEHLET 4,200 A 2,580 0 0 0 0 2,580 0 0 0.0
(IBJRET) =R itE (B 0 0 0 0 0 0 0 0
EE | C 1,620 0 0 0 0 1,620 0 0
Hi 4,200 0 0 0 0 4,200 0 0
A 0 0 0 0 0 0 0 0
HRE|B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 2,580 0 0 0 0 2,580 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 1,620 0 0 0 0 1,620 0 0
it 4,200 0 0 0 0 4,200 0 0
[RET |RIAEET 35. 114 [BRESHERKR 1,350 A 880 0 0 0 0 880 0 0| 644
(IB/RET) & (B 0 0 0 0 0 0 0 0
ZEE | C 470 0 0 0 0 470 0 0
Hi 1,350 0 0 0 0 1,350 0 0
A 870 0 0 0 0 870 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 870 0 0 0 0 870 0 0
A 10 0 0 0 0 10 0 0
BakE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 10 0 0 0 0 10 0 0
[RET |mIAEET 3.5. 115 |ER AT K ETHR 400 A 400 0 0 0 0 400 0 0| 1000
(18R ETT) itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 400 0 0 0 0 400 0 0
A 400 0 0 0 0 400 0 0
HEF%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 400 0 0 0 0 400 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
EZAH|1EZAT 34.1 0L 2,870 A 1,890 0 0 0 1,890 0 0 0| 923
R iE | B 980 0 0 0 980 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 2,870 0 0 0 2,870 0 0 0
A 1,670 0 0 0 1,670 0 0 0
HEF|(B 980 0 0 0 980 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 2,650 0 0 0 2,650 0 0 0
A 220 0 0 0 220 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 220 0 0 0 220 0 0 0
EZAH|ESLAT 34.2 |JIFREAL 2,070 A 1,210 0 0 0 1,210 0 0 0| 1000
[RiR FE | B 860 0 0 0 860 0 0 0
ZER | C 0 0 0 0 0 0 0 0
g 2,070 0 0 0 2,070 0 0 0
A 1,210 0 0 0 1,210 0 0 0
EERAE 860 0 0 0 860 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 2,070 0 0 0 2,070 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
EZH|ESA™ 34.3 |tREAFEHE 2,600 A 220 0 0 0 220 0 0 o 785
itE | B 900 0 0 0 790 110 0 0
ZER | C 1,480 0 0 0 1,030 450 0 0
B 2,600 0 0 0 2,040 560 0 0
A 220 0 0 0 220 0 0 0
BERAE 790 0 0 0 790 0 0 0
ZER | C 1,030 0 0 0 1,030 0 0 0
B 2,040 0 0 0 2,040 0 0 0
A 0 0 0 0 0 0 0 0
BERE | B 110 0 0 0 0 110 0 0
ZER | C 450 0 0 0 0 450 0 0
it 560 0 0 0 0 560 0 0
EZH|BESA™ 34.4 |JRHAEVE 2,850 A 1,790 0 0 0 1,790 0 0 o 320
3R itE | B 520 0 0 0 500 20 0 0
ZER | C 540 0 0 0 0 540 0 0
it 2,850 0 0 0 2,290 560 0 0
A 912 0 0 0 912 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 912 0 0 0 912 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 20 0 0 0 0 20 0 0
ER | C 540 0 0 0 0 540 0 0
it 560 0 0 0 0 560 0 0
EZH|ESA™ 34.5 |HEDEER 3,950 A 0 0 0 0 0 0 0 0| 1000
#E [ B 1,000 0 0 0 1,000 0 0 0
ER | C 2,950 0 0 0 2,950 0 0 0
it 3,950 0 0 0 3,950 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 1,000 0 0 0 1,000 0 0 0
EE | C 2,950 0 0 0 2,950 0 0 0
it 3,950 0 0 0 3,950 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
EZH|ESA™ 34.6 [KREFLMR 3,700 A 1,920 0 0 0 1,920 0 0 of 732
itE (B 790 0 0 0 790 0 0 0
EE | C 990 0 0 0 990 0 0 0
it 3,700 0 0 0 3,700 0 0 0
A 1,920 0 0 0 1,920 0 0 0
HEF| B 790 0 0 0 790 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,710 0 0 0 2,710 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
EZAH|1EZAT 35.1 | MR 3,970 A 1,170 0 0 0 1,170 0 0 0| 426
tE | B 860 0 0 0 200 660 0 0
ZER | C 1,940 0 0 0 500 1,440 0 0
it 3,970 0 0 0 1,870 2,100 0 0
A 390 0 0 0 390 0 0 0
HEF|(B 660 0 0 0 0 660 0 0
ZER | C 640 0 0 0 0 640 0 0
&t 1,690 0 0 0 390 1,300 0 0
A 680 0 0 0 680 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 800 0 0 0 0 800 0 0
&t 1,480 0 0 0 680 800 0 0
EZAH|1ESLAT 35.2 |BMEEZA 4,920 A 3,330 0 0 0 0 3,330 0 0| 425
#3® itE | B 1,000 0 0 0 0 1,000 0 0
ZER | C 590 0 0 0 0 590 0 0
it 4,920 0 0 0 0 4,920 0 0
A 1,280 0 0 0 0 1,280 0 0
EERAE 220 0 0 0 0 220 0 0
ZER | C 590 0 0 0 0 590 0 0
it 2,090 0 0 0 0 2,090 0 0
A 2,050 0 0 0 0 2,050 0 0
BEE | B 780 0 0 0 0 780 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,830 0 0 0 0 2,830 0 0
EZH|ESA™ 35.3 |F/NEALET 2,220 A 2,220 0 0 0 270 1,950 0 o 608
#® iE (B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,220 0 0 0 270 1,950 0 0
A 1,350 0 0 0 60 1,290 0 0
BERAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,350 0 0 0 60 1,290 0 0
A 870 0 0 0 210 660 0 0
BERE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 870 0 0 0 210 660 0 0
EZH|BESA™ 35.4 |EmEEHR 5,370 A 2,550 0 0 0 130 1,740 680 o 533
itE | B 890 0 0 270 80 540 0 0
ZER | C 1,930 0 0 0 0 1,930 0 0
it 5,370 0 0 270 210 4,210 680 0
A 900 0 0 0 0 220 680 0
HERF(B 620 0 0 0 80 540 0 0
ZER | C 1,340 0 0 0 0 1,340 0 0
it 2,860 0 0 0 80 2,100 680 0
A 1,110 0 0 0 130 980 0 0
BRE | B 260 0 0 260 0 0 0 0
ER | C 590 0 0 0 0 590 0 0
it 1,960 0 0 260 130 1,570 0 0
HE |MEEW 33. 112 [ALEBIFRE 1,000 A 0 0 0 0 0 0 0 0| 1000
3R itE | B 0 0 0 0 0 0 0 0
EE | C 1,000 0 0 1,000 0 0 0 0
it 1,000 0 0 1,000 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 1,000 0 0 1,000 0 0 0 0
it 1,000 0 0 1,000 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE |MEEm 3.3. 113 [1FE 5 #4 1,770 A 0 0 0 0 0 0 0 0| 1000
iE [ B 1,370 0 0 1,370 0 0 0 0
EE | C 400 0 0 400 0 0 0 0
it 1,770 0 0 1,770 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 1,370 0 0 1,370 0 0 0 0
EE | C 400 0 0 400 0 0 0 0
it 1,770 0 0 1,770 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
HE [(HEW 33.118 |E TREY 7,040 A 0 0 0 0 0 0 0 0] 26.1
FEHR i@ | B 1,390 0 0 1,300 90 0 0 0
ZER | C 5,650 0 0 3,900 1,750 0 0 0
B 7,040 0 0 5,200 1,840 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 90 0 0 0 90 0 0 0
ZER | C 1,750 0 0 0 1,750 0 0 0
H 1,840 0 0 0 1,840 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 1,300 0 0 1,300 0 0 0 0
ZER | C 3,900 0 0 3,900 0 0 0 0
g 5,200 0 0 5,200 0 0 0 0
HE |HEEM 3.3. 119 [KehL LR 4,350 A 200 0 0 200 0 0 0 0 0.0
iiE | B 200 0 0 200 0 0 0 0
ZER | C 3,950 0 0 3,950 0 0 0 0
E 4,350 0 0 4,350 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF|B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 160 0 0 160 0 0 0 0
R | B 200 0 0 200 0 0 0 0
ZER | C 2,100 0 0 2,100 0 0 0 0
B 2,460 0 0 2,460 0 0 0 0
HE |HBEW 3.4.101 |ERATE KRR 2,450 A 1,000 0 0 0 740 260 0 0| 490
itE [ B 520 0 0 0 520 0 0 0
ZER | C 930 0 0 0 0 930 0 0
B 2,450 0 0 0 1,260 1,190 0 0
A 1,020 0 0 0 710 310 0 0
HWERF(B 180 0 0 0 180 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,200 0 0 0 890 310 0 0
A 0 0 0 0 0 0 0 0
BRE | B 320 0 0 0 320 0 0 0
ZER | C 930 0 0 0 0 930 0 0
it 1,250 0 0 0 320 930 0 0
HE |HEEW 3.4.102 |3ZDETII 5,220 A 0 0 0 0 0 0 0 0 15.1
THER iE (B 3,170 0 0 0 3,170 0 0 0
ZER | C 2,050 0 0 0 2,050 0 0 0
it 5,220 0 0 0 5,220 0 0 0
A 0 0 0 0 0 0 0 0
HR&|B 790 0 0 0 790 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 790 0 0 0 790 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
HE |HEEW 3.4. 103 |HE438 3/ 4,190 A 880 0 0 0 880 0 0 0] 821
#® & (B 2,080 0 0 0 2,080 0 0 0
ZER | C 1,230 0 0 0 1,230 0 0 0
it 4,190 0 0 0 4,190 0 0 0
A 880 0 0 0 880 0 0 0
HRE|B 2,080 0 0 0 2,080 0 0 0
ZER | C 480 0 0 0 480 0 0 0
it 3,440 0 0 0 3,440 0 0 0
A 0 0 0 0 0 0 0 0
HE [ B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE |MEEm 3.4.108 |HTETILETHR 550 A 550 0 0 0 550 0 0 o[ 1000
itE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 550 0 0 0
A 550 0 0 0 550 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 550 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () iﬁiﬁ,
HE [(HEW 3.4.110 LU AKERE 1,890 A 0 0 0 0 0 0 0 0| 249
tE | B 470 0 0 0 470 0 0 0
ZER | C 1,420 0 0 0 1,420 0 0 0
&t 1,890 0 0 0 1,890 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 470 0 0 0 470 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 470 0 0 0 470 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
HE |HBEW 34.111 |3Z/BTAH 890 A 0 0 0 0 0 0 0 0| 1000
#3® itE | B 890 0 0 0 890 0 0 0
ZER | C 0 0 0 0 0 0 0 0
g 890 0 0 0 890 0 0 0
A 0 0 0 0 0 0 0 0
HwEF|(B 890 0 0 0 890 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 890 0 0 0 890 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
HE |HEEm 3.4. 114 [FTiBHEEER 1,850 A 0 0 0 0 0 0 0 o 832
itE (B 1,850 0 0 0 1,850 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,850 0 0 0 1,850 0 0 0
A 0 0 0 0 0 0 0 0
WERF(B 1,540 0 0 0 1,540 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 1,540 0 0 0 1,540 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE |HEEW 3.4. 116 |HEAR M EF IR 2,880 A 0 0 0 0 0 0 0 0| 1000
itE | B 2,280 0 0 0 2,280 0 0 0
ZER | C 600 0 0 0 600 0 0 0
it 2,880 0 0 0 2,880 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 2,280 0 0 0 2,280 0 0 0
ZER | C 600 0 0 0 600 0 0 0
Hi 2,880 0 0 0 2,880 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE |HEEW 3.4 117 | KEERLR IR 1,140 A 0 0 0 0 0 0 0 0| 1000
#E (B 890 0 0 0 890 0 0 0
ER | C 250 0 0 0 250 0 0 0
it 1,140 0 0 0 1,140 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 890 0 0 0 890 0 0 0
EE | C 250 0 0 0 250 0 0 0
it 1,140 0 0 0 1,140 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE |MEEm 3.5. 104 |{F /BT SR:E 3,030 A 2,770 0 0 0 0 2,770 0 0 0.0
i itE | B 0 0 0 0 0 0 0 0
EE | C 260 0 0 0 0 260 0 0
it 3,030 0 0 0 0 3,030 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 1,300 0 0 0 0 1,300 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 260 0 0 0 0 260 0 0
it 1,560 0 0 0 0 1,560 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
HE |HEEm 3.5. 105 | th B AT 2,090 A 1,590 0 0 0 0 1,370 220 of 579
R iE | B 380 0 0 0 0 380 0 0
EE | C 120 0 0 0 0 120 0 0
B 2,090 0 0 0 0 1,870 220 0
A 940 0 0 0 0 720 220 0
HEF|(B 270 0 0 0 0 270 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,210 0 0 0 0 990 220 0
A 230 0 0 0 0 230 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 230 0 0 0 0 230 0 0
HE |HBEW 3.5. 106 | /MR ARETHR 2,000 A 1,490 0 0 0 300 810 380 0| 430
iiE | B 510 0 0 0 0 510 0 0
EE | C 0 0 0 0 0 0 0 0
E 2,000 0 0 0 300 1,320 380 0
A 860 0 0 0 300 180 380 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 860 0 0 0 300 180 380 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
HE |HEEW 3.5. 107 |/ RBZETHR 1,470 A 1,250 0 0 0 0 1,250 0 0| 850
itE [ B 220 0 0 0 0 220 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,470 0 0 0 0 1,470 0 0
A 1,250 0 0 0 0 1,250 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,250 0 0 0 0 1,250 0 0
A 0 0 0 0 0 0 0 0
BRE | B 220 0 0 0 0 220 0 0
EE | C 0 0 0 0 0 0 0 0
it 220 0 0 0 0 220 0 0
HE |HEEW 35.109 |BERER 1,070 A 0 0 0 0 0 0 0 0 0.0
itE | B 1,070 0 0 0 0 1,070 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,070 0 0 0 0 1,070 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
HHE  |FTHRET 33. 112 [ALEBFRE 2,810 A 0 0 0 0 0 0 0 0 59.8
#3® itE | B 0 0 0 0 0 0 0 0
ZEE | C 2,810 0 0 2,810 0 0 0 0
it 2,810 0 0 2,810 0 0 0 0
A 0 0 0 0 0 0 0 0
HER%E| B 0 0 0 0 0 0 0 0
ZEE | C 1,680 0 0 1,680 0 0 0 0
it 1,680 0 0 1,680 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE  |FTHRET 3.3. 113 [IFE 5 #4 1,120 A 0 0 0 0 0 0 0 0| 1000
itE (B 560 0 0 560 0 0 0 0
ZEE | C 560 0 0 560 0 0 0 0
Hi 1,120 0 0 1,120 0 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 560 0 0 560 0 0 0 0
ZEE | C 560 0 0 560 0 0 0 0
Hi 1,120 0 0 1,120 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0

- 139 -




12. (10)18 B 7B & (SR E )
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
HE |[FHEr 33. 118 |E TREY 2,820 A 0 0 0 0 0 0 0 0| 1000
FEHR itE | B 0 0 0 0 0 0 0 0
EE | C 2,820 0 0 2,820 0 0 0 0
it 2,820 0 0 2,820 0 0 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 2,820 0 0 2,820 0 0 0 0
&t 2,820 0 0 2,820 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
b N /N b N N 33.1 |EE4ER 7,250 A 0 0 0 0 0 0 0 0| 1000
itE [ B 3,280 0 0 3,280 0 0 0 0
EE | C 3,970 0 0 3,970 0 0 0 0
it 7,250 0 0 7,250 0 0 0 0
A 0 0 0 0 0 0 0 0
BERAE 3,280 0 0 3,280 0 0 0 0
EE | C 3,970 0 0 3,970 0 0 0 0
it 7,250 0 0 7,250 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
ZAR AT 3.4.101 |MRE LR 2,140 A 1,040 0 0 0 1,040 0 0 0| 463
itE | B 1,100 0 0 0 1,100 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,140 0 0 0 2,140 0 0 0
A 100 0 0 0 100 0 0 0
BEEAE 890 0 0 0 890 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 990 0 0 0 990 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
S N =N 7Y 3.4.102 | PR IR 950 A 290 0 0 190 100 0 0 0| 1000
itE | B 660 0 0 130 500 30 0 0
EE | C 0 0 0 0 0 0 0 0
it 950 0 0 320 600 30 0 0
A 290 0 0 190 100 0 0 0
EEANE 660 0 0 130 500 30 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 950 0 0 320 600 30 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
ZAR[ZFRTh 3.4.110 | A KIER 910 A 0 0 0 0 0 0 0 0 64.8
itE | B 910 0 0 0 860 50 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 910 0 0 0 860 50 0 0
A 0 0 0 0 0 0 0 0
HE%| B 590 0 0 0 540 50 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 590 0 0 0 540 50 0 0
A 0 0 0 0 0 0 0 0
BRE | B 320 0 0 0 320 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 320 0 0 0 320 0 0 0
TN =7 34111 ({EEHZBAER 1,560 A 1,260 0 0 0 1,260 0 0 0 0.0
iE (B 300 0 0 0 300 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,560 0 0 0 1,560 0 0 0
A 0 0 0 0 0 0 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
;N /N b N N 35.103 | AEF KR 5,100 A 2,200 0 0 0 0 0 2,200 o| 510
tE | B 1,100 0 0 0 0 300 800 0
EE | C 1,800 0 0 0 0 1,800 0 0
it 5,100 0 0 0 0 2,100 3,000 0
A 2,200 0 0 0 0 0 2,200 0
HEF|(B 400 0 0 0 0 0 400 0
EE | C 0 0 0 0 0 0 0 0
&t 2,600 0 0 0 0 0 2,600 0
A 0 0 0 0 0 0 0 0
BEE | B 700 0 0 0 0 300 400 0
EE | C 1,800 0 0 0 0 1,800 0 0
&t 2,500 0 0 0 0 2,100 400 0
b N /N b N N 35.104 | EEEFiDR 2,720 A 2,140 0 0 0 460 1,680 0 o 441
itE [ B 580 0 0 0 0 580 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,720 0 0 0 460 2,260 0 0
A 1,030 0 0 0 0 1,030 0 0
EERAE 170 0 0 0 0 170 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,200 0 0 0 0 1,200 0 0
A 730 0 0 0 460 270 0 0
[ B 410 0 0 0 0 410 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,140 0 0 0 460 680 0 0
TR ZARH 3.5. 105 |1RIGIEF % 820 A 340 0 0 0 0 340 0 0 0.0
itE [ B 480 0 0 0 0 480 0 0
EE | C 0 0 0 0 0 0 0 0
it 820 0 0 0 0 820 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
S N = N 7Y 3.5.106 | AETE =R 1,320 A 1,320 0 0 0 0 750 570 0| 902
#E (B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,320 0 0 0 0 750 570 0
A 1,190 0 0 0 0 620 570 0
BEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,190 0 0 0 0 620 570 0
A 0 0 0 0 0 0 0 0
WK | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
TR | ZAmH 35.107 [BAHBAER 1,720 A 1,100 0 0 0 0 1,100 0 0| 541
#® E | B 260 0 0 0 0 260 0 0
ZEE | C 360 0 0 0 0 360 0 0
it 1,720 0 0 0 0 1,720 0 0
A 930 0 0 0 0 930 0 0
HE%| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 930 0 0 0 0 930 0 0
A 170 0 0 0 0 170 0 0
BRE | B 260 0 0 0 0 260 0 0
ZEE | C 360 0 0 0 0 360 0 0
it 790 0 0 0 0 790 0 0
S TN 7Y 35.108 [{EF = B 1,400 A 0 0 0 0 0 0 0 o 214
iE (B 1,010 0 0 0 340 670 0 0
ZEE | C 390 0 0 0 0 390 0 0
Hi 1,400 0 0 0 340 1,060 0 0
A 0 0 0 0 0 0 0 0
HE%|B 300 0 0 0 0 300 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 300 0 0 0 0 300 0 0
A 0 0 0 0 0 0 0 0
BRE | B 710 0 0 0 340 370 0 0
ZEE | C 390 0 0 0 0 390 0 0
it 1,100 0 0 0 340 760 0 0
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BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
IR ZRH 35.109 | BRI 1,140 A 0 0 0 0 0 0 0 o 263
iHiE | B 0 0 0 0 0 0 0 0
EE | C 1,140 0 0 0 0 510 630 0
&t 1,140 0 0 0 0 510 630 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 300 0 0 0 0 300 0 0
B 300 0 0 0 0 300 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 280 0 0 0 0 140 140 0
B 280 0 0 0 0 140 140 0
;N /N b N N 3.5. 112 [{EAB AR 650 A 0 0 0 0 0 0 0 0 0.0
iiE | B 650 0 0 0 0 650 0 0
EE | C 0 0 0 0 0 0 0 0
E 650 0 0 0 0 650 0 0
A 0 0 0 0 0 0 0 0
EERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
ZAR AT 33.1 |EE4ER 5,250 A 0 0 0 0 0 0 0 0| 1000
(IB&EHD) i@ (B 0 0 0 0 0 0 0 0
EE | C 5,250 0 0 5,250 0 0 0 0
B 5,250 0 0 5,250 0 0 0 0
A 0 0 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 5,250 0 0 5,250 0 0 0 0
B 5,250 0 0 5,250 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
TR ZAH 3.4. 201 |dL [ H FHET 2,270 A 0 0 0 0 0 0 0 0 0.0
(IB&EHD) & (B 0 0 0 0 0 0 0 0
ZEE | C 2,270 0 0 0 2,270 0 0 0
it 2,270 0 0 0 2,270 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 2,270 0 0 0 2,270 0 0 0
it 2,270 0 0 0 2,270 0 0 0
S N =N 7Y 3.4.202 | REERIEM 380 A 0 0 0 0 0 0 0 0 0.0
(IB&EHD) 3R itE | B 0 0 0 0 0 0 0 0
ZEE | C 380 0 0 0 380 0 0 0
it 380 0 0 0 380 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
ZAR[ZFRh 3.5. 104 | E E DR 1,000 A 0 0 0 0 0 0 0 0| 1000
(IR%ERT) itE | B 0 0 0 0 0 0 0 0
ZEE | C 1,000 0 0 0 0 1,000 0 0
it 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
HEE| B 0 0 0 0 0 0 0 0
ZEE | C 1,000 0 0 0 0 1,000 0 0
it 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
JIHR  [JIHRET 34.1  |JIEHEERR 1,970 A 0 0 0 0 0 0 0 0 0.0
tE | B 1,970 0 0 0 1,130 840 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,970 0 0 0 1,130 840 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 550 0 0 0 550 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 550 0 0 0 550 0 0 0
& |NRET 34.6 |EFJIHE 750 A 0 0 0 0 0 0 0 0 0.0
itE [ B 750 0 0 0 750 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 750 0 0 0 750 0 0 0
A 0 0 0 0 0 0 0 0
EEEAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
JIR  JIHRET 34.7 |BBHE)IEE 2,980 A 0 0 0 0 0 0 0 0| 1000
#® itE | B 2,980 0 0 0 2,980 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,980 0 0 0 2,980 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 2,980 0 0 0 2,980 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 2,980 0 0 0 2,980 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
g (NIH4RET 34.8 |RE/EFRIKR 520 A 0 0 0 0 0 0 0 0| 538
#3® itE | B 520 0 0 0 520 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 520 0 0 0 520 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 280 0 0 0 280 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
Hi 280 0 0 0 280 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
JIHE  (NRET 35.2 |hTEIEE 550 A 0 0 0 0 0 0 0 0 0.0
#3® itE | B 550 0 0 0 0 550 0 0
EE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 550 0 0 0 0 550 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 550 0 0 0 0 550 0 0
NI (NRET 35.3 |AEA+DE 1,850 A 0 0 0 0 0 0 0 0 0.0
#® iE (B 1,850 0 0 0 0 1,850 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,850 0 0 0 0 1,850 0 0
A 0 0 0 0 0 0 0 0
HEE| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
W B 1,020 0 0 0 0 1,020 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 1,020 0 0 0 0 1,020 0 0
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BiEER
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
JIHR  [JIHRET 35.4 |BRJIEE 2,300 A 0 0 0 0 0 0 0 0| 739
% itE | B 2,300 0 0 0 0 2,300 0 0
EE | C 0 0 0 0 0 0 0 0
B 2,300 0 0 0 0 2,300 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 1,700 0 0 0 0 1,700 0 0
EE | C 0 0 0 0 0 0 0 0
B 1,700 0 0 0 0 1,700 0 0
A 0 0 0 0 0 0 0 0
WEE | B 600 0 0 0 0 600 0 0
EE | C 0 0 0 0 0 0 0 0
g 600 0 0 0 0 600 0 0
JIHR  |JIHRET 35.5 |JIlimErRET 1,270 A 0 0 0 0 0 0 0 0 0.0
#® @ | B 1,270 0 0 0 0 1,270 0 0
EE | C 0 0 0 0 0 0 0 0
E 1,270 0 0 0 0 1,270 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
g 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 580 0 0 0 0 580 0 0
EE | C 0 0 0 0 0 0 0 0
B 580 0 0 0 0 580 0 0
xE |KEH 33.10 |EE4S4H 6,420 A 1,290 0 0 1,290 0 0 0 o[ 1000
#iE | B 3,390 0 0 3,390 0 0 0 0
EE | C 1,740 0 0 1,740 0 0 0 0
B 6,420 0 0 6,420 0 0 0 0
A 1,290 0 0 1,290 0 0 0 0
BERAE 3,390 0 0 3,390 0 0 0 0
EE | C 1,740 0 0 1,740 0 0 0 0
B 6,420 0 0 6,420 0 0 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
AXE |XK=H 33. 11 | ERR 1,220 A 0 0 0 0 0 0 0 0 0.0
itE | B 1,220 0 0 1,220 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,220 0 0 1,220 0 0 0 0
A 0 0 0 0 0 0 0 0
HER&|B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 1,220 0 0 1,220 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,220 0 0 1,220 0 0 0 0
ENES 34.2 |XE{EHE 150 A 150 0 0 0 150 0 0 o 400
R &R & (B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 150 0 0 0 150 0 0 0
A 60 0 0 0 60 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 60 0 0 0 60 0 0 0
A 90 0 0 0 90 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 90 0 0 0 90 0 0 0
XE |AEM 34.6 |FHEERK 790 A 790 0 0 0 790 0 0 0 0.0
itE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 790 0 0 0 790 0 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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Wia |HWEET 1.2 [HEREZIR 4,500 A 0 0 0 0 0 0 0 o 387
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 4,500 0 0 0 0 0 4,500 0
B 4,500 0 0 0 0 0 4,500 0
A 0 0 0 0 0 0 0 0
EERAE 0 0 0 0 0 0 0 0
ZER | C 1,740 0 0 0 0 0 1,740 0
B 1,740 0 0 0 0 0 1,740 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 2,760 0 0 0 0 0 2,760 0
it 2,760 0 0 0 0 0 2,760 0
Wa  |WEET 23.1 |ETEZRR 3,500 A 0 0 0 0 0 0 0 of 977
i@ (B 2,330 0 0 0 0 0 2,330 0
ZER | C 1,170 0 0 0 0 0 1,170 0
it 3,500 0 0 0 0 0 3,500 0
A 0 0 0 0 0 0 0 0
BERAE 2,330 0 0 0 0 0 2,330 0
ZER | C 1,090 0 0 0 0 0 1,090 0
it 3,420 0 0 0 0 0 3,420 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
1= = AT 1.1 [#KRETRIA 1,650 A 0 0 0 0 0 0 0 0| 406
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 1,650 0 0 0 0 0 1,650 0
it 1,650 0 0 0 0 0 1,650 0
A 0 0 0 0 0 0 0 0
HERX|B 0 0 0 0 0 0 0 0
ZER | C 670 0 0 0 0 0 670 0
B 670 0 0 0 0 0 670 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 980 0 0 0 0 0 0 980
B 980 0 0 0 0 0 0 980
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BimE
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH ﬁ.
sE | wETiE | &S E2 Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE BERF
K4 * Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () ﬁ%
=) b=t 1.2 |RETHIETHR 350 A 0 0 0 0 0 0 0 o| 686
iHiE | B 0 0 0 0 0 0 0 0
ZER | C 350 0 0 0 0 0 350 0
B 350 0 0 0 0 0 350 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 240 0 0 0 0 0 240 0
B 240 0 0 0 0 0 240 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 110 0 0 0 0 0 0 110
B 110 0 0 0 0 0 0 110
= 1EET I1.1 [BEEEE 190 A 0 0 0 0 0 0 0 0| 1000
iiE | B 0 0 0 0 0 0 0 0
ZER | C 190 0 0 0 190 0 0 0
E 190 0 0 0 190 0 0 0
A 0 0 0 0 0 0 0 0
EERAE 0 0 0 0 0 0 0 0
ZER | C 190 0 0 0 190 0 0 0
B 190 0 0 0 190 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
5 1EET 0131 [Edfi 1,550 A 0 0 0 0 0 0 0 0| 1000
E | B 0 0 0 0 0 0 0 0
ZER | C 1,550 0 0 0 0 0 1,550 0
B 1,550 0 0 0 0 0 1,550 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 1,550 0 0 0 0 0 1,550 0
B 1,550 0 0 0 0 0 1,550 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Bl |"IIET 1. 2 |34 EALET 2,300 A 0 0 0 0 0 0 0 0 0.0
3R itE | B 0 0 0 0 0 0 0 0
ZER | C 2,300 0 0 0 0 0 1,870 430
it 2,300 0 0 0 0 0 1,870 430
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
ER | C 1,180 0 0 0 0 0 1,180 0
it 1,180 0 0 0 0 0 1,180 0
Bl |"IIE 1. 3 |BRATSIA 200 A 0 0 0 0 0 0 0 0 0.0
#3® itE | B 0 0 0 0 0 0 0 0
EE | C 200 0 0 0 0 0 200 0
it 200 0 0 0 0 0 200 0
A 0 0 0 0 0 0 0 0
HR%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
BNl |"IIE 1N 4 | EREEELR 2,500 A 0 0 0 0 0 0 0 0| 992
itE | B 0 0 0 0 0 0 0 0
EE | C 2,500 0 0 0 0 0 2,500 0
it 2,500 0 0 0 0 0 2,500 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 2,480 0 0 0 0 0 2,480 0
it 2,480 0 0 0 0 0 2,480 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 20 0 0 0 0 0 20 0
it 20 0 0 0 0 0 20 0
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BiEER
#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Al |RIET 1/ 5 |Be/RmalT 150 A 0 0 0 0 0 0 0 0 0.0
R iE | B 0 0 0 0 0 0 0 0
EE | C 150 0 0 0 0 0 0 150
B 150 0 0 0 0 0 0 150
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
Al |"ANIET 1N 6 [FETRAKZ 1,600 A 0 0 0 0 0 0 0 0| 1000
#3® itE | B 0 0 0 0 0 0 0 0
EE | C 1,600 0 0 0 0 0 1,600 0
g 1,600 0 0 0 0 0 1,600 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
EE | C 1,600 0 0 0 0 0 1,600 0
B 1,600 0 0 0 0 0 1,600 0
A 0 0 0 0 0 0 0 0
R | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
|l |"ANIET 1N 7 |[SHAETHR 150 A 0 0 0 0 0 0 0 0 0.0
i@ (B 0 0 0 0 0 0 0 0
EE | C 150 0 0 0 0 0 150 0
B 150 0 0 0 0 0 150 0
A 0 0 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BERE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
|l |AIET 1. 8 [FETAE 12 950 A 0 0 0 0 0 0 0 0| 1000
& (B 0 0 0 0 0 0 0 0
ZEE | C 950 0 0 0 0 0 950 0
it 950 0 0 0 0 0 950 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 950 0 0 0 0 0 950 0
it 950 0 0 0 0 0 950 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZEE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
|l |AIET 23.1 | FTREHA 1,750 A 0 0 0 0 0 0 0 0 82.3
#3® itE | B 0 0 0 0 0 0 0 0
ZEE | C 1,750 0 0 0 0 0 1,750 0
it 1,750 0 0 0 0 0 1,750 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZEE | C 1,440 0 0 0 0 0 1,440 0
it 1,440 0 0 0 0 0 1,440 0
A 0 0 0 0 0 0 0 0
BkE [ B 0 0 0 0 0 0 0 0
ZEE | C 310 0 0 0 0 0 310 0
it 310 0 0 0 0 0 310 0
|l |"IIE 23.2  |BIHRETER 1,450 A 0 0 0 0 0 0 0 of 414
itE | B 0 0 0 0 0 0 0 0
ZEE | C 1,450 0 0 0 0 0 1,450 0
it 1,450 0 0 0 0 0 1,450 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
ZEE | C 600 0 0 0 0 0 600 0
it 600 0 0 0 0 0 600 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
ZEE | C 850 0 0 0 0 0 850 0
it 850 0 0 0 0 0 850 0
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BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
Al |RIET 2.2 |SHBARE 300 A 0 0 0 0 0 0 0 0 0.0
R iE | B 0 0 0 0 0 0 0 0
ZER | C 300 0 0 0 0 0 0 300
B 300 0 0 0 0 0 0 300
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 290 0 0 0 0 0 0 290
B 290 0 0 0 0 0 0 290
Al |BANIET 2.3 |HREIBKRE 1,000 A 0 0 0 0 0 0 0 0| 840
#® itE | B 0 0 0 0 0 0 0 0
ZER | C 1,000 0 0 0 0 0 160 840
&t 1,000 0 0 0 0 0 160 840
A 0 0 0 0 0 0 0 0
HERF|B 0 0 0 0 0 0 0 0
ZER | C 840 0 0 0 0 0 0 840
B 840 0 0 0 0 0 0 840
A 0 0 0 0 0 0 0 0
| B 0 0 0 0 0 0 0 0
ZER | C 160 0 0 0 0 0 160 0
B 160 0 0 0 0 0 160 0
ETITI ESIE S 3.3.230 |lEEE AR 1,900 A 0 0 0 0 0 0 0 0 0.0
i@ (B 1,900 0 0 1,900 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,900 0 0 1,900 0 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
|l [ENIET 1N 1 | RETFRTHR 1,650 A 0 0 0 0 0 0 0 o 848
iE (B 0 0 0 0 0 0 0 0
ZER | C 1,650 0 0 0 0 0 1,650 0
it 1,650 0 0 0 0 0 1,650 0
A 0 0 0 0 0 0 0 0
HwRE|B 0 0 0 0 0 0 0 0
ZER | C 1,400 0 0 0 0 0 1,400 0
it 1,400 0 0 0 0 0 1,400 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B [E)E 1N 2 | KEAEER 820 A 0 0 0 0 0 0 0 o 610
DR iE (B 0 0 0 0 0 0 0 0
ZER | C 820 0 0 0 0 0 820 0
Hi 820 0 0 0 0 0 820 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 500 0 0 0 0 0 500 0
it 500 0 0 0 0 0 500 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
ER | C 320 0 0 0 0 0 0 320
it 320 0 0 0 0 0 0 320
| [E)IET 10 3 [FEETHILER 300 A 0 0 0 0 0 0 0 0| 433
itE | B 0 0 0 0 0 0 0 0
ER | C 300 0 0 0 0 0 300 0
it 300 0 0 0 0 0 300 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 130 0 0 0 0 0 130 0
it 130 0 0 0 0 0 130 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 170 0 0 0 0 0 0 170
it 170 0 0 0 0 0 0 170
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#hi EEE iy _ M8 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKih | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B [/NEFET 3.5. 104 | 1R /NEF IR 2,350 A 0 0 0 0 0 0 0 0| 1000
WA itE | B 0 0 0 0 0 0 0 0
ZER | C 2,350 0 0 0 0 320 2,030 0
B 2,350 0 0 0 0 320 2,030 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 2,350 0 0 0 0 320 2,030 0
B 2,350 0 0 0 0 320 2,030 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
BA |/NEFET 35.106 [/IVAEREE 1,300 A 0 0 0 0 0 0 0 0 0.0
AR ER itE | B 0 0 0 0 0 0 0 0
ZER | C 1,300 0 0 0 0 0 1,300 0
g 1,300 0 0 0 0 0 1,300 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A [/NEFET 3.6. 101 [SE/NEF AT 660 A 0 0 0 0 0 0 0 0 0.0
W #® iE (B 0 0 0 0 0 0 0 0
ZER | C 660 0 0 0 0 0 660 0
B 660 0 0 0 0 0 660 0
A 0 0 0 0 0 0 0 0
BERAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B4 |/NEFET 3.6. 103 |d@F /K 1,800 A 0 0 0 0 0 0 0 0 0.0
AR #3® iE (B 0 0 0 0 0 0 0 0
ZER | C 1,800 0 0 0 0 0 1,800 0
Hi 1,800 0 0 0 0 0 1,800 0
A 0 0 0 0 0 0 0 0
HRE|B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
BA |/NEFET 3.6. 105 |EE/NEFFHT 800 A 0 0 0 0 0 0 0 0 8.3
ER BT#R iE [ B 0 0 0 0 0 0 0 0
ZER | C 800 0 0 0 0 0 800 0
Hi 800 0 0 0 0 0 800 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 66 0 0 0 0 0 66 0
it 66 0 0 0 0 0 66 0
A 0 0 0 0 0 0 0 0
HkE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
Hf  |[EFH 36.201 [—/1FkEO 1,240 A 0 0 0 0 0 0 0 0 0.0
RED  [(IBEIRED) i itE | B 0 0 0 0 0 0 0 0
EE | C 1,240 0 0 0 0 0 1,240 0
it 1,240 0 0 0 0 0 1,240 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B (AT 3.6. 202 |#{RERATHR 170 A 0 0 0 0 0 0 0 0 0.0
RER  |(IREARED itE | B 0 0 0 0 0 0 0 0
ZER | C 170 0 0 0 0 0 170 0
B 170 0 0 0 0 0 170 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
BE (BN 1M1 | EFIEE 130 A 0 0 0 0 0 0 0 o[ 1000
(IBEZEHD) #® itE | B 0 0 0 0 0 0 0 0
ZER | C 130 0 0 0 0 0 130 0
g 130 0 0 0 0 0 130 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 130 0 0 0 0 0 130 0
B 130 0 0 0 0 0 130 0
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
BE |BMH 1N 2 [BEMER 50 A 0 0 0 0 0 0 0 0| 1000
(IBEZEHT) #® itE | B 0 0 0 0 0 0 0 0
ZER | C 50 0 0 0 0 0 50 0
B 50 0 0 0 0 0 50 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 50 0 0 0 0 0 50 0
B 50 0 0 0 0 0 50 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
BE (A& 1.3 [RETARL#R 680 A 0 0 0 0 0 0 0 0| 1000
(IBE3EHD) iE (B 0 0 0 0 0 0 0 0
ZER | C 680 0 0 0 0 0 680 0
it 680 0 0 0 0 0 680 0
A 0 0 0 0 0 0 0 0
HR&|B 0 0 0 0 0 0 0 0
ER | C 680 0 0 0 0 0 680 0
it 680 0 0 0 0 0 680 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
HE (BM&TH 23.1  |ERILAZER 1,000 A 0 0 0 0 0 0 0 0| 1000
(IBE3EHT) & (B 0 0 0 0 0 0 0 0
ZER | C 1,000 0 0 0 0 1,000 0 0
it 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 1,000 0 0 0 0 1,000 0 0
it 1,000 0 0 0 0 1,000 0 0
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
HE (BM&TH 21 | RETHARE 60 A 0 0 0 0 0 0 0 0| 1000
(IBEZEHRT) itE | B 0 0 0 0 0 0 0 0
EE | C 60 0 0 0 0 0 0 60
it 60 0 0 0 0 0 0 60
A 0 0 0 0 0 0 0 0
HEF%E| B 0 0 0 0 0 0 0
EE | C 60 0 0 0 0 0 0 60
it 60 0 0 0 0 0 0 60
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
BE |BfH 2.\ 2 | EET#R 110 A 0 0 0 0 0 0 0 o[ 1000
(IBE ) iE | B 0 0 0 0 0 0 0 0
ZER | C 110 0 0 0 0 0 0 110
B 110 0 0 0 0 0 0 110
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZER | C 110 0 0 0 0 0 0 110
B 110 0 0 0 0 0 0 110
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
BE (BN 2.3 | RFRNIER 660 A 0 0 0 0 0 0 0 o[ 1000
(IB&E 38D 5@ | B 0 0 0 0 0 0 0 0
ZER | C 660 0 0 0 0 0 0 660
g 660 0 0 0 0 0 0 660
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 660 0 0 0 0 0 0 660
B 660 0 0 0 0 0 0 660
A 0 0 0 0 0 0 0 0
R B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
sl (BT 34.5 |Ei&E349 2,000 A 0 0 0 0 0 0 0 0| 1000
[(=E=E] L) SR itE (B 1,460 0 0 0 1,460 0 0 0
ZER | C 540 0 0 0 540 0 0 0
B 2,000 0 0 0 2,000 0 0 0
A 0 0 0 0 0 0 0 0
HWERF(B 1,460 0 0 0 1,460 0 0 0
ER | C 540 0 0 0 540 0 0 0
B 2,000 0 0 0 2,000 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
sl |EFTH 34.6 |MABIEERH 1,020 A 0 0 0 0 0 0 0 0| 1000
((=EEE L) iR iE (B 1,020 0 0 0 1,020 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,020 0 0 0 1,020 0 0 0
A 0 0 0 0 0 0 0 0
HEF(B 1,020 0 0 0 1,020 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 1,020 0 0 0 1,020 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
fasl  |ENTH 34.7 |REINBEYS 470 A 0 0 0 0 0 0 0 0| 1000
[(=E=E]L:p) 1E#R itE | B 470 0 0 0 470 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 470 0 0 0 470 0 0 0
A 0 0 0 0 0 0 0 0
HER%E| B 470 0 0 0 470 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 470 0 0 0 470 0 0 0
A 0 0 0 0 0 0 0 0
HaE [ B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
fasl BT 34.8 |MABIERATR 1,010 A 0 0 0 0 0 0 0 0| 1000
[(=E=E]L:p) RERHR itE [ B 1,010 0 0 0 1,010 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,010 0 0 0 1,010 0 0 0
A 0 0 0 0 0 0 0 0
HEF|B 1,010 0 0 0 1,010 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 1,010 0 0 0 1,010 0 0 0
A 0 0 0 0 0 0 0 0
K| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH ﬁ.
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
sl |BMTH 35.2 |MAB5IERATAL 420 A 0 0 0 0 0 0 0 0| 1000
(IBfa5IET) BT @R iE | B 420 0 0 0 0 420 0 0
ZER | C 0 0 0 0 0 0 0 0
B 420 0 0 0 0 420 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 420 0 0 0 0 420 0 0
ZER | C 0 0 0 0 0 0 0 0
B 420 0 0 0 0 420 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
fasl  |EAH 35.4 [MABIERATK 850 A 0 0 0 0 0 0 0 0 0.0
((=EE L) AR @ | B 850 0 0 0 0 850 0 0
ZER | C 0 0 0 0 0 0 0 0
g 850 0 0 0 0 850 0 0
A 0 0 0 0 0 0 0 0
HERF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRF| B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
sl [EFTH 35.9 |AEE 920 A 0 0 0 0 0 0 0 0| 1000
((=EEE L) i@ (B 640 0 0 0 0 640 0 0
ZER | C 280 0 0 0 0 280 0 0
B 920 0 0 0 0 920 0 0
A 0 0 0 0 0 0 0 0
BERAE 640 0 0 0 0 640 0 0
ZER | C 280 0 0 0 0 280 0 0
B 920 0 0 0 0 920 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
sl |EFTH 35.10 |AIF154R 490 A 0 0 0 0 0 0 0 0| 1000
((=EEEL L) & (B 220 0 0 0 0 220 0 0
ZER | C 270 0 0 0 0 270 0 0
it 490 0 0 0 0 490 0 0
A 0 0 0 0 0 0 0 0
HEF(B 220 0 0 0 0 220 0 0
ZER | C 270 0 0 0 0 270 0 0
Hi 490 0 0 0 0 490 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
fasl  |EFTH 36.1 |Ei&288 2,040 A 0 0 0 0 0 0 0 0 13.7
((=EEE L) B & (B 1,930 0 0 0 0 0 1,930 0
ZER | C 110 0 0 0 0 0 110 0
it 2,040 0 0 0 0 0 2,040 0
A 0 0 0 0 0 0 0 0
HRE|B 280 0 0 0 0 0 280 0
ER | C 0 0 0 0 0 0 0 0
it 280 0 0 0 0 0 280 0
A 0 0 0 0 0 0 0 0
BRE | B 1,490 0 0 0 0 0 1,490 0
ER | C 110 0 0 0 0 0 110 0
it 1,600 0 0 0 0 0 1,600 0
M5l |EFH 36.3 |MBIEHEI 510 A 0 0 0 0 0 0 0 0 0.0
[(=E=E] L) R itE | B 510 0 0 0 0 0 510 0
EE | C 0 0 0 0 0 0 0 0
it 510 0 0 0 0 0 510 0
A 0 0 0 0 0 0 0 0
HEF%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 510 0 0 0 0 0 510 0
EE | C 0 0 0 0 0 0 0 0
it 510 0 0 0 0 0 510 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH .
HE | WEHE | BS | A% G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BEF
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
B |=[EAT 3.4.101 | DIRIEHR 1,660 A 0 0 0 0 0 0 0 o 253
tE | B 1,080 0 0 0 760 320 0 0
ZER | C 580 0 0 0 400 180 0 0
B 1,660 0 0 0 1,160 500 0 0
A 0 0 0 0 0 0 0 0
HEF(B 420 0 0 0 420 0 0 0
ZR | C 0 0 0 0 0 0 0 0
B 420 0 0 0 420 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
B |=[EET 3.4.102 (BRATFI O R 1,800 A 0 0 0 0 0 0 0 of 378
iiE | B 1,800 0 0 0 1,800 0 0 0
ZER | C 0 0 0 0 0 0 0 0
g 1,800 0 0 0 1,800 0 0 0
A 0 0 0 0 0 0 0 0
HwEF|(B 680 0 0 0 680 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 680 0 0 0 680 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
EfE |=[EE 3.5. 103 |7/ ZRERAT 240 A 0 0 0 0 0 0 0 0| 1000
R itE | B 240 0 0 0 0 240 0 0
ZER | C 0 0 0 0 0 0 0 0
B 240 0 0 0 0 240 0 0
A 0 0 0 0 0 0 0 0
BERAE 240 0 0 0 0 240 0 0
ZER | C 0 0 0 0 0 0 0 0
B 240 0 0 0 0 240 0 0
A 0 0 0 0 0 0 0 0
B | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
B EEL) 35.104 [/[VEF O 1,410 A 0 0 0 0 0 0 0 o 383
iE (B 1,380 0 0 0 0 1,380 0 0
ZER | C 30 0 0 0 0 30 0 0
it 1,410 0 0 0 0 1,410 0 0
A 0 0 0 0 0 0 0 0
HEF|B 540 0 0 0 0 540 0 0
ZER | C 0 0 0 0 0 0 0 0
it 540 0 0 0 0 540 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
B EEL) 35.105 [EE6S# 5,900 A 0 0 0 0 0 0 0 0 0.0
iE [ B 1,000 0 0 0 800 200 0 0
ER | C 4,900 0 0 0 0 4,900 0 0
it 5,900 0 0 0 800 5,100 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 1,000 0 0 0 800 200 0 0
EE | C 4,900 0 0 0 0 4,900 0 0
it 5,900 0 0 0 800 5,100 0 0
=M |=EET 3.5. 106 | AHTR R 3,920 A 0 0 0 0 0 0 0 o 133
iHE [ B 2,470 0 0 0 0 2,470 0 0
EE | C 1,450 0 0 0 0 1,450 0 0
it 3,920 0 0 0 0 3,920 0 0
A 0 0 0 0 0 0 0 0
HEF| B 520 0 0 0 0 520 0 0
EE | C 0 0 0 0 0 0 0 0
it 520 0 0 0 0 520 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
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H20/03/31 (A&

BimE
i EEE Hh . 188 [ 40mRiE | 30mKiE | 22mKRi | 16mK i [ 12mKiF | 8mKiH ﬁ.
HE | mETRE | &8 E2 G | BA || & [40mbll | 30mBlE | 22milE | 16mBLE | 12mELE | 8mblE BERF
K4 * Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () ﬁ%
WE | WEEAT 23.2 |ERATATELR 1,050 A 0 0 0 0 0 0 0 0| 1000
tE | B 1,050 0 0 0 0 1,050 0 0
ZER | C 0 0 0 0 0 0 0 0
it 1,050 0 0 0 0 1,050 0 0
A 0 0 0 0 0 0 0 0
HEF|(B 1,050 0 0 0 0 1,050 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 1,050 0 0 0 0 1,050 0 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
JRIT [iRSIET 34.1 |ERATBEER 930 A 0 0 0 0 0 0 0 0| 1000
iiE | B 630 0 0 0 630 0 0 0
ZER | C 300 0 0 0 300 0 0 0
it 930 0 0 0 930 0 0 0
A 0 0 0 0 0 0 0 0
EERAE 630 0 0 0 630 0 0 0
ZER | C 300 0 0 0 300 0 0 0
it 930 0 0 0 930 0 0 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
SR [iRSIET 34.5 |RER 2,030 A 0 0 0 0 0 0 0 0 0.0
itE [ B 2,030 0 0 0 0 2,030 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,030 0 0 0 0 2,030 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 2,030 0 0 0 0 2,030 0 0
ZER | C 0 0 0 0 0 0 0 0
it 2,030 0 0 0 0 2,030 0 0
SRIT [SRSTHT 34.7 |ER#HME 5,780 A 0 0 0 0 0 0 0 0 0.0
#3® & (B 5,780 0 0 610 5,170 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 5,780 0 0 610 5,170 0 0 0
A 0 0 0 0 0 0 0 0
BEEAE 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
[ B 5,780 0 0 610 5,170 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 5,780 0 0 610 5,170 0 0 0
JRIT [JRSIET 35.2 |HEEEBRR 2,760 A 0 0 0 0 0 0 0 o 797
iE [ B 1,460 0 0 0 0 1,460 0 0
ER | C 1,300 0 0 0 0 1,300 0 0
Hi 2,760 0 0 0 0 2,760 0 0
A 0 0 0 0 0 0 0 0
BEEAE 1,020 0 0 0 0 1,020 0 0
ER | C 1,180 0 0 0 0 1,180 0 0
it 2,200 0 0 0 0 2,200 0 0
A 0 0 0 0 0 0 0 0
BAE| B 270 0 0 0 0 0 270 0
EE | C 0 0 0 0 0 0 0 0
it 270 0 0 0 0 0 270 0
SRIT [SRSTHET 35.3 [ERATLEIIER 680 A 0 0 0 0 0 0 0 0 0.0
#® iE [ B 680 0 0 0 0 680 0 0
EE | C 0 0 0 0 0 0 0 0
it 680 0 0 0 0 680 0 0
A 0 0 0 0 0 0 0 0
HE%E| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BAE| B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
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BimE
#hr EEE i i 1B8 | 40maRiE | 30mRiE | 22K | 16mR | 12mKiE [ 8mAKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBlE | BmELE WRE
K4 m Al Gam) | dam) | Gam) | Gam) | Gm) | Gam) | () >/< Eﬂ%
JRIT |CRIIET 35.4 |HRIIRIEE 950 A 0 0 0 0 0 0 0 0 0.0
TR itE | B 950 0 0 0 0 950 0 0
ZER | C 0 0 0 0 0 0 0 0
&t 950 0 0 0 0 950 0 0
A 0 0 0 0 0 0 0 0
HEF| B 0 0 0 0 0 0 0 0
ZR | C 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0
A 0 0 0 0 0 0 0 0
BEE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
SR [IRSIET 36.6 [|RIIZHI5 1,360 A 0 0 0 0 0 0 0 0| 1000
#® itE | B 1,360 0 0 0 0 0 1,360 0
ZER | C 0 0 0 0 0 0 0 0
it 1,360 0 0 0 0 0 1,360 0
A 0 0 0 0 0 0 0 0
EERAE 1,360 0 0 0 0 0 1,360 0
ZER | C 0 0 0 0 0 0 0 0
it 1,360 0 0 0 0 0 1,360 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
BS |mEET 3.3.106 [dLEM B A 700 A 0 0 0 0 0 0 0 o 343
(IBEE SHET) #® itE | B 450 0 0 350 0 0 100 0
ZER | C 250 0 0 0 0 0 250 0
it 700 0 0 350 0 0 350 0
A 0 0 0 0 0 0 0 0
BEEAE 240 0 0 240 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 240 0 0 240 0 0 0 0
A 0 0 0 0 0 0 0 0
BRE | B 0 0 0 0 0 0 0 0
ZER | C 0 0 0 0 0 0 0 0
it 0 0 0 0 0 0 0 0
BS |mEET 34.102 | EEZERFH 2,340 A 0 0 0 0 0 0 0 o 692
((=AT:0) E (B 2,340 0 0 0 2,340 0 0 0
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12. (IERRER (RE#HR)

H20/03/31 (A&

BiEER
#hi EEE iy _ 18 | 40m3RifE | 30m3Kifh | 22m3Kifh | 16mKifh | 12mKifh | 8mKiH .
HE | WERE | B | &% Gy | B |E| & | 40mblk|30mblE | 22mBlE | 16mbLE | 12mBLE | BmELE WRE
R4 Hm G| Gam) | am) | ) | GIm) | @m) | Gm) | Gam) >/< Eﬂ%
WhHE |LbhEH 76.9 |F/HBME 550 A 0 0 0 0 0 0 0 0| 1000
R iE | B 550 0 0 0 0 0 550 0
EE | C 0 0 0 0 0 0 0 0
B 550 0 0 0 0 0 550 0
A 0 0 0 0 0 0 0 0
HEF|(B 550 0 0 0 0 0 550 0
EE | C 0 0 0 0 0 0 0 0
B 550 0 0 0 0 0 550 0
A 0 0 0 0 0 0 0 0
WEE | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE L hET 7.6.10 |T&HhE/ 1,340 A 840 0 0 0 0 0 840 0| 1000
H R iE | B 500 0 0 0 0 0 500 0
EE | C 0 0 0 0 0 0 0 0
E 1,340 0 0 0 0 0 1,340 0
A 840 0 0 0 0 0 840 0
EERAE 500 0 0 0 0 0 500 0
EE | C 0 0 0 0 0 0 0 0
B 1,340 0 0 0 0 0 1,340 0
A 0 0 0 0 0 0 0 0
BRF | B 0 0 0 0 0 0 0 0
EE | C 0 0 0 0 0 0 0 0
B 0 0 0 0 0 0 0 0
LWhHE |LhET 7.6.13 |EET1548 170 A 170 0 0 0 0 0 170 0 0.0
iE (B 0 0 0 0 0 0 0 